Average Unit Price Report JAN/01/02 to DEC/31/02

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
105M01	CONSTRUCTION STAKES, LINES AND GRAD	LS	1	\$88,783.33	\$532,700.00	6.00
1031101	CONSTRUCTION STIRLD, LINES IND CIAL	20	2	\$170,204.11	\$510,612.33	3.00
			3	\$104,235.57	\$729,648.96	7.00
			4	\$96,000.00	\$384,000.00	4.00
			STATE	\$107,848.06	\$2,156,961.29	20.00
109M10.01	TRAINEE	HOUR	1	\$0.80	\$800.00	1000.00
			2	\$0.80	\$1,600.00	2000.00
			3	\$0.80	\$2,400.00	3000.00
			4	\$0.80	\$3,200.00	4000.00
			STATE	\$0.80	\$8,000.00	10000.00
201M01	CLEARING AND GRUBBING	LS	1	\$117,900.00	\$825,300.00	7.00
			2	\$268,925.00	\$1,075,700.00	4.00
			3	\$114,844.31	\$803,910.16	7.00
			4	\$546,000.00	\$2,184,000.00	4.00
			STATE	\$222,223.19	\$4,888,910.16	22.00
202M01	REMOVAL OF STRUCTURES AND OBSTRUCTI	LS	1	\$17,500.00	\$35,000.00	2.00
			2	\$20,000.00	\$40,000.00	2.00
			3	\$21,848.74	\$65,546.22	3.00
			4	\$51,250.00	\$102,500.00	2.00
2021402 01	DEMOVAL OF DIDE		STATE	\$27,005.14	\$243,046.22	9.00
202M02.01	REMOVAL OF PIPE	m	1 STATE	\$50.00 \$50.00	\$6,300.00 \$6,300.00	126.00 126.00
202M03	REMOVAL OF RIGID PVMT, SIDEWALK, ET	m2	SIAIE 1	\$20.00	\$1,840.00	92.00
Z0ZM03	REMOVAL OF RIGID PVMI, SIDEWALK, EI	IIIZ	2	\$5.11	\$15,295.00	2995.00
			3	\$6.56	\$83,447.09	12725.00
			4	\$4.00	\$8,000.00	2000.00
			STATE	\$6.10	\$108,582.09	17812.00
202M03.01	REMOVAL OF ASPHALT PAVEMENT	m2	3	\$2.52	\$14,783.24	5873.00
			STATE	\$2.52	\$14,783.24	5873.00
202M04.01	REMOVAL STRUCTURES	LS	2	\$263,266.25	\$1,053,065.00	4.00
			3	\$133,659.80	\$267,319.60	2.00
			4	\$31,000.00	\$31,000.00	1.00
			STATE	\$193,054.94	\$1,351,384.60	7.00
202M04.02	REMOVAL STRUCTURES	LS	2	\$17,833.33	\$53,500.00	3.00
			3	\$12,734.84	\$12,734.84	1.00
			STATE	\$16,558.71	\$66,234.84	4.00
202M04.03	REMOVAL STRUCTURES	LS	2	\$13,500.00	\$27,000.00	2.00
			3	\$12,509.55	\$12,509.55	1.00
		_	STATE	\$13,169.85	\$39,509.55	3.00
202M04.04	REMOVAL STRUCTURES	LS	2	\$1,000.00	\$1,000.00	1.00
			3	\$13,287.32	\$13,287.32	1.00
2021404 05	DEMOVAL CEDICETIDES	т. С	STATE	\$7,143.66	\$14,287.32	2.00
202M04.05	REMOVAL STRUCTURES	LS	2	\$1,000.00	\$1,000.00	1.00
			3 STATE	\$6,798.48 \$3,899.24	\$6,798.48 \$7,798.48	1.00 2.00
202M04.06	REMOVAL STRUCTURES	LS	SIAIE 2	\$1,000.00	\$1,000.00	1.00
2021104.00	KENOVAL BIKOCIOKEB	цо	3	\$5,706.96	\$5,706.96	1.00
			STATE	\$3,700.90	\$6,706.96	2.00
			0111111	73,333.10	70,700.50	2.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
			_			-
202M04.07	REMOVAL STRUCTURES	LS	2	\$1,000.00	\$1,000.00	1.00
			STATE	\$1,000.00	\$1,000.00	1.00
202M04.50	REMOVAL STRUCTURES	LS	1	\$2,000.00	\$2,000.00	1.00
			2	\$2,500.00	\$2,500.00	1.00
			3	\$4,915.98	\$4,915.98	1.00
202004 51	DEMOVAL CEDITCHIDEC	Ŧ G	STATE	\$3,138.66	\$9,415.98	3.00
202M04.51	REMOVAL STRUCTURES	LS	1 3	\$3,000.00 \$5,260.10	\$3,000.00 \$5,260.10	1.00
			STATE	\$4,130.05	\$8,260.10	2.00
202M04.52	REMOVAL STRUCTURES	LS	3	\$4,130.05	\$31,462.26	1.00
202M04.J2	REMOVAL SIRUCTURES	ЦЗ	STATE	\$31,462.26	\$31,462.26	1.00
202M04.53	REMOVAL STRUCTURES	LS	3	\$4,080.26	\$4,080.26	1.00
2021101.55	REMOVILE BIRDCIONED	10	STATE	\$4,080.26	\$4,080.26	1.00
202M06.01	REMOVAL OF BUILDINGS	LS	2	\$3,338.28	\$10,014.84	3.00
			3	\$18,750.00	\$37,500.00	2.00
			4	\$50.50	\$101.00	2.00
			STATE	\$6,802.26	\$47,615.84	7.00
202M06.02	REMOVAL OF BUILDINGS	LS	2	\$3,171.61	\$9,514.84	3.00
			3	\$64,250.00	\$128,500.00	2.00
			4	\$2,500.50	\$5,001.00	2.00
			STATE	\$20,430.83	\$143,015.84	7.00
202M06.03	REMOVAL OF BUILDINGS	LS	2	\$5,000.50	\$10,001.00	2.00
			3	\$80,700.00	\$80,700.00	1.00
			4	\$50.50	\$101.00	2.00
00006			STATE	\$18,160.40	\$90,802.00	5.00
202M06.04	REMOVAL OF BUILDINGS	LS	2	\$5,000.50	\$10,001.00	2.00
			4	\$1.00	\$1.00	1.00
202006 05	DEMOVAL OF DITTIDINGS	Ŧ G	STATE	\$3,334.00	\$10,002.00	3.00
202M06.05	REMOVAL OF BUILDINGS	LS	2 4	\$500.50 \$1.00	\$1,001.00 \$1.00	2.00 1.00
			STATE	\$334.00	\$1,002.00	3.00
202M06.06	REMOVAL OF BUILDINGS	LS	2	\$1,250.50	\$2,501.00	2.00
2021100.00	KEMOVAL OF BUILDINGS	ЦБ	4	\$1,230.30	\$1.00	1.00
			STATE	\$834.00	\$2,502.00	3.00
202M06.07	REMOVAL OF BUILDINGS	LS	2	\$1,250.50	\$2,501.00	2.00
		-	4	\$1.00	\$1.00	1.00
			STATE	\$834.00	\$2,502.00	3.00
202M06.08	REMOVAL OF BUILDINGS	LS	2	\$1,250.50	\$2,501.00	2.00
			4	\$1.00	\$1.00	1.00
			STATE	\$834.00	\$2,502.00	3.00
202M06.09	REMOVAL OF BUILDINGS	LS	2	\$1,250.50	\$2,501.00	2.00
			4	\$1.00	\$1.00	1.00
			STATE	\$834.00	\$2,502.00	3.00
202M06.10	REMOVAL OF BUILDINGS	LS	2	\$1,250.50	\$2,501.00	2.00
			4	\$1.00	\$1.00	1.00
202000 11	DEMONAL OF DUTT DIVIG	Ŧ ~	STATE	\$834.00	\$2,502.00	3.00
202M06.11	REMOVAL OF BUILDINGS	LS	2	\$1,250.50	\$2,501.00	2.00
			4	\$1.00	\$1.00	1.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
			STATE	\$834.00	\$2,502.00	3.00
202M06.12	REMOVAL OF BUILDINGS	LS	2	\$1,250.50	\$2,501.00	2.00
2021100122			4	\$1.00	\$1.00	1.00
			STATE	\$834.00	\$2,502.00	3.00
202M06.13	REMOVAL OF BUILDINGS	LS	2	\$1,250.50	\$2,501.00	2.00
			4	\$1.00	\$1.00	1.00
			STATE	\$834.00	\$2,502.00	3.00
202M06.14	REMOVAL OF BUILDINGS	LS	2	\$1.00	\$1.00	1.00
			4	\$1.00	\$1.00	1.00
			STATE	\$1.00	\$2.00	2.00
202M06.15	REMOVAL OF BUILDINGS	LS	2	\$1.00	\$1.00	1.00
			4	\$1.00	\$1.00	1.00
		_	STATE	\$1.00	\$2.00	2.00
202M06.16	REMOVAL OF BUILDINGS	LS	2	\$1.00	\$1.00	1.00
			4	\$1.00	\$1.00	1.00
000000 17	DEMOVING OF BUILDINGS	T C	STATE	\$1.00	\$2.00	2.00
202M06.17	REMOVAL OF BUILDINGS	LS	2 4	\$1.00	\$1.00	1.00
			4 STATE	\$1.00 \$1.00	\$1.00 \$2.00	1.00
202M06.18	REMOVAL OF BUILDINGS	LS	SIAIE 2	\$1.00	\$2.00	2.00 1.00
ZUZMU0.10	KEMOVAL OF BUILDINGS	ПЭ	4	\$1.00	\$1.00	1.00
			STATE	\$1.00	\$2.00	2.00
202M06.19	REMOVAL OF BUILDINGS	LS	2	\$1.00	\$1.00	1.00
2021100.19	REMOVIE OF BOTEBINOS	10	4	\$1.00	\$1.00	1.00
			STATE	\$1.00	\$2.00	2.00
202M06.20	REMOVAL OF BUILDINGS	LS	2	\$1.00	\$1.00	1.00
			STATE	\$1.00	\$1.00	1.00
202M08.20	REMOVAL OF CURB AND GUTTER	m	1	\$35.00	\$3,220.00	92.00
			STATE	\$35.00	\$3,220.00	92.00
202M13	WATER WELL ABANDONMENT	EACH	4	\$1,000.00	\$10,000.00	10.00
			STATE	\$1,000.00	\$10,000.00	10.00
203M01	ROAD & DRAINAGE EXCAVATION (UNCLIFI	m3	1	\$2.69	\$5,581,941.50	2075186.00
			2	\$4.59	\$5,172,711.40	1126505.00
			3	\$7.14	\$2,052,135.06	287393.00
			4	\$1.76	\$2,320,843.16	1317536.00
00001 11		•	STATE	\$3.15	\$15,127,631.12	4806620.00
203M01.11	PRESPLITTING OF ROCK EXCAVATION	m2	1	\$7.25	\$14,739.25	2033.00
			2	\$9.56	\$129,060.00	13500.00
			3	\$11.12	\$11,409.12	1026.00
203M02	DODDOM EXCLUSION (COLID DOCK)	m 2	STATE	\$9.37 \$10.60	\$155,208.37 \$40,545.00	16559.00 3825.00
203M02	BORROW EXCAVATION (SOLID ROCK)	m3	3 STATE	\$10.60	\$40,545.00	3825.00
203M02.01	BORROW EXCAVATION (GRADED SOLID ROC	TONN	SIAIE 1	\$5.98	\$1,731,893.60	289564.00
7031107.0T	POWWOW EVENALION (GWADED PORTE KOC	I OIMM	2	\$13.41	\$253,799.01	18923.00
			3	\$14.67	\$1,001,936.48	68309.00
			STATE	\$7.93	\$2,987,629.09	376796.00
203M02.02	BORROW EXCAVATION (GRADED SOLID ROC	m3	1	\$4.00	\$21,356.00	5339.00
		-	3	\$17.00	\$241,213.00	14189.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
203M03	BORROW EXCAVATION (UNCLASSIFIED)	m3	STATE 1 2 3 4	\$13.45 \$3.71 \$6.25 \$5.40 \$4.54	\$262,569.00 \$617,025.44 \$278,339.70 \$1,041,844.62 \$266,859.50	19528.00 166194.00 44542.00 193080.00 58735.00
203M03.01	BORROW EXCAVATION (SELECT MATERIAL)	m3	STATE 4 STATE	\$4.77 \$4.50 \$4.50	\$2,204,069.26 \$195,642.00 \$195,642.00	462551.00 43476.00 43476.00
203M03.10	SELECT GRANULAR MATERIAL	TONN	4	\$3.80	\$798,836.00	210220.00
203M04	PLACING AND SPREADING TOPSOIL	m3	STATE 1 2 3 4 STATE	\$3.80 \$2.08 \$2.00 \$5.83 \$1.30 \$1.90	\$798,836.00 \$131,073.00 \$8,910.00 \$70,208.15 \$125,077.40 \$335,268.55	210220.00 63043.00 4455.00 12035.00 96517.00 176050.00
203M05	UNDERCUTTING	m3	1 2 STATE	\$4.31 \$5.50 \$4.86	\$75,899.20 \$82,500.00 \$158,399.20	17600.00 15000.00 32600.00
203M06	WATER	m3	1 2 3 4	\$0.16 \$3.69 \$1.64 \$1.68	\$7,562.54 \$141,474.25 \$44,395.84 \$88,727.00	47554.00 38295.00 27093.00 52898.00
203M07	FURNISHING & SPREADING TOPSOIL	m3	STATE 1 2 3 4	\$1.70 \$11.00 \$1.00 \$16.03 \$3.50	\$282,159.63 \$44,000.00 \$20,000.00 \$73,022.45 \$21,392.00	165840.00 4000.00 20000.00 4556.00 6112.00
203M08	CHANNEL EXCAVATION (UNCLASSIFIED)	m3	STATE 1 2 3 4 STATE	\$4.57 \$12.15 \$7.98 \$5.66 \$3.56 \$5.95	\$158,414.45 \$29,871.00 \$31,036.00 \$32,295.96 \$31,902.50 \$125,105.46	34668.00 2458.00 3887.00 5706.00 8960.00 21011.00
203M10	EMBANKMENT (COMPACTED IN PLACE)	m3	4 STATE	\$2.07 \$2.07	\$1,587,027.60 \$1,587,027.60	766680.00 766680.00
204M02.01	DRY EXCAVATION (BRIDGES)	m3	1 2 3 4	\$7.98 \$14.86 \$16.85 \$8.00	\$78,610.00 \$40,775.58 \$119,419.59 \$13,604.00	9845.00 2744.00 7086.00 1700.00
204M02.10	DRILLED CAISSON - EARTH	m	STATE 3	\$11.81 \$292.76 \$292.76	\$252,409.17 \$9,953.84 \$9,953.84	21375.00 34.00 34.00
204M02.20	DRILLED CAISSON-ROCK	m	STATE 3 STATE	\$292.76 \$1,431.96 \$1,431.96	\$9,953.84 \$90,213.48 \$90,213.48	63.00 63.00
204M02.33	DRILLED CAISSON-UNCLIFIED	m	STATE 3 STATE	\$1,431.96 \$4,137.80 \$4,137.80	\$90,213.48 \$463,433.60 \$463,433.60	112.00 112.00
204M02.34	DRILLED CAISSON-UNCLIFIED	m	3 STATE	\$4,137.80 \$57.89 \$57.89	\$29,176.56 \$29,176.56	504.00 504.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
204M02.35	DRILLED CAISSON-UNCLIFIED	m	3	\$52.10	\$4,428.50	85.00
			STATE	\$52.10	\$4,428.50	85.00
204M03.01	WET EXCAVATION	m3	1	\$45.00	\$2,925.00	65.00
			2	\$12.00	\$4,884.00	407.00
			3	\$12.18	\$32,643.00	2679.00
			STATE	\$12.84	\$40,452.00	3151.00
204M04.01	ROCK EXCAVATION (BRIDGES)	m3	1	\$100.00	\$16,500.00	165.00
			2	\$19.90	\$3,104.00	156.00
			3	\$18.63	\$66,796.34	3585.00
0.0.40.5			STATE	\$22.12	\$86,400.34	3906.00
204M05	ROCK DRILLING (BRIDGES)	m	1	\$50.00	\$1,200.00	24.00
			2	\$50.00	\$3,250.00	65.00
			3	\$50.75	\$16,342.56	322.00
0.0.4340.5	DEDDING MIREDIA (DIDE) GLAGG D	2	STATE	\$50.59	\$20,792.56	411.00
204M07	BEDDING MATERIAL (PIPE) CLASS B	m3	1 2	\$21.50	\$227,659.20	10589.00
				\$26.74 \$26.49	\$182,051.48	6807.00
			3 4	\$19.15	\$248,923.65	9397.00 4537.00
			STATE	\$23.80	\$86,885.00	31330.00
204M08	FOUNDATION FILL MATERIAL	m3	SIAIE 1	\$23.00	\$745,519.33 \$41,952.80	1904.00
204M08	FOUNDATION FILL MATERIAL	เแร	2	\$30.79	\$21,705.00	705.00
			3	\$29.63	\$6,725.96	227.00
			4	\$17.01	\$18,986.40	1116.00
			STATE	\$22.61	\$89,370.16	3952.00
204M08.01	BACKFILL MATERIAL (FLOWABLE FILL)	m3	2	\$150.41	\$91,000.00	605.00
2011100:01	DACKFILL PATEKIAL (FLOWADLE FILL)	ıııJ	3	\$134.67	\$14,140.35	105.00
			STATE	\$148.09	\$105,140.35	710.00
204M09.01	COFFERDAM	LS	3	\$110,000.00	\$110,000.00	1.00
2011103.01		25	STATE	\$110,000.00	\$110,000.00	1.00
204M09.02	COFFERDAM	LS	3	\$110,000.00	\$110,000.00	1.00
			STATE	\$110,000.00	\$110,000.00	1.00
204M10.01	FOUNDATION PREPARATION	LS	1	\$15,000.00	\$15,000.00	1.00
			2	\$8,000.00	\$8,000.00	1.00
			3	\$4,487.15	\$8,974.29	2.00
			STATE	\$7,993.57	\$31,974.29	4.00
204M10.02	FOUNDATION PREPARATION	LS	1	\$15,000.00	\$15,000.00	1.00
			2	\$8,000.00	\$8,000.00	1.00
			3	\$4,487.15	\$8,974.29	2.00
			STATE	\$7,993.57	\$31,974.29	4.00
204M10.03	FOUNDATION PREPARATION	LS	1	\$6,000.00	\$6,000.00	1.00
			2	\$500.00	\$500.00	1.00
			3	\$2,989.86	\$5,979.72	2.00
			STATE	\$3,119.93	\$12,479.72	4.00
204M10.04	FOUNDATION PREPARATION	LS	2	\$500.00	\$500.00	1.00
			3	\$2,989.86	\$5,979.72	2.00
			STATE	\$2,159.91	\$6,479.72	3.00
204M10.05	FOUNDATION PREPARATION	LS	2	\$500.00	\$500.00	1.00
			3	\$2,989.86	\$5,979.72	2.00

204M10.06 FOUNDATION PREPARATION LS 2 \$500.00 \$500.00 1.00 204M10.07 FOUNDATION PREPARATION LS 3 \$500.00 \$500.00 1.00 204M10.07 FOUNDATION PREPARATION LS 3 \$2,750.00 \$5,000.00 1.00 204M10.08 FOUNDATION PREPARATION LS 3 \$2,750.00 \$5,000.00 1.00 204M10.09 FOUNDATION PREPARATION LS 3 \$2,000.00 \$5,000.00 1.00 204M10.09 FOUNDATION PREPARATION LS 3 \$5,000.00 \$5,000.00 1.00 204M10.10 FOUNDATION PREPARATION LS 3 \$5,000.00 \$5,000.00 1.00 204M10.10 FOUNDATION PREPARATION LS 3 \$5,000.00 \$5,000.00 1.00 204M10.11 FOUNDATION PREPARATION LS 3 \$5,000.00 \$5,000.00 1.00 204M10.11 FOUNDATION PREPARATION LS 3 \$5,000.00 \$5,000.00 1.00 204M10.12 FOUNDATION PREPARATION LS 3 \$5,000.00 \$5,000.00 1.00 205M01.98 ROCK FILL TONN 1 \$5,000.00 \$5,000.00 1.00 205M01.99 ROCK FILL TONN 1 \$5,000.00 \$5,000.00 1.00 205M01.98 ROCK FILL TONN 1 \$5,000.00 \$5,000.00 \$5,000.00 1.00 205M01.98 ROCK FILL TONN 1 \$5,000.00 \$5,	Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
204M10.06 FOUNDATION PREPARATION		-		_			-
204M10.07 FOUNDATION PREPARATION LS 3 \$5,000.00 \$5,500.00 2.00							
204M10.07 FOUNDATION PREPARATION LS 3 \$5,000.00 \$5,500.00 \$1,00	204M10.06	FOUNDATION PREPARATION	LS		·		
204M10.07 FOUNDATION PREFARATION				_			
204M10.08	004510 00						
204M10.08 FOUNDATION PREPARATION	204M10.07	FOUNDATION PREPARATION	LS	_			
204M10.09	0.0.43/1.0.00		T C				
204M10.09 FOUNDATION PREPARATION	204M10.08	FOUNDATION PREPARATION	LS				
204M10.10	204M10 00	EQUINDATION DEPARATION	T C				
204410.10 FOUNDATION PREPARATION LS 3 \$5,000.00 \$5,000.00 1.00	204M10.09	FOUNDATION PREPARATION	ПО	-			
Composition	204M10 10	FOINDATION DDFDADATION	T C				
204M10.11 FOUNDATION PREPARATION	204010.10	FOUNDATION FREFARATION	ПО	-			
204M10.12 FOUNDATION PREPARATION	204M10 11	FOINDATION DREDARATION	T.C				
Composition	2011110.11	FOUNDATION TREFARATION	ПО	-			
Note	204M10 12	FOIINDATTON PREPARATTON	P.T				
Common	2011110.12	1 OUNDATION TREETMENT TOW	10	_			
STATE \$22.00	205M01.98	ROCK FILL	TONN				
209M01.20 EROSION CONTROL SUPERVISOR DAY 2 \$500.00 \$150,000.00 300.00							
STATE S500.00 \$150,000.00 300.00	209M01.20	EROSION CONTROL SUPERVISOR	DAY				
209M02.03 200mm TEMPORARY SLOPE DRAIN M				STATE			
209M02.05 300mm TEMPORARY SLOPE DRAIN	209M02.03	200mm TEMPORARY SLOPE DRAIN	m				
A				3	\$22.24		
209M02.05 300mm TEMPORARY SLOPE DRAIN m 1 \$29.14 \$38,059.00 1306.00 2 \$47.58 \$26,217.00 551.00 3 \$31.91 \$33,701.00 116.00 4 \$17.68 \$8,060.00 456.00 \$130.00 \$15				4			
2				STATE	\$15.64	\$18,342.70	1173.00
STATE STAT	209M02.05	300mm TEMPORARY SLOPE DRAIN	m	1			
A				2	\$47.58	\$26,217.00	551.00
STATE \$31.30 \$76,037.00 2429.00				3	\$31.91	\$3,701.00	116.00
209M02.06 375mm TEMPORARY SLOPE DRAIN				4	\$17.68		456.00
2 \$58.00 \$58,000.00 1000.00				STATE			
3	209M02.06	375mm TEMPORARY SLOPE DRAIN	m				
A \$20.52 \$3,879.00 189.00							
STATE \$52.40 \$64,143.64 1224.00				-			
209M02.07				-			
4 \$19.92 \$11,472.00 576.00 STATE \$24.77 \$15,405.00 622.00 209M03 CHECK DAMS							
STATE \$24.77 \$15,405.00 622.00	209M02.07	450mmTEMPORARY SLOPE DRAIN	m				
209M03 CHECK DAMS							
2 \$28.00 \$2,100.00 75.00 3 \$18.07 \$6,504.69 360.00 4 \$53.27 \$11,720.00 220.00 STATE \$30.75 \$21,124.69 687.00 209M05 SEDIMENT REMOVAL M3 1 \$4.59 \$40,199.50 8758.00 2 \$5.34 \$26,309.00 4924.00 3 \$3.01 \$15,844.02 5259.00 4 \$0.90 \$14,053.00 15669.00 STATE \$2.79 \$96,405.52 34610.00	0.00000	aaa	•				
3 \$18.07 \$6,504.69 360.00 4 \$53.27 \$11,720.00 220.00 STATE \$30.75 \$21,124.69 687.00 209M05 SEDIMENT REMOVAL M3 1 \$4.59 \$40,199.50 8758.00 2 \$5.34 \$26,309.00 4924.00 3 \$3.01 \$15,844.02 5259.00 4 \$0.90 \$14,053.00 15669.00 STATE \$2.79 \$96,405.52 34610.00	209M03	CHECK DAMS	m2				
4 \$53.27 \$11,720.00 220.00 STATE \$30.75 \$21,124.69 687.00 209M05 SEDIMENT REMOVAL m3 1 \$4.59 \$40,199.50 8758.00 2 \$5.34 \$26,309.00 4924.00 3 \$3.01 \$15,844.02 5259.00 4 \$0.90 \$14,053.00 15669.00 STATE \$2.79 \$96,405.52 34610.00							
STATE \$30.75 \$21,124.69 687.00 209M05 SEDIMENT REMOVAL m3 1 \$4.59 \$40,199.50 8758.00 2 \$5.34 \$26,309.00 4924.00 3 \$3.01 \$15,844.02 5259.00 4 \$0.90 \$14,053.00 15669.00 STATE \$2.79 \$96,405.52 34610.00							
209M05 SEDIMENT REMOVAL m3 1 \$4.59 \$40,199.50 8758.00 2 \$5.34 \$26,309.00 4924.00 3 \$3.01 \$15,844.02 5259.00 4 \$0.90 \$14,053.00 15669.00 STATE \$2.79 \$96,405.52 34610.00							
2 \$5.34 \$26,309.00 4924.00 3 \$3.01 \$15,844.02 5259.00 4 \$0.90 \$14,053.00 15669.00 STATE \$2.79 \$96,405.52 34610.00	200M05	CEDIMENT DEMOVAI	m 2				
3 \$3.01 \$15,844.02 5259.00 4 \$0.90 \$14,053.00 15669.00 STATE \$2.79 \$96,405.52 34610.00	202M03	SENTIMENT VENOVATI	ແເວ				
4 \$0.90 \$14,053.00 15669.00 STATE \$2.79 \$96,405.52 34610.00							
STATE \$2.79 \$96,405.52 34610.00							
	209M06	BALED HAY OR STRAW EROSION CHECKS	BALE		•		

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
			2	\$5.00	\$8,720.00	1744.00
			3 4	\$5.74 \$3.25	\$25,883.46 \$18,790.00	4506.00 5786.00
			STATE	\$3.25	\$78,441.76	17474.00
209M08.01	TEMPORARY FILTER BARRIER	m	1	\$4.00	\$400.00	100.00
2001100:01	THE OWNER THEFT BREETING		2	\$4.00	\$5,076.00	1269.00
			3	\$5.30	\$2,173.00	410.00
			4	\$4.60	\$5,717.80	1243.00
			STATE	\$4.42	\$13,366.80	3022.00
209M08.02	TEMPORARY SILT FENCE (WITH BACKING)	m	1	\$6.00	\$22,260.00	3710.00
			2	\$10.10	\$17,776.00	1760.00
			4	\$1.31	\$46,658.00	35660.00
			STATE	\$2.11	\$86,694.00	41130.00
209M08.03	TEMPORARY SILT FENCE (WITHOUT BACKI	m	1	\$4.66	\$113,279.50	24314.00
			2	\$4.13	\$59,583.60	14436.00
			3	\$4.42	\$119,029.16	26928.00
			4	\$2.44	\$23,903.60	9804.00
			STATE	\$4.18	\$315,795.86	75482.00
209M09.01	SANDBAGS	BAG	1	\$2.72	\$5,135.00	1890.00
			2	\$5.09	\$20,290.00	3988.00
			3	\$5.23	\$12,760.00	2440.00
			4	\$1.41	\$21,610.00	15300.00
209M09.02	TEMP.SEDIMNT FILTER BAG (4.42X0.61X	BAG	STATE 1	\$2.53	\$59,795.00	23618.00 32.00
209M09.02	TEMP. SEDIMINI FILIER BAG (4.42X0.61X	BAG	2	\$566.56 \$207.69	\$18,130.00 \$8,100.00	39.00
			3	\$505.25	\$4,547.28	9.00
			4	\$223.08	\$11,600.00	52.00
			STATE	\$321.04	\$42,377.28	132.00
209M09.36	INLET TRASH BAFFLE	EACH	3	\$2,975.00	\$2,975.00	1.00
2071107.00		211011	STATE	\$2,975.00	\$2,975.00	1.00
209M10.01	TEMPORARY DEWATERING STRUCTURE	m3	1	\$19.93	\$19,848.50	996.00
			2	\$12.00	\$27,192.00	2266.00
			3	\$14.01	\$24,038.10	1716.00
			STATE	\$14.28	\$71,078.60	4978.00
209M10.20	TEMPORARY SEDIMENT TRAP	m3	1	\$25.00	\$550.00	22.00
			2	\$12.00	\$25,080.00	2090.00
			3	\$34.08	\$10,224.00	300.00
		_	STATE	\$14.86	\$35,854.00	2412.00
209M20.03	POLYETHYLENE SHEETING (6 MIL. MINIM	m2	1	\$3.66	\$6,948.00	1896.00
			2	\$0.70	\$1,525.00	2175.00
			3	\$2.33	\$587.40	252.00
			4 STATE	\$1.32 \$1.73	\$4,908.00 \$13,968.40	3728.00 8051.00
202M01	MINERAL AGGREGATE, TY A BASE, GRADI	TT (NINI		\$1.73	\$13,966.40	
303M01	MINERAL AGGREGATE, II A DASE, GRADI	TONN	1 2	\$9.62	\$2,409,240.00	479403.00 250395.00
			3	\$12.28	\$2,555,092.80	208008.00
			4	\$7.81	\$2,915,835.60	373254.00
			STATE	\$9.12	\$11,957,795.58	1311060.00
				772	, == , = = , , , , , , , , , , , , ,	

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
303M01.01	GRANULAR BACKFILL (ROADWAY)	TONN	2	\$18.00	\$76,068.00	4226.00
			3	\$15.50	\$15,763.50	1017.00
			4	\$16.20	\$215,720.82	13316.00
			STATE	\$16.57	\$307,552.32	18559.00
303M01.02	GRANULAR BACKFILL (BRIDGES)	TONN	1	\$13.12	\$669,536.97	51042.00
			2	\$14.73	\$122,551.30	8319.00
			3	\$12.42	\$135,902.88	10944.00
			4	\$14.37	\$60,490.07	4209.00
			STATE	\$13.27	\$988,481.22	74514.00
303M01.03	GRANULAR BACKFILL (RETAINING WALLS)	TONN	1	\$26.17	\$2,590.70	99.00
			3	\$21.22	\$2,334.31	110.00
			STATE	\$23.56	\$4,925.01	209.00
303M02	MINERAL AGGR, TY B BASE, GR	TONN	4	\$12.00	\$120,000.00	10000.00
			STATE	\$12.00	\$120,000.00	10000.00
303M10.01	MINERAL AGGREGATE (SIZE 57)	TONN	1	\$12.13	\$236,794.18	19527.00
			2	\$13.50	\$45,112.92	3342.00
			3	\$17.59	\$22,160.83	1260.00
			4	\$20.47	\$29,032.00	1418.00
			STATE	\$13.04	\$333,099.93	25547.00
303M10.02	MINERAL AGGREGATE (SIZE 2)	TONN	2	\$15.43	\$20,835.00	1350.00
			STATE	\$15.43	\$20,835.00	1350.00
303M10.03	MINERAL AGGREGATE (SIZE 68)	TONN	1	\$31.28	\$2,690.00	86.00
			3	\$22.09	\$4,727.26	214.00
			STATE	\$24.72	\$7,417.26	300.00
303M10.04	MINERAL AGGREGATE	TONN	3	\$18.00	\$17,964.00	998.00
			4	\$7.00	\$54,950.00	7850.00
			STATE	\$8.24	\$72,914.00	8848.00
307M01.01	ASP. CONC MIX(PG64-22)(BPMB-HM)GRAD	TONN	1	\$23.69	\$1,241,507.76	52417.00
			2	\$26.72	\$1,174,290.59	43949.00
			3	\$37.30	\$178,493.22	4785.00
			4	\$34.60	\$636,771.50	18403.00
			STATE	\$27.03	\$3,231,063.07	119554.00
307M01.02	ASPHALT CEM (PG64-22)(BPMB-HM) GR.	TONN	1	\$263.68	\$177,456.00	673.00
			2	\$175.00	\$253,750.00	1450.00
			STATE	\$203.11	\$431,206.00	2123.00
307M01.03	AGGREGATE (BPMB-HM) GRADING A-S MIX	TONN	1	\$29.07	\$566,918.60	19504.00
			2	\$17.00	\$729,300.00	42900.00
			STATE	\$20.77	\$1,296,218.60	62404.00
307M01.08	ASPHALT CONC MX(PG64-22)(BPMB-HM)GR	TONN	1	\$38.22	\$881,897.60	23073.00
			2	\$29.61	\$877,180.41	29621.00
			3	\$38.14	\$253,700.64	6652.00
			4	\$24.43	\$603,618.90	24711.00
			STATE	\$31.13	\$2,616,397.55	84057.00
307M02.01	ASPHALT CONC. MIX (PG70-22)(BPMB-HM	TONN	1	\$36.38	\$1,379,358.49	37914.00
			2	\$32.80	\$608,467.89	18549.00
			3	\$34.37	\$1,198,203.72	34858.00
			4	\$22.19	\$1,077,462.90	48561.00
			STATE	\$30.48	\$4,263,493.00	139882.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
307M02.02	ASPHALT CEMENT (PG70-22) (BPMB-HM)G	TONN	1 2 3	\$285.26 \$272.17 \$303.54	\$232,485.00 \$24,767.47 \$420,401.76	815.00 91.00 1385.00
			4 STATE	\$165.00 \$237.92	\$299,970.00 \$977,624.23	1818.00 4109.00
307M02.03	AGGREGATE (BPMB-HM) GRADING A-S	TONN	1 2	\$26.16 \$24.60	\$624,762.19 \$66,420.00	23885.00 2700.00
			3 4	\$22.07 \$13.85	\$857,911.18 \$749,395.80	38867.00 54108.00
307M02.08	ASPHALT CONC MX(PG70-22)(BPMB-HM)GR	TONN	STATE 1	\$19.22 \$37.71	\$2,298,489.17 \$496,513.05	119560.00 13167.00
			2 3 4	\$34.67 \$36.40 \$21.70	\$381,966.20 \$1,010,579.56 \$538,372.80	11018.00 27760.00 24813.00
307M03.01	ASPHALT CONC MIX (PG76-22)(BPMB-HM)	TONN	STATE 3	\$31.62 \$34.60	\$2,427,431.61 \$526,681.20	76758.00 15222.00
307M03.02	PERF. GRADE ASPH. CEMENT(PG76-22)GR	TONN	STATE 3	\$34.60 \$278.01	\$526,681.20 \$60,328.17	15222.00 15222.00 217.00
			STATE	\$278.01	\$60,328.17	217.00
307M03.03	AGGREGATE(BPMB-HM) GRADING AS	TONN	3 STATE	\$23.94 \$23.94	\$153,359.64 \$153,359.64	6406.00 6406.00
307M03.08	ASPHALT CONC MX(PG76-22)(BPMB-HM)GR	TONN	3 STATE	\$34.08 \$34.08	\$356,851.68 \$356,851.68	10471.00 10471.00
309М01.01	MINERAL AGGREGATE (A-CBC)	TONN	1 4 STATE	\$10.10 \$10.30 \$10.24	\$107,514.50 \$254,925.00 \$362,439.50	10645.00 24750.00 35395.00
309M01.02	PORTLAND CEMENT (A-CBC)	TONN	1 4 STATE	\$120.00 \$175.00 \$158.45	\$62,280.00 \$211,050.00 \$273,330.00	519.00 1206.00 1725.00
309м02	BITUMINOUS MATERIAL (A-CBC)	TONN	1 4 STATE	\$275.00 \$211.00 \$230.46	\$10,450.00 \$18,357.00 \$28,807.00	38.00 87.00 125.00
312M01	MINERAL AGGREGATE (ALFSB)	TONN	1	\$230.40	\$20,007.00	9914.00
312M02	LIME	TONN	STATE 1	•		9914.00 377.00
312M03	FLY ASH	TONN	STATE 1	•	•	377.00 1185.00
312M04	BITUMINOUS MATERIAL (ALFSB)	TONN	STATE 1	•	· ·	1185.00
313M03	TREATED PERMEABLE BASE	m2	STATE 1 2 3	\$8.90 \$8.58 \$7.41	\$125,427.70 \$73,733.84 \$198,773.25	37.00 14093.00 8590.00 26825.00
402M01	BITUMINOUS MATERIAL FOR PRIME COAT	TONN	4 STATE	\$11.25 \$8.57 \$168.84	\$111,487.50 \$509,422.29 \$132,372.00	9910.00 59418.00 784.00
707M0T	BITOMINOUS MATERIAL FOR PRIME COAT	I OININ	1 2 3	\$168.84 \$257.08 \$246.97	\$132,372.00 \$135,995.71 \$119,039.43	529.00 482.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
Namber	Description	Measure	Region	01110 11100	COSC	Quarterey
			4	\$98.09	\$70,035.00	714.00
			STATE	\$182.32	\$457,442.14	2509.00
402M02	AGGREGATE FOR COVER MATERIAL (PC)	TONN	1	\$27.93	\$57,311.10	2052.00
1021102	MODELLINE TOR COVER PRIBRIES (IC)	10111	2	\$15.87	\$31,863.25	2008.00
			3	\$16.21	\$30,572.09	1886.00
			4	\$6.12	\$17,310.50	2829.00
			STATE	\$15.62	\$137,056.94	8775.00
403M01	BITUMINOUS MATERIAL FOR TACK COAT (TONN	1	\$242.69	\$41,986.00	173.00
1001101	22101121002 121121121 2011 211011 00111 (101.1.	2	\$239.91	\$11,755.46	49.00
			3	\$224.37	\$21,539.36	96.00
			4	\$134.54	\$11,490.00	85.40
			STATE	\$215.10	\$86,770.82	403.40
403M02	ASPHALT CEMENT FOR TACK COAT (TC)	TONN	1	\$237.00	\$5,214.00	22.00
1031102	TIOTIMET CEMENT TOR THOR COMP (10)	10111	STATE	\$237.00	\$5,214.00	22.00
407M02.13	REMOVAL & DISPOSAL EXISTING ASPHALT	m2	1	\$3.00	\$2,871.00	957.00
10,1102.13	RELIGITE & PISTOSIE EMISTING HET IMET		STATE	\$3.00	\$2,871.00	957.00
407M20.05	SAW CUTTING ASPHALT PAVEMENT	m	3	\$13.30	\$1,223.60	92.00
1071120.03		***	STATE	\$13.30	\$1,223.60	92.00
411M01.01	ASPHALT CEMENT (PG64-22) (ACS) GRAD	TONN	1	\$254.57	\$200,090.00	786.00
111101.01	TIGHTHEET CERTEINT (TGGT 22) (TGG) GIVE	10111	2	\$178.75	\$181,073.91	1013.00
			3	\$227.96	\$60,864.16	267.00
			4	\$212.94	\$65,160.00	306.00
			STATE	\$213.82	\$507,188.07	2372.00
411M01.02	AGGREGATE (ACS) GRADING D	TONN	1	\$34.03	\$417,944.98	12283.00
1111101.02	ricondonia (rico) diabance b	10111	2	\$28.06	\$442,940.00	15786.00
			3	\$36.28	\$204,685.65	5642.00
			4	\$29.95	\$142,839.35	4770.00
			STATE	\$31.40	\$1,208,409.98	38481.00
411M01.07	ASPHALT CONC MIX(PG64-22)(ACS)GR E(TONN	1	\$39.83	\$213,395.98	5357.00
	11011111111 00110 11111(1001 111) (1100) 011 11	101.11	2	\$34.11	\$126,366.00	3705.00
			3	\$44.34	\$66,339.22	1496.00
			4	\$20.84	\$170,503.50	8180.00
			STATE	\$30.77	\$576,604.70	18738.00
411M02.01	ASPHALT CEMENT (PG70-22) (ACS) GRAD	TONN	1	\$297.20	\$334,650.00	1126.00
	, , , , , , , , , , , , , , , , , , , ,	_	2	\$141.94	\$117,530.00	828.00
			3	\$259.52	\$210,471.01	811.00
			4	\$180.61	\$151,529.00	839.00
			STATE	\$225.91	\$814,180.01	3604.00
411M02.02	AGGREGATE (ACS) GRADING D	TONN	1	\$32.92	\$578,679.75	17577.00
	,		2	\$32.30	\$167,048.00	5172.00
			3	\$28.28	\$358,687.90	12683.00
			4	\$16.43	\$215,831.00	13139.00
			STATE	\$27.18	\$1,320,246.65	48571.00
411M03.01	ASPHALT CEMENT (PG76-22) (ACS) GRAD	TONN	3	\$278.01	\$110,647.98	398.00
	, , , , -		STATE	\$278.01	\$110,647.98	398.00
411M03.02	AGGREGATE (ACS) GRADING D	TONN	3	\$32.95	\$205,476.20	6236.00
			STATE	\$32.95	\$205,476.20	6236.00
411M10.01	SCORING PAVEMENT	km	1	\$670.00	\$10,050.00	15.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
TVAILDCI	Deboliption	ricabarc	Region	OHIC TIEC	COBC	Quarretey
			3	\$2,450.58	\$4,901.16	2.00
			4	\$450.00	\$10,728.00	23.84
			STATE	\$628.77	\$25,679.16	40.84
415M01.01	COLD PLANING BITUMINOUS PAVEMENT	TONN	1	\$13.50	\$87,156.00	6456.00
			2	\$10.65	\$44,904.00	4217.00
			3	\$10.30	\$188,222.20	18274.00
			STATE	\$11.06	\$320,282.20	28947.00
415M01.02	COLD PLANING BITUMINOUS PAVEMENT	m2	1	\$3.85	\$73,334.80	19048.00
44.504.00			STATE	\$3.85	\$73,334.80	19048.00
415M01.03	COLD PLANING BITUMINOUS PAVEMENT	m3	3	\$160.00	\$5,120.00	32.00
F.0.10.1	2017 (217)	0	STATE	\$160.00	\$5,120.00	32.00
501M01.01	PORTLAND CEMENT CONC PVMT (PLAIN) 2	m2	4	\$65.00	\$15,015.00	231.00
F01M01 02	DODEL AND GEMENTE GONG DIME (DI ATNI) 2	O	STATE	\$65.00	\$15,015.00	231.00
501M01.02	PORTLAND CEMENT CONC PVMT (PLAIN) 2	m2	1 2	\$37.00 \$39.62	\$516,039.00 \$327,933.00	13947.00 8277.00
			3	\$39.62	\$927,933.00	24403.00
			4	\$45.00	\$432,900.00	9620.00
			STATE	\$39.18	\$2,203,941.97	56247.00
502M04.01	SAWING CONCRETE PAVEMENT (FULL DEPT	m	2	\$24.00	\$480.00	20.00
302M01.01	DAWING CONCRETE TAVERENT (FOLL DELT	ш	3	\$15.44	\$3,088.00	200.00
			STATE	\$16.22	\$3,568.00	220.00
602M03	STEEL STRUCTURES	LS	2	\$2,599,776.38	\$2,599,776.38	1.00
0021100			STATE	\$2,599,776.38	\$2,599,776.38	1.00
602M04.01	STL STRUCTURES	LS	3	\$69,293.62	\$69,293.62	1.00
			STATE	\$69,293.62	\$69,293.62	1.00
602M04.02	STL STRUCTURES	LS	3	\$1,130,339.63	\$1,130,339.63	1.00
			STATE	\$1,130,339.63	\$1,130,339.63	1.00
602M04.03	STL STRUCTURES	LS	3	\$991,234.39	\$991,234.39	1.00
			STATE	\$991,234.39	\$991,234.39	1.00
602M10.42	STEEL BEAM	m	3	\$0.00	\$0.00	12498.00
			STATE	\$0.00	\$0.00	12498.00
603M02.01	REPNTG EX STEEL STRUCTURES	LS	3	\$6,483.25	\$6,483.25	1.00
			STATE	\$6,483.25	\$6,483.25	1.00
604M01.01	CLASS A CONCRETE (ROADWAY)	m3	1	\$390.56	\$942,808.00	2414.00
			2	\$383.61	\$178,763.00	466.00
			3	\$308.70	\$150,026.16	486.00
			4	\$354.83	\$550,694.38	1552.00
CO 43501 00	CHIEF DAD DEINEODGEMENT (DOADUAY)	1	STATE	\$370.54	\$1,822,291.54	4918.00
604M01.02	STEEL BAR REINFORCEMENT (ROADWAY)	kg	1	\$0.95	\$247,672.32	260064.00
			2	\$0.99	\$53,067.81	53517.00
			3 4	\$0.81 \$0.97	\$4,580.55 \$171,465.22	5679.00 177626.00
			STATE	\$0.96	\$476,785.90	496886.00
604M01.04	38mm STEEL PIPE HANDRAIL	m	SIAIE 1	\$139.86	\$9,650.00	69.00
JUINUI.UI	JOHN DIEED IIIE HANDKAID	111	STATE	\$139.86	\$9,650.00	69.00
604M01.05	50mm PIPE HAND RAIL	m	3	\$233.00	\$47,532.00	204.00
		•••	STATE	\$233.00	\$47,532.00	204.00
604M02.01	CLASS A CONCRETE (BOX BRIDGES)	m3	1	\$338.05	\$264,358.00	782.00
	(-		,	, , , , , , , , , , , , , , , , , , , ,	

Item		Unit of		Average	Total	Total
Number	Description	Measure	Region	Unit Price	Cost	Quantity
			2	\$374.88	\$382,188.00	1019.50
			3	\$274.48	\$236,050.88	860.00
			4	\$308.55	\$515,894.60	1672.00
			STATE	\$322.72	\$1,398,491.48	4333.50
604M02.02	STEEL BAR REINFORCEMENT (BOX BRIDGE	kq	1	\$0.96	\$98,107.28	101882.00
	(5	2	\$1.01	\$120,251.17	118785.00
			3	\$0.76	\$86,267.47	113823.00
			4	\$0.93	\$161,909.55	174664.00
			STATE	\$0.92	\$466,535.47	509154.00
604M02.03	EPOXY COATED REINFORCING STEEL	kg	1	\$1.15	\$94,273.55	81977.00
		5	2	\$1.03	\$624,822.87	606192.00
			3	\$1.04	\$2,576,789.22	2487052.00
			4	\$1.12	\$820,213.60	729188.00
			STATE	\$1.05	\$4,116,099.24	3904409.00
604M03.01	CLASS A CONCRETE (BRIDGES)	m3	1	\$286.95	\$648,511.00	2260.00
	, ,		2	\$403.67	\$903,007.36	2237.00
			3	\$252.56	\$3,049,382.78	12074.00
			4	\$387.04	\$784,525.00	2027.00
			STATE	\$289.57	\$5,385,426.14	18598.00
604M03.02	STEEL BAR REINFORCEMENT (BRIDGES)	kg	1	\$1.02	\$137,931.93	135198.00
		J	2	\$0.86	\$196,817.19	228985.00
			3	\$0.75	\$1,153,683.09	1543818.00
			4	\$0.98	\$193,389.81	196995.00
			STATE	\$0.80	\$1,681,822.02	2104996.00
604M03.04	PAVEMENT @ BRIDGE ENDS	m2	1	\$160.00	\$49,280.00	308.00
			2	\$153.22	\$315,334.08	2058.00
			3	\$134.50	\$569,741.68	4236.00
			4	\$188.16	\$221,835.00	1179.00
			STATE	\$148.59	\$1,156,190.76	7781.00
604M03.09	CLASS D CONCRETE (BRIDGE DECK)	m3	1	\$395.00	\$195,920.00	496.00
			2	\$362.14	\$1,385,172.00	3825.00
			3	\$305.92	\$4,336,063.67	14174.00
			4	\$351.42	\$1,635,516.00	4654.00
			STATE	\$326.26	\$7,552,671.67	23149.00
604M03.25	CLASS S CONCRETE (FOUNDATION SEAL)	m3	3	\$50.00	\$60,500.00	1210.00
			STATE	\$50.00	\$60,500.00	1210.00
604M04.01	APPLIED TEXTURE FINISH (NEW STRUCTU	m2	1	\$5.86	\$17,908.50	3054.00
			2	\$4.06	\$27,385.04	6745.00
			3	\$4.40	\$688,989.16	156733.00
			4	\$4.40	\$100,939.66	22956.00
			STATE	\$4.41	\$835,222.36	189488.00
604M04.02	APPL TEXTURE FINISH (EX STRUCTURES)	m2	3	\$4.36	\$57,041.88	13083.00
			STATE	\$4.36	\$57,041.88	13083.00
604M04.62	CLN & TEXTURE FINISH CONCRETE MEDIA	m	3	\$13.42	\$17,996.22	1341.00
			STATE	\$13.42	\$17,996.22	1341.00
604M05.31	BRIDGE DECK GROOVING (MECHANICAL)	m2	2	\$1.57	\$20,697.39	13149.00
			3	\$1.51	\$84,303.33	55859.00
			4	\$1.35	\$23,836.61	17677.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
604M07.01	RETAINING WALL	m2	STATE 1 2	\$1.49 \$380.00 \$614.22	\$128,837.33 \$64,980.00 \$1,776,941.00	86685.00 171.00 2893.00
604M07.02	RETAINING WALL	m2	3 STATE 1	\$370.05 \$557.87 \$465.00	\$261,258.01 \$2,103,179.01 \$39,990.00	706.00 3770.00 86.00
604405.00			2 3 STATE	\$805.23 \$384.64 \$676.00	\$1,293,195.00 \$250,016.70 \$1,583,201.70	1606.00 650.00 2342.00
604M07.03	RETAINING WALL	m2	2 3 STATE	\$719.37 \$495.57 \$698.26	\$1,477,595.00 \$106,052.77 \$1,583,647.77	2054.00 214.00 2268.00
604M07.04	RETAINING WALL	m2	2 3 STATE	\$915.00 \$385.69 \$698.37	\$1,027,545.00 \$300,065.10 \$1,327,610.10	1123.00 778.00 1901.00
604M07.05	RETAINING WALL	m2	2 3 STATE	\$340.00 \$379.81 \$348.96	\$378,080.00 \$122,678.63 \$500,758.63	1112.00 323.00 1435.00
604M07.06	RETAINING WALL	m2 m2	2 3 STATE	\$400.00 \$334.41 \$362.32	\$89,200.00 \$100,657.41 \$189,857.41	223.00 301.00 524.00
604M07.08	RETAINING WALL	m2	2 3 STATE 3	\$370.00 \$350.48 \$355.86 \$391.65	\$49,580.00 \$123,368.96 \$172,948.96 \$497,395.50	134.00 352.00 486.00 1270.00
604M07.09	RETAINING WALL	m2	STATE 3 STATE	\$391.65 \$391.65 \$448.36 \$448.36	\$497,395.50 \$497,395.50 \$492,747.64 \$492,747.64	1270.00 1270.00 1099.00 1099.00
604M07.10	RETAINING WALL	m2 m2	3 STATE 3	\$376.54 \$376.54 \$395.47	\$72,295.68 \$72,295.68 \$117,059.12	192.00 192.00 296.00
604M07.12	RETAINING WALL	m2	STATE 3 STATE	\$395.47 \$437.85 \$437.85	\$117,059.12 \$669,910.50 \$669,910.50	296.00 1530.00 1530.00
604M07.13	RETAINING WALL	m2 m2	3 STATE 3	\$367.25 \$367.25 \$378.84	\$52,516.75 \$52,516.75 \$52,516.75 \$397,403.16	143.00 143.00 1049.00
604M07.15	RETAINING WALL	m2	STATE 3 STATE	\$378.84 \$379.06 \$379.06	\$397,403.16 \$344,565.54 \$344,565.54	1049.00 909.00 909.00
604M07.16 604M07.17	RETAINING WALL	m2 m2	3 STATE 3	\$361.90 \$361.90 \$345.95	\$108,208.10 \$108,208.10 \$169,861.45	299.00 299.00 491.00
604M07.18	RETAINING WALL	m2	STATE 3 STATE	\$345.95 \$390.04 \$390.04	\$169,861.45 \$457,516.92 \$457,516.92	491.00 1173.00 1173.00
604M07.19	RETAINING WALL	m2	3 STATE	\$426.84 \$426.84	\$279,153.36 \$279,153.36	654.00 654.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
Number	Description	Measure	Region	Unit Price	COSC	Qualitity
604M07.20	RETAINING WALL	m2	3	\$320.00	\$80,000.00	250.00
			STATE	\$320.00	\$80,000.00	250.00
604M10.30	BRIDGE DECK REPAIRS (FULL DEPTH OF	m2	3	\$128.90	\$3,480.30	27.00
			STATE	\$128.90	\$3,480.30	27.00
604M10.32	EXPANSION JOINT REPAIRS (TYPE A)	m	3	\$543.77	\$15,225.56	28.00
			STATE	\$543.77	\$15,225.56	28.00
604M10.44	EXPANSION JOINT REPAIRS	m	3	\$56.88	\$1,478.88	26.00
		_	STATE	\$56.88	\$1,478.88	26.00
604M10.50	BRIDGE DECK REPAIRS (PARTIAL DEPTH	m2	3	\$79.88	\$14,138.76	177.00
CO 43/10 F 4	CONCRETE DEPATRS	0	STATE	\$79.88	\$14,138.76	177.00
604M10.54	CONCRETE REPAIRS	m2	3	\$261.35	\$3,397.55	13.00
604M11.01	EXPANSION DEVICE	m	STATE 2	\$261.35 \$339.63	\$3,397.55 \$15,962.61	13.00 47.00
OO4MII.UI	EXPANSION DEVICE	m	3	\$2,200.00	\$66,000.00	30.00
			4	\$2,200.00	\$152,000.00	76.00
			STATE	\$1,529.17	\$233,962.61	153.00
604M11.02	EXPANSION DEVICE	m	3	\$3,772.16	\$60,354.56	16.00
0011111101		•••	STATE	\$3,772.16	\$60,354.56	16.00
604M11.03	EXPANSION DEVICE	m	3	\$686.96	\$46,026.32	67.00
			STATE	\$686.96	\$46,026.32	67.00
604M11.04	EXPANSION DEVICE	m	3	\$2,248.69	\$107,937.12	48.00
			STATE	\$2,248.69	\$107,937.12	48.00
604M11.05	EXPANSION DEVICE	m	3	\$2,418.81	\$31,444.53	13.00
			STATE	\$2,418.81	\$31,444.53	13.00
604M11.06	EXPANSION DEVICE	m	3	\$2,411.85	\$36,177.75	15.00
			STATE	\$2,411.85	\$36,177.75	15.00
604M15.01	PORTLAND CEMENT GROUT	m3	2	\$275.00	\$3,025.00	11.00
			4	\$175.00	\$5,250.00	30.00
CO 4342 0	I BURL ING. GONGDERD	2	STATE	\$201.83	\$8,275.00	41.00
604M32	LEVELING CONCRETE	m3	3	\$500.00	\$13,000.00	26.00 26.00
604M36	SCARIFYING	m2	STATE 1	\$500.00 \$3.00	\$13,000.00 \$2,871.00	957.00
004M30	SCARIFIING	IIIZ	3	\$6.19	\$34,230.70	5530.00
			STATE	\$5.72	\$37,101.70	6487.00
606M02.01	TEST PILES (STEEL PILES, 250mm)	m	4	\$75.00	\$16,875.00	225.00
0001102.01	THE TIME (STILL TIME) 250mm	***	STATE	\$75.00	\$16,875.00	225.00
606M02.02	LOADING TEST (STEEL PILES, 250mm)	EACH	4	\$2,000.00	\$4,000.00	2.00
	,		STATE	\$2,000.00	\$4,000.00	2.00
606M02.03	STEEL PILES (250mm)	m	1	\$56.48	\$180,049.50	3188.00
			2	\$63.05	\$122,250.21	1939.00
			3	\$53.85	\$257,620.80	4784.00
			4	\$40.00	\$140,720.00	3518.00
			STATE	\$52.17	\$700,640.51	13429.00
606M02.06	PILE TIPS (STEEL PILES, 250mm)	EACH	1	\$60.00	\$13,620.00	227.00
			2	\$60.00	\$2,160.00	36.00
			3	\$63.60	\$33,009.96	519.00
606M02 02	CTEEL DIEC (200~~-)		STATE	\$62.39	\$48,789.96	782.00
606M03.03	STEEL PILES (300mm)	m	2	\$68.07	\$103,466.40	1520.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
			3	\$54.56	\$102,463.68	1878.00
			STATE	\$60.60	\$205,930.08	3398.00
606M03.06	PILE TIPS (STEEL PILES, 300mm)	EACH	3	\$64.85	\$14,720.95	227.00
	1111 (21111 11111)	211011	STATE	\$64.85	\$14,720.95	227.00
606M09.01	TEST PILES (PRECAST CONCRETE, SIZE	m	4	\$113.76	\$18,202.00	160.00
			STATE	\$113.76	\$18,202.00	160.00
606M09.02	LOADING TEST (PRECAST CONCRETE, SIZ	EACH	4	\$2,375.00	\$9,500.00	4.00
			STATE	\$2,375.00	\$9,500.00	4.00
606M09.03	PRECAST CONCRETE PILES (SIZE 1)	m	4	\$62.38	\$178,776.00	2866.00
			STATE	\$62.38	\$178,776.00	2866.00
606M12.01	PILE ANCHORAGE SYSTEM (SEISMIC)	EACH	4	\$79.74	\$18,180.00	228.00
			STATE	\$79.74	\$18,180.00	228.00
606M20.10	TEST PILES - STEEL PIPE PILES	m	4	\$325.00	\$141,050.00	434.00
COCMOO 00	TOADTNO MEGM. CMEET DIDE DITEO	E 2 CI I	STATE	\$325.00	\$141,050.00	434.00
606M20.20	LOADING TEST - STEEL PIPE PILES	EACH	4 STATE	\$2,000.00 \$2,000.00	\$4,000.00 \$4,000.00	2.00 2.00
606M20.30	STEEL PIPE PILES	m	STATE 4	\$2,000.00	\$868,800.00	4344.00
000M20.30	SIEGH PIPE PIHES	m	STATE	\$200.00	\$868,800.00	4344.00
606M24.12	TEMPORARY SHEET PILES	m2	4	\$78.00	\$53,664.00	688.00
0001121.12	TEMIORARI BILLET TILLED	шь	STATE	\$78.00	\$53,664.00	688.00
607M02.02	375mm CONCRETE PIPE CULVERT (CLASS	m	1	\$65.00	\$2,145.00	33.00
	· · · · · · · · · · · · · · · · · · ·		STATE	\$65.00	\$2,145.00	33.00
607M03.02	450mm CONCRETE PIPE CULVERT (CLASS	m	1	\$92.18	\$583,070.00	6325.00
			2	\$97.88	\$763,097.87	7796.00
			3	\$80.76	\$753,392.20	9329.00
			4	\$70.80	\$230,305.00	3253.00
			STATE	\$87.25	\$2,329,865.07	26703.00
607M03.03	450mm CONCRETE PIPE CULVERT (CLASS	m	1	\$97.00	\$970.00	10.00
			4	\$78.00	\$1,014.00	13.00
			STATE	\$86.26	\$1,984.00	23.00
607M03.05	450mmCNC PIPE CULV(CL IV)JACKED-IN-	m	3	\$2,584.44	\$131,806.44	51.00
C07M02 20	AFO DIDE CHILIPPE		STATE	\$2,584.44	\$131,806.44	51.00
607M03.30	450mm PIPE CULVERT	m	1	\$72.00	\$19,152.00 \$5,639.20	266.00
			3 4	\$74.20 \$73.00	\$949.00	76.00 13.00
			STATE	\$73.00	\$25,740.20	355.00
607M05.02	600mm CONCRETE PIPE CULVERT (CLASS	m	1	\$125.22	\$473,192.00	3779.00
0071103.02	TOTAL CONTROLL THE CONTROL (CINED	***	2	\$118.61	\$194,749.75	1642.00
			3	\$111.07	\$382,860.84	3447.00
			4	\$95.62	\$95,622.00	1000.00
			STATE	\$116.18	\$1,146,424.59	9868.00
607M05.30	600mm PIPE CULVERT	m	1	\$90.00	\$22,590.00	251.00
			STATE	\$90.00	\$22,590.00	251.00
607M06.02	750mm CONCRETE PIPE CULVERT (CLASS	m	1	\$155.04	\$253,329.00	1634.00
			2	\$150.00	\$27,300.00	182.00
			3	\$140.61	\$30,231.60	215.00
			4	\$120.50	\$51,092.00	424.00
			STATE	\$147.43	\$361,952.60	2455.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
	1 1 1		- 5			~
607M06.05	750mmCNC PIPE CLV(CL IV)JACKED-IN-P	m	3	\$2,986.00	\$77,636.00	26.00
			STATE	\$2,986.00	\$77,636.00	26.00
607M06.30	750mm PIPE CULVERT	m	1	\$146.00	\$20,440.00	140.00
605-05-00			STATE	\$146.00	\$20,440.00	140.00
607M07.02	900mm CONCRETE PIPE CULVERT (CLASS	m	1	\$205.55	\$170,814.00	831.00
			2	\$250.00	\$96,250.00	385.00
			3	\$174.76	\$191,192.80	1094.00
			4	\$160.00	\$47,520.00	297.00
60000000000	000		STATE	\$194.01	\$505,776.80	2607.00
607M07.30	900mm PIPE CULVERT	m	1	\$138.00	\$23,736.00	172.00
600000000	1050		STATE	\$138.00	\$23,736.00	172.00
607M08.02	1050mm CONCRETE PIPE CULVERT (CLASS	m	1	\$241.39	\$90,761.00	376.00
			2	\$269.67	\$55,012.00	204.00
			3	\$253.00	\$43,516.65	172.00
			4	\$203.00	\$41,412.00	204.00
600000000	1050 001701111 1111 01111111 (01110		STATE	\$241.32	\$230,701.65	956.00
607M08.03	1050mm CONCRETE PIPE CULVERT (CLASS	m	1	\$327.00	\$17,985.00	55.00
			4	\$231.00	\$6,699.00	29.00
6057600 05	1050 000 000 0000 0000 10000 0		STATE	\$293.86	\$24,684.00	84.00
607M08.05	1050mmCNC PIPE CULV (CL IV)JACKED-I	m	2	\$2,200.00	\$154,000.00	70.00
6087600 20	1050 DIDE CHILIPPE		STATE	\$2,200.00	\$154,000.00	70.00
607M08.30	1050mm PIPE CULVERT	m	1	\$175.00	\$24,150.00	138.00
6078600 00	1000 CONCRETE DIDE CHILDRE / CLACC		STATE	\$175.00	\$24,150.00	138.00
607M09.02	1200mm CONCRETE PIPE CULVERT (CLASS	m	1	\$291.43	\$155,624.00	534.00
			2	\$323.63	\$29,450.00	91.00
			3 4	\$273.45	\$12,305.25	45.00
			-	\$247.00	\$39,273.00	159.00
6071400 03	1000 CONCRETE DIDE CHILDER / CLACC		STATE 4	\$285.47	\$236,652.25	829.00
607M09.03	1200mm CONCRETE PIPE CULVERT (CLASS	m	-	\$286.00	\$27,742.00	97.00
6071400 04	1000 CONCRETE DIDE CHIMEDE / CLACC		STATE	\$286.00	\$27,742.00	97.00
607M09.04	1200mm CONCRETE PIPE CULVERT (CLASS	m	4 STATE	\$350.00	\$44,800.00	128.00 128.00
607M09.05	1000mmana DIDE GIIII (GI III) TAGKED I		SIAIE 2	\$350.00	\$44,800.00	22.00
607M09.05	1200mmCNC PIPE CULV (CL IV)JACKED-I	m	Z STATE	\$2,300.00	\$50,600.00	22.00
607M10.02	1350mm CONCRETE PIPE CULVERT (CLASS	m	SIAIE 2	\$2,300.00 \$393.00	\$50,600.00 \$78,600.00	200.00
60/MI0.02	1350IIIII CONCRETE PIPE COLVERT (CLASS	m	4	\$280.00	\$105,280.00	376.00
			STATE	\$319.24	\$183,880.00	576.00
607M10.03	1350mm CONCRETE PIPE CULVERT (CLASS	m	2	\$445.00	\$18,245.00	41.00
00/MI0.03	1330 IIIII CONCRETE PIPE COLVERT (CLASS	Ш	4	\$370.00	\$48,100.00	130.00
			STATE	\$370.00	\$66,345.00	171.00
607M11.03	1500mm CONCRETE PIPE CULVERT (CLASS	m	1	\$397.89	\$45,360.00	114.00
0071111:03	1300mm CONCRETE FIFE COLVERT (CLASS	ш	2	\$450.00	\$50,850.00	113.00
			3	\$391.27	\$1,956.35	5.00
			4	\$450.00	\$13,500.00	30.00
			STATE	\$426.21	\$111,666.35	262.00
607M11.06	1500mmCNC PIPE CULV (CL IV)JACKED-I	m	2	\$3,200.00	\$192,000.00	60.00
00/1111.00	1000 mmono 1111 Colly (Cl 17) Official 1		STATE	\$3,200.00	\$192,000.00	60.00
607M16.01	575mmX350mmHORIZONTAL OVAL CNC PIPE	m	3	\$84.70	\$15,330.26	181.00

Item Number De	escription	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
			3			2
			STATE	\$84.70	\$15,330.26	181.00
607M16.02 75	50mmX475mmHORIZONTAL OVAL CNC PIPE	m	1	\$145.00	\$7,830.00	54.00
			2	\$210.00	\$8,400.00	40.00
			3	\$128.32	\$59,154.80	461.00
			STATE	\$135.83	\$75,384.80	555.00
607M16.04 95	50mmX600mmHORIZONTAL OVAL CNC PIPE	m	1	\$230.20	\$49,493.00	215.00
			2	\$280.00	\$10,640.00	38.00
			3	\$154.45	\$7,568.05	49.00
			STATE	\$224.18	\$67,701.05	302.00
607M16.06 11	125mmX725mmHORIZNTL OVAL CNC PIPE	m	1	\$390.00	\$8,970.00	23.00
			STATE	\$390.00	\$8,970.00	23.00
607M16.07 12	225mmX800mmHORIZNTL OVAL CNC PIPE	m	1	\$257.00	\$30,069.00	117.00
			STATE	\$257.00	\$30,069.00	117.00
607M16.11 19	900mmX1200mmHORIZNTL OVAL CNC PIPE	m	2	\$550.00	\$251,900.00	458.00
			STATE	\$550.00	\$251,900.00	458.00
607M20.01 45	50mm CROSSDRN P CLV(COLLECTORS&LOC	m	2	\$100.00	\$8,700.00	87.00
			STATE	\$100.00	\$8,700.00	87.00
607M21.01 45	50mmCROSSDRN P CLV(LOC RDS UN 1000	m	2	\$105.00	\$4,200.00	40.00
			STATE	\$105.00	\$4,200.00	40.00
607M21.04 90	OmmCROSSDRN P CLV(LOC RDS UN 1000	m	2	\$200.00	\$3,200.00	16.00
6051125 00 45	-		STATE	\$200.00	\$3,200.00	16.00
607M37.02 45	50mm CORRUGATED METAL PIPE CULVERT	m	2	\$250.00	\$2,250.00	9.00
			3	\$65.70	\$1,576.80	24.00
			4	\$75.00	\$1,350.00	18.00
C07M27 02 C0	O CORRIGATED METAL DIDE CHILDER		STATE	\$101.51	\$5,176.80	51.00
607M37.03 60	00mm CORRUGATED METAL PIPE CULVERT	m	1	\$90.00 \$77.22	\$8,640.00 \$5,714.28	96.00 74.00
			STATE	\$84.44	\$14,354.28	170.00
607M37.05 90	Omm CORRUGATED METAL PIPE CULVERT	m	SIAIE 1	\$135.00	\$12,555.00	93.00
00/M3/.03	JOHN CORROGATED METAL PIPE COLVERT	ш	STATE	\$135.00	\$12,555.00	93.00
607M37.06 10	050mm CORRUGATED METAL PIPE CULVER	m	1	\$165.00	\$12,870.00	78.00
0071437.00	JOURNAL CONTROLLED METAL TITE COLVER	111	3	\$106.00	\$1,908.00	18.00
			STATE	\$153.94	\$14,778.00	96.00
607M37.07 12	200mm CORRUGATED METAL PIPE CULVER	m	3	\$143.00	\$11,440.00	80.00
			STATE	\$143.00	\$11,440.00	80.00
607M37.09 15	500mm CORRUGATED METAL PIPE CULVER	m	1	\$181.00	\$2,896.00	16.00
			2	\$300.00	\$600.00	2.00
			STATE	\$194.22	\$3,496.00	18.00
607M37.10 16	550mm CORRUGATED METAL PIPE CULVER	m	3	\$233.20	\$32,181.60	138.00
			STATE	\$233.20	\$32,181.60	138.00
607M39.02 45	50mm PIPE CULVERT (SIDE DRAIN)	m	1	\$49.08	\$39,802.90	811.00
			2	\$69.19	\$40,822.00	590.00
			3	\$63.06	\$20,115.80	319.00
			4	\$51.54	\$16,854.00	327.00
			STATE	\$57.45	\$117,594.70	2047.00
607M39.03 60	Omm PIPE CULVERT (SIDE DRAIN)	m	1	\$65.91	\$24,124.40	366.00
			2	\$102.96	\$5,045.00	49.00
			4	\$61.49	\$4,181.00	68.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
			- 5			2
			STATE	\$69.05	\$33,350.40	483.00
607M39.04	750mm PIPE CULVERT (SIDE DRAIN)	m	1	\$86.94	\$11,041.00	127.00
			4	\$80.00	\$800.00	10.00
			STATE	\$86.43	\$11,841.00	137.00
607M39.05	900mm PIPE CULVERT (SIDE DRAIN)	m	1	\$106.21	\$3,505.00	33.00
			2	\$155.77	\$4,050.00	26.00
			3	\$83.00	\$2,075.00	25.00
			STATE	\$114.64	\$9,630.00	84.00
607M39.06	1050mm PIPE CULVERT (SIDE DRAIN)	m	1	\$136.89	\$6,160.00	45.00
			STATE	\$136.89	\$6,160.00	45.00
607M39.07	1200mm PIPE CULVERT (SIDE DRAIN)	m	1	\$115.70	\$4,628.00	40.00
			2	\$170.00	\$2,040.00	12.00
			STATE	\$128.23	\$6,668.00	52.00
607M39.08	1350mm PIPE CULVERT (SIDE DRAIN)	m	2	\$220.00	\$3,080.00	14.00
			STATE	\$220.00	\$3,080.00	14.00
607M39.09	1500mm PIPE CULVERT (SIDE DRAIN)	m	1	\$270.00	\$31,590.00	117.00
			STATE	\$270.00	\$31,590.00	117.00
607M45.02	450mm SLOTTED DRAIN PIPE	m	2	\$240.00	\$5,760.00	24.00
			STATE	\$240.00	\$5,760.00	24.00
607M50.04	PRECAST CONCRETE BOX CULVERT(3.0m X	m	2	\$1,600.00	\$59,200.00	37.00
605-50 44			STATE	\$1,600.00	\$59,200.00	37.00
607M50.11	PRECAST CONCRETE BOX CULVERT(2.4m X	m	2	\$1,315.00	\$73,640.00	56.00
605150 10			STATE	\$1,315.00	\$73,640.00	56.00
607M50.12	PRECAST CONCRETE BOX CULVERT	m	2	\$850.00	\$56,950.00	67.00
60EME0 10			STATE	\$850.00	\$56,950.00	67.00
607M50.13	PRECAST CONCRETE BOX CULVERT	m	2	•	•	458.00
CODMET 01	DETMEODGED GONG DIDE ADGIL /FE0		STATE	4120.00	40 260 00	458.00
607M57.01	REINFORCED CONC PIPE ARCH (550mmX 3	m	4	\$120.00	\$9,360.00	78.00
607M57.02	REINFORCED CONC PIPE ARCH (725mmX 4		STATE 4	\$120.00 \$130.00	\$9,360.00 \$7,280.00	78.00 56.00
00/M5/.0Z	REINFORCED CONC PIPE ARCH (725mmx 4	m	STATE	\$130.00	\$7,280.00	56.00
607M57.03	REINFORCED CONC PIPE ARCH (900mmX 5	m	SIAIE 4	\$175.00	\$5,425.00	31.00
007M37.03	REINFORCED CONC PIPE ARCH (9001111111X)	ш	STATE	\$175.00	\$5,425.00	31.00
607M57.05	REINFORCED CONC PIPE ARCH(1275mmX 7	m	4	\$310.00	\$4,650.00	15.00
0071137.03	REINFORCED CONC TITE ARCH(1275mmx 7	111	STATE	\$310.00	\$4,650.00	15.00
607M57.06	REINFORCED CONC PIPE ARCH(1450mmX 9	m	4	\$370.00	\$7,770.00	21.00
0071137.00	TELLIT ORGED CONG TITE THEORY TIS SIMILE		STATE	\$370.00	\$7,770.00	21.00
607M60.01	ENCASEMENT PIPE	m	1	\$82.24	\$3,536.32	43.00
0071100.01			STATE	\$82.24	\$3,536.32	43.00
610M07.03	450mm PIPE DRAIN (BRIDGE DRAIN)	m	2	\$70.00	\$3,500.00	50.00
0201107.00		•••	3	\$57.58	\$4,548.82	79.00
			STATE	\$62.39	\$8,048.82	129.00
610M10.40	BRIDGE DECK DRAINS	LS	3	\$54,864.46	\$54,864.46	1.00
			STATE	\$54,864.46	\$54,864.46	1.00
610M10.41	BRIDGE DECK DRAINS	LS	3	\$53,157.98	\$53,157.98	1.00
			STATE	\$53,157.98	\$53,157.98	1.00
610M10.45	DECK DRAINS	EACH	2	\$851.69	\$8,516.90	10.00
			3	\$859.97	\$1,719.94	2.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
			STATE	\$853.07	\$10,236.84	12.00
611M01.01	MANHOLES, Om - 1m DEPTH	EACH	1	\$2,420.00	\$2,420.00	1.00
			STATE	\$2,420.00	\$2,420.00	1.00
611M01.02	MANHOLES ,> 1m - 2m DEPTH	EACH	1	\$2,502.50	\$50,050.00	20.00
	·		2	\$2,360.22	\$11,801.11	5.00
			3	\$2,550.00	\$2,550.00	1.00
			4	\$2,500.00	\$7,500.00	3.00
			STATE	\$2,479.35	\$71,901.11	29.00
611M01.03	MANHOLES, > 2m - 3m DEPTH	EACH	1	\$3,000.00	\$6,000.00	2.00
			2	\$2,661.81	\$10,647.24	4.00
			3	\$2,675.00	\$5,350.00	2.00
			4	\$3,200.00	\$16,000.00	5.00
			STATE	\$2,922.86	\$37,997.24	13.00
611M01.04	MANHOLES, > 3m - 5m DEPTH	EACH	2	\$3,291.52	\$9,874.55	3.00
			4	\$7,200.00	\$7,200.00	1.00
6111101 00			STATE	\$4,268.64	\$17,074.55	4.00
611M01.20	ADJUSTMENT OF EXISTING MANHOLE	EACH	2	\$760.28	\$4,561.66	6.00
			3	\$330.00	\$660.00	2.00
C11MO1 00	CARRING BUICETNG MANUOLE	TI A CIT	STATE	\$652.71	\$5,221.66	8.00
611M01.22	CAPPING EXISTING MANHOLE	EACH	2 4	\$1,000.00	\$17,000.00	17.00
			4 STATE	\$500.00 \$947.37	\$1,000.00 \$18,000.00	2.00 19.00
611M01.75	SPECIAL MANHOLE SYSTEM	LS	SIAIE 3	\$220,000.00	\$220,000.00	1.00
OIIMOI./S	SPECIAL MANHOLE SISIEM	ПО	STATE	\$220,000.00	\$220,000.00	1.00
611M02.01	SPRING DRAIN BOX, TYPE 1	EACH	1	\$1,416.67	\$4,250.00	3.00
0111102.01	SERING DRAIN BOX, TIFE I	EACII	4	\$1,200.00	\$2,400.00	2.00
			STATE	\$1,330.00	\$6,650.00	5.00
611M02.02	SPRING DRAIN BOX, TYPE 2A	EACH	1	\$1,650.00	\$1,650.00	1.00
0111102.02	DIRING BIGHT BOH, TITE EN	211011	STATE	\$1,650.00	\$1,650.00	1.00
611M02.10	JUNCTION BOX, TYPE 1	EACH	1	\$2,050.00	\$2,050.00	1.00
	,		3	\$1,575.00	\$4,725.00	3.00
			STATE	\$1,693.75	\$6,775.00	4.00
611M02.11	JUNCTION BOX, TYPE 2	EACH	2	\$2,000.00	\$2,000.00	1.00
			3	\$1,560.00	\$1,560.00	1.00
			4	\$1,800.00	\$3,600.00	2.00
			STATE	\$1,790.00	\$7,160.00	4.00
611M02.12	JUNCTION BOX, TYPE 3	EACH	1	\$2,800.00	\$2,800.00	1.00
			4	\$5,000.00	\$5,000.00	1.00
			STATE	\$3,900.00	\$7,800.00	2.00
611M02.13	JUNCTION BOX, TYPE 4	EACH	4	\$5,500.00	\$5,500.00	1.00
64408-04			STATE	\$5,500.00	\$5,500.00	1.00
611M07.01	CLASS A CONCRETE (PIPE ENDWALLS)	m3	1	\$504.85	\$257,476.00	510.00
			2	\$568.38	\$199,500.00	351.00
			3	\$543.19	\$112,983.00	208.00
			4	\$563.12	\$233,694.22	415.00
611M07 00	CALL DYD DEIMEODGEMENT (DIDE ENDEN	le cr	STATE	\$541.55	\$803,653.22	1484.00
611M07.02	STEEL BAR REINFORCEMENT (PIPE ENDWA	kg	1 2	\$1.32 \$1.61	\$27,006.10 \$28,112.40	20533.00 17488.00
			∠	\$T.0T	940,114. 4 0	1/400.00

Item		Unit of		Average	Total	Total
Number	Description	Measure	Region	Unit Price	Cost	Quantity
			3	\$1.29	\$14,888.09	11576.00
			4	\$1.75	\$45,629.50	26033.00
			STATE	\$1.73	\$115,636.09	75630.00
611M07.03	STRUCTURAL STEEL (PIPE ENDWALLS)	kg	1	\$1.53	\$231,344.50	18313.00
011M07.03	SIROCIORAL SIEEL (PIPE ENDWALLS)	кg	2	\$4.00	\$26,800.00	6700.00
			3	\$4.39	\$39,414.50	8980.00
			4	\$2.83	\$36,953.60	13036.00
			STATE	\$7.11	\$334,512.60	47029.00
611M09.01	ADJUSTMENT OF EXISTING CATCHBASIN	EACH	2	\$1,105.16	\$4,420.65	4.00
011M09.01	ADOUGHMENT OF EXISTING CATCHEASIN	EACH	3	\$415.00	\$830.00	2.00
			STATE	\$875.11	\$5,250.65	6.00
611M09.03	CAPPING EXISTING CATCHBASIN	EACH	1	\$1,033.33	\$6,200.00	6.00
011M09.03	CAPPING EXISTING CATCHBASIN	LACI	2	\$503.31	\$503.31	1.00
			3	\$400.00	\$1,200.00	3.00
			4	\$500.00	\$500.00	1.00
			STATE	\$763.94	\$8,403.31	11.00
611M09.50	CATCH BASINS,	EACH	SIAIE 2	\$2,350.00	\$4,700.00	2.00
011M09.50	CAICH BASINS,	LACI	STATE	\$2,350.00	\$4,700.00	2.00
611M09.51	CATCH BASINS,	EACH	1	\$2,847.50	\$34,170.00	12.00
011M09.51	CAICH BASINS,	LACI	2	\$2,557.00	\$5,114.00	2.00
			3	\$3,088.97	\$18,533.82	6.00
			STATE			20.00
611M09.52	CATCH BASINS,	EACH	SIAIE 3	\$2,890.89 \$9,987.66	\$57,817.82 \$59,925.96	6.00
011M09.52	CAICH BASINS,	LACI	STATE	\$9,987.66	\$59,925.96	6.00
611M09.53	CATCH BASINS,	EACH	3	\$2,265.24	\$6,795.72	3.00
611M09.53	CAICH BASINS,	LACH	STATE	\$2,265.24	\$6,795.72	3.00
611M09.55	CATCH BASINS,	EACH	3	\$4,324.55	\$12,973.65	3.00
011M09.55	CAICH BASINS,	EACH	STATE	\$4,324.55	\$12,973.65	3.00
611M12.01	CATCH BASINS, TYPE 12, 0m - 1m DEPT	EACH	SIAIE 2	\$1,330.00	\$12,973.03	1.00
011M12.01	CAICH BASINS, TIPE 12, UM - IM DEPT	EACH	STATE	\$1,330.00	\$1,330.00	1.00
611M12.02	CATCH BASINS, TYPE 12, > 1m - 2m DE	EACH	1	\$1,626.99	\$432,780.00	266.00
011M12.02	CAICH BASINS, TIPE 12, > IIII - ZIII DE	EACH	2	\$1,572.47	\$278,327.36	177.00
			3	\$1,659.91	\$287,163.85	173.00
			4	\$1,581.58	\$60,100.00	38.00
			STATE	\$1,618.30	\$1,058,371.21	654.00
611M12.03	CATCH BASINS, TYPE 12, > 2m - 3m DE	EACH	1	\$2,636.63	\$129,195.00	49.00
0111112:03	CAICH DADING, IIIE 12, > 2m Sm DE	EACH	2	\$2,518.87	\$133,500.00	53.00
			3	\$2,310.07	\$58,624.90	25.00
			4	\$2,313.00	\$14,200.00	6.00
			STATE	\$2,522.71	\$335,519.90	133.00
611M12.04	CATCH BASINS, TYPE 12, > 3m - 4m DE	EACH	1	\$5,260.00	\$26,300.00	5.00
0111112.01	CHICH BUSING, THE 12, 7 Sill Till BE	шисп	2	\$2,992.86	\$41,900.00	14.00
			3	\$3,305.71	\$23,140.00	7.00
			4	\$4,050.00	\$8,100.00	2.00
			STATE	\$3,551.43	\$99,440.00	28.00
611M12.05	CATCH BASINS, TYPE 12, > 4m - 5m DE	EACH	1	\$2,800.00	\$5,600.00	2.00
	5 11 212 112		2	\$3,133.33	\$37,600.00	12.00
			3	\$3,800.00	\$3,800.00	1.00
			-	75,555.55	+5,000.00	1.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
611M12.06	CATCH BASINS, TYPE 12, > 5m - 6m DE	EACH	STATE 2 4	\$3,133.33 \$4,233.33 \$9,900.00	\$47,000.00 \$12,700.00 \$9,900.00	15.00 3.00 1.00
611M12.07	CATCH BASINS, TYPE 12, > 6m - 7m DE	EACH	STATE 3 STATE	\$5,650.00 \$6,000.00 \$6,000.00	\$22,600.00 \$12,000.00 \$12,000.00	4.00 2.00 2.00
611M13.02	CATCH BASINS, TYPE 13, > 1m - 2m DE	EACH	2 STATE	\$2,050.00 \$2,050.00 \$2,050.00	\$8,200.00 \$8,200.00	4.00 4.00
611M13.03	CATCH BASINS, TYPE 13, > 2m - 3m DE	EACH	2 STATE	\$2,600.00 \$2,600.00	\$2,600.00 \$2,600.00	1.00 1.00
611M14.02	CATCH BASINS, TYPE 14, > 1m - 2m DE	EACH	1 2 3 4 STATE	\$2,398.46 \$2,531.61 \$2,722.00 \$1,600.00 \$2,557.06	\$31,180.00 \$27,847.68 \$54,440.00 \$1,600.00 \$115,067.68	13.00 11.00 20.00 1.00 45.00
611M14.03	CATCH BASINS, TYPE 14, > 2m - 3m DE	EACH	1 2 3 STATE	\$5,326.00 \$2,500.00 \$3,716.67 \$4,278.00	\$26,630.00 \$5,000.00 \$11,150.00 \$42,780.00	5.00 2.00 3.00 10.00
611M14.04	CATCH BASINS, TYPE 14, > 3m - 4m DE	EACH	2 STATE	\$6,000.00 \$6,000.00	\$12,000.00 \$12,000.00	2.00 2.00
611M16.02	CATCH BASINS, TYPE 16, > 1m - 2m DE	EACH	1 3 STATE	\$3,500.00 \$3,065.00 \$3,210.00	\$3,500.00 \$6,130.00 \$9,630.00	1.00 2.00 3.00
611M16.03	CATCH BASINS, TYPE 16, > 2m - 3m DE	EACH	1 3 STATE	\$6,000.00 \$3,900.00 \$5,300.00	\$12,000.00 \$3,900.00 \$15,900.00	2.00 1.00 3.00
611M16.04	CATCH BASINS, TYPE 16, > 3m - 4m DE	EACH	3 STATE	\$4,160.00 \$4,160.00	\$4,160.00 \$4,160.00	1.00 1.00
611M17.02	CATCH BASINS, TYPE 17, > 1m - 2m DE	EACH	1 STATE	\$4,460.00 \$4,460.00	\$4,460.00 \$4,460.00	1.00
611M17.03	CATCH BASINS, TYPE 17, > 2m - 3m DE	EACH	1 3 STATE	\$4,683.33 \$3,590.00 \$4,527.14	\$28,100.00 \$3,590.00 \$31,690.00	6.00 1.00 7.00
611M25.02	CATCH BASINS, TYPE 25, > 1m - 2m DE	EACH	1 2 STATE	\$1,372.50 \$2,164.00 \$1,410.19	\$54,900.00 \$4,328.00 \$59,228.00	40.00 2.00 42.00
611M25.03	CATCH BASINS, TYPE 25, > 2m - 3m DE	EACH	1 3 STATE	\$2,400.00 \$2,640.00 \$2,424.00	\$21,600.00 \$2,640.00 \$24,240.00	9.00 1.00 10.00
611M25.04	CATCH BASINS, TYPE 25, > 3m - 4m DE	EACH	3 STATE	\$2,080.00 \$2,080.00	\$2,080.00 \$2,080.00	1.00
611M26.02	CATCH BASINS, TYPE 26, > 1m - 2m DE	EACH	1 STATE	\$2,050.00 \$2,050.00	\$6,150.00 \$6,150.00	3.00 3.00
611M28.02 611M31.02	CATCH BASINS, TYPE 28, > 1m - 2m DE CATCH BASINS, TYPE 31, > 1m - 2m DE	EACH EACH	2 STATE 3	\$4,000.00 \$4,000.00 \$3,294.90	\$4,000.00 \$4,000.00 \$46,128.60	1.00 1.00 14.00
			STATE	\$3,294.90	\$46,128.60	14.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
611M31.03	CATCH BASINS, TYPE 31, > 2m - 3m DE	EACH	3	\$3,706.76	\$7,413.52	2.00
			STATE	\$3,706.76	\$7,413.52	2.00
611M38.01	CATCH BASINS, TYPE 38, 0m - 1m DEPT	EACH	2	\$2,000.00	\$8,000.00	4.00
			4	\$994.23	\$25,850.00	26.00
			STATE	\$1,128.33	\$33,850.00	30.00
611M38.02	CATCH BASINS, TYPE 38, > 1m - 2m DE	EACH	2	\$2,000.00	\$8,000.00	4.00
			3	\$2,059.31	\$18,533.79	9.00
			4	\$1,440.00	\$7,200.00	5.00
			STATE	\$1,874.10	\$33,733.79	18.00
611M38.03	CATCH BASINS, TYPE 38, > 2m - 3m DE	EACH	2	\$3,000.00	\$6,000.00	2.00
			4	\$2,220.00	\$22,200.00	10.00
6111120 04	G1=G11 D1 G111G = T11D1 20 2 4 D1		STATE	\$2,350.00	\$28,200.00	12.00
611M38.04	CATCH BASINS, TYPE 38, > 3m - 4m DE	EACH	4	\$3,500.00	\$10,500.00	3.00
C11N720 01	CARCUI DACING ENDE 20 0 1 DEDE	E 2 CI I	STATE	\$3,500.00	\$10,500.00	3.00
611M39.01	CATCH BASINS, TYPE 39, 0m - 1m DEPT	EACH	2	\$2,000.00	\$6,000.00	3.00
			4 STATE	\$1,522.22	\$13,700.00	9.00
611M39.02	CATCH BASINS, TYPE 39, > 1m - 2m DE	EACH	SIAIE 2	\$1,641.67 \$3,000.00	\$19,700.00 \$3,000.00	12.00 1.00
011M39.02	CAICH BASINS, TIPE 39, > 1111 - 2111 DE	EACH	3	\$2,216.09	\$6,648.28	3.00
			4	\$1,336.36	\$14,700.00	11.00
			STATE	\$1,623.22	\$24,348.28	15.00
611M39.03	CATCH BASINS, TYPE 39, > 2m - 3m DE	EACH	2	\$4,000.00	\$4,000.00	1.00
011M37.03	CATCH DADING, TITE 39, 7 Zm 3m DE	EACH	4	\$2,100.00	\$2,100.00	1.00
			STATE	\$3,050.00	\$6,100.00	2.00
611M41.02	CATCH BASINS, TYPE 41, > 1m - 2m DE	EACH	3	\$2,574.14	\$7,722.42	3.00
01111110		211011	STATE	\$2,574.14	\$7,722.42	3.00
611M42.01	CATCH BASINS, TYPE 42, 0m - 1m DEPT	EACH	1	\$1,350.00	\$9,450.00	7.00
	, ,		2	\$1,367.58	\$9,573.08	7.00
			3	\$1,532.90	\$26,059.31	17.00
			4	\$1,500.00	\$1,500.00	1.00
			STATE	\$1,455.70	\$46,582.39	32.00
611M42.02	CATCH BASINS, TYPE 42, > 1m - 2m DE	EACH	1	\$1,700.00	\$78,200.00	46.00
			2	\$1,288.57	\$27,060.00	21.00
			3	\$1,870.10	\$22,441.17	12.00
			STATE	\$1,616.47	\$127,701.17	79.00
611M42.03	CATCH BASINS, TYPE 42, > 2m - 3m DE	EACH	1	\$3,200.00	\$6,400.00	2.00
			3	\$2,315.00	\$4,630.00	2.00
			STATE	\$2,757.50	\$11,030.00	4.00
611M42.05	CATCH BASINS, TYPE 42, > 4m - 5m DE	EACH	2	\$3,150.00	\$3,150.00	1.00
			STATE	\$3,150.00	\$3,150.00	1.00
611M43.02	CATCH BASINS, TYPE 43, > 1m - 2m DE	EACH	1	\$3,971.25	\$15,885.00	4.00
			2	\$3,000.00	\$3,000.00	1.00
			3	\$2,215.59	\$4,431.17	2.00
611M42 02	CATCU DACING TYPE 42 - 2- 2- DE	EV CII	STATE	\$3,330.88	\$23,316.17	7.00
611M43.03	CATCH BASINS, TYPE 43, > 2m - 3m DE	EACH	3 cmare	\$2,935.00	\$8,805.00	3.00
611M44.02	CATCH BASINS, TYPE 44, > 1m - 2m DE	EACH	STATE 1	\$2,935.00 \$10,100.00	\$8,805.00 \$20,200.00	3.00 2.00
011M44.U2	CAICH DADIND, 11FE 44, > 1M - 2M DE	LACH	1 3	\$5,150.00	\$20,200.00	1.00
			J	φυ, τυυ. υυ	φυ,±υ0.00	1.00

Item		Unit of		Average	Total	Total
Number	Description	Measure	Region	Unit Price	Cost	Quantity
			STATE	\$8,450.00	\$25,350.00	3.00
611M44.03	CATCH BASINS, TYPE 44, > 2m - 3m DE	EACH	1	\$11,370.00	\$22,740.00	2.00
611751 00	CARROLL DAGING THE FILE A 1 0 DE	E3 G11	STATE	\$11,370.00	\$22,740.00	2.00
611M51.02	CATCH BASINS, TYPE 51, > 1m - 2m DE	EACH	2 3	\$2,300.00	\$9,200.00	4.00
			STATE	\$1,853.38 \$1,924.84	\$38,920.98 \$48,120.98	21.00 25.00
611M51.03	CATCH BASINS, TYPE 51, > 2m - 3m DE	EACH	SIAIE 3	\$1,924.64	\$10,708.40	4.00
011M31.03	CAICH BASINS, TIFE SI, > Zm Sm DE	EACH	STATE	\$2,677.10	\$10,708.40	4.00
611M51.07	CATCH BASINS, TYPE 51, > 6m - 7m DE	EACH	3	\$6,177.93	\$12,355.86	2.00
0111101107	0111011 21101110, 11112 01, · 0 / 21	211011	STATE	\$6,177.93	\$12,355.86	2.00
611M51.08	CATCH BASINS, TYPE 51, > 7m - 8m DE	EACH	3	\$7,207.59	\$7,207.59	1.00
			STATE	\$7,207.59	\$7,207.59	1.00
612M05	RUSTIC STONE MASONRY	m2	3	\$353.00	\$7,766.00	22.00
			STATE	\$353.00	\$7,766.00	22.00
615M01.02	PRESTRESSED CONCRETE I-BEAM (TYPE I	m	3	\$252.52	\$71,968.20	285.00
			STATE	\$252.52	\$71,968.20	285.00
615M01.03	PRESTRESSED CONCRETE I-BEAM (TYPE I	m	2	\$253.00	\$395,945.00	1565.00
			3	\$204.15	\$331,539.60	1624.00
C1 F1401 04	DDECEDERATE CONCRETE T DELV. (TUDE T		STATE	\$228.12	\$727,484.60	3189.00
615M01.04	PRESTRESSED CONCRETE I-BEAM (TYPE I	m	2 4	\$308.50	\$594,472.00	1927.00
			4 STATE	\$318.00 \$310.22	\$135,468.00	426.00 2353.00
615M01.11	PRESTR CONC BULB TEE BM(150mmWEB)(B	m	SIAIE 4	\$290.00	\$729,940.00 \$146,160.00	2353.00 504.00
0131101.11	FRESIR COMC BODD TEE BM(130mmwEb)(b	111	STATE	\$290.00	\$146,160.00	504.00
615M01.12	PRESTR CONC BULB TEE BM(150mmWEB)(B	m	3	\$399.68	\$6,191,863.50	15492.00
0131101.12	TREBITE CONC DOLL THE BIT(130mmmlb) (B	***	4	\$315.00	\$2,153,970.00	6838.00
			STATE	\$373.75	\$8,345,833.50	22330.00
615M02.17	PRESTRESSED CONC BOX BEAM (900mmX 9	m	1	\$380.00	\$228,000.00	600.00
			STATE	\$380.00	\$228,000.00	600.00
615M02.49	PRESTRESSED CONC BOX BEAM(450mmX 12	m	3	\$338.62	\$35,893.72	106.00
			STATE	\$338.62	\$35,893.72	106.00
615M02.52	PRESTRESSED CONC BOX BEAM	m	3	\$320.04	\$52,806.60	165.00
			STATE	\$320.04	\$52,806.60	165.00
615M02.53	PRESTRESSED CONC BOX BEAM	m	3	\$342.06	\$55,071.66	161.00
617M02	BRIDGE DECK CRACK SEALING		STATE 2	\$342.06 \$16.31	\$55,071.66	161.00
01/MUZ	BRIDGE DECK CRACK SEALING	m	Z STATE	\$16.31	\$7,436.00 \$7,436.00	456.00 456.00
620M03.10	CONCRETE PARAPET	m	SIAIE 2	\$139.98	\$104,982.00	750.00
0201103.10	CONCRETE FARAFET	111	3	\$119.35	\$636,860.80	5336.00
			4	\$122.05	\$341,866.00	2801.00
			STATE	\$121.94	\$1,083,708.80	8887.00
620M03.11	CONCRETE PARAPET	m	3	\$145.55	\$796,158.50	5470.00
			STATE	\$145.55	\$796,158.50	5470.00
620M05	CONCRETE PARAPET WITH STRUCTURAL TU	m	1	\$265.00	\$67,575.00	255.00
			2	\$184.68	\$159,063.42	861.30
			3	\$415.00	\$56,440.00	136.00
6011101 01		- ~	STATE	\$226.05	\$283,078.42	1252.30
621M01.01	TEMPORARY STRUCTURE	LS	1	\$2,500.00	\$2,500.00	1.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
			STATE	\$2,500.00	\$2,500.00	1.00
621M01.02	TEMPORARY STRUCTURE	LS	1	\$1,500.00	\$1,500.00	1.00
011101101			STATE	\$1,500.00	\$1,500.00	1.00
621M01.03	TEMPORARY STRUCTURE	LS	1	\$7,500.00	\$7,500.00	1.00
			STATE	\$7,500.00	\$7,500.00	1.00
621M01.04	TEMPORARY STRUCTURE	LS	1	\$5,500.00	\$5,500.00	1.00
			STATE	\$5,500.00	\$5,500.00	1.00
621M03.02	450mm TEMPORARY DRAINAGE PIPE	m	2	\$60.00	\$2,580.00	43.00
			3	\$58.30	\$3,089.90	53.00
			4	\$2.43	\$6,220.00	2560.00
621M03.03	600mm TEMPORARY DRAINAGE PIPE		STATE 2	\$4.48 \$83.00	\$11,889.90	2656.00 42.00
621M03.03	OUUIIIII TEMPORARY DRAINAGE PIPE	m	Z STATE	\$83.00	\$3,486.00 \$3,486.00	42.00
621M03.04	750mm TEMPORARY DRAINAGE PIPE	m	2	\$110.00	\$7,480.00	68.00
0211105.01	750mm That Old Met Brettivion Titl		STATE	\$110.00	\$7,480.00	68.00
621M03.05	900mm TEMPORARY DRAINAGE PIPE	m	2	\$140.00	\$840.00	6.00
	7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7		STATE	\$140.00	\$840.00	6.00
621M03.07	1200mm TEMPORARY DRAINAGE PIPE	m	3	\$90.10	\$8,018.90	89.00
			STATE	\$90.10	\$8,018.90	89.00
621M03.10	1650mm TEMPORARY DRAINAGE PIPE	m	3	\$159.00	\$21,942.00	138.00
			STATE	\$159.00	\$21,942.00	138.00
701M01.01	CONCRETE SIDEWALK (100mm)	m2	1	\$24.63	\$440,769.50	17893.00
			2	\$21.37	\$467,730.50	21887.00
			3	\$22.88	\$222,786.72	9736.00
			4	\$24.20	\$93,847.60	3878.00
701M01.02	CONCRETE SIDEWALK (150mm)	m2	STATE 1	\$22.95 \$27.00	\$1,225,134.32 \$86,670.00	53394.00 3210.00
/01M01.02	CONCRETE SIDEWALK (ISOUUII)	IIIZ	4	\$27.80	\$14,428.20	519.00
			STATE	\$27.30	\$101,098.20	3729.00
701M02	CONCRETE DRIVEWAY	m2	1	\$37.99	\$47,600.20	1253.00
, 0 1110 1			2	\$34.85	\$61,850.00	1775.00
			3	\$35.65	\$69,384.09	1946.00
			4	\$37.70	\$8,105.50	215.00
			STATE	\$36.03	\$186,939.79	5189.00
701M02.01	CONCRETE HANDICAP RAMP (RETROFIT)	m2	2	\$54.52	\$4,525.00	83.00
			3	\$87.52	\$525.12	6.00
			4	\$53.75	\$645.00	12.00
701300 00	CONCRETE DRIVETIAN (200)	O	STATE	\$56.39	\$5,695.12	101.00
701M02.02	CONCRETE DRIVEWAY (200mm)	m2	3	\$52.70	\$18,761.20	356.00
701M03	CONCRETE MEDIAN PAVEMENT	m3	STATE 2	\$52.70 \$190.00	\$18,761.20 \$3,420.00	356.00 18.00
/ U I M U S	CONCRETE MEDIAN PAVEMENT	ıııs	3	\$288.49	\$12,405.00	43.00
			4	\$522.00	\$1,800.90	3.45
			STATE	\$273.48	\$17,625.90	64.45
702M01	CONCRETE CURB	m3	1	\$237.39	\$10,920.00	46.00
			2	\$414.18	\$17,809.80	43.00
			3	\$131.15	\$66,493.64	507.00
			STATE	\$159.77	\$95,223.44	596.00

	100.00 100.00
702M01.01 EXTRUDED MOUNTABLE CURB m 4 \$19.00 \$1,900.00	100 00
STATE \$19.00 \$1,900.00	
702M01.02 CONCRETE CURB m 4 \$100.00 \$8,500.00	85.00
STATE \$100.00 \$8,500.00	85.00
702M02 CONCRETE GUTTER m3 1 \$190.00 \$227,620.00	1198.00
STATE \$190.00 \$227,620.00	1198.00
702M03 CONCRETE COMBINED CURB & GUTTER m3 1 \$187.49 \$630,157.75	3361.00
2 \$195.12 \$615,800.60	3156.00
3 \$185.16 \$612,510.32	3308.00
4 \$211.40 \$144,808.50	685.00
	10510.00
703M01 CEMENT CONCRETE DITCH PAVING m3 1 \$53.12 \$47,650.00 2 \$250.00 \$105,750.00	897.00 423.00
2 \$250.00 \$105,750.00 3 \$403.72 \$44,409.72	110.00
4 \$294.30 \$73,575.00	250.00
STATE \$161.54 \$271,384.72	1680.00
703M02 CEM CONCRETE DITCH PAVING (REINFORC m3 2 \$300.00 \$3,600.00	12.00
STATE \$300.00 \$3,600.00	12.00
703M02.05 CEM CONC DITCH PAVING (SLOTTED DRAI m3 2 \$500.00 \$1,500.00	3.00
STATE \$500.00 \$1,500.00	3.00
705M01.01 GUARDRAIL AT BRIDGE ENDS m 1 \$114.72 \$6,195.00	54.00
2 \$99.44 \$17,899.25	180.00
3 \$95.54 \$20,446.14	214.00
4 \$86.72 \$15,696.56	181.00
STATE \$95.77 \$60,236.95	629.00
705M01.04 METAL BEAM GUARD FENCE m 3 \$61.03 \$1,159.57	19.00
4 \$134.50 \$3,093.50	23.00
STATE \$101.26 \$4,253.07	42.00
705M02.02 SINGLE GUARDRAIL (TYPE 2) m 1 \$31.78 \$322,856.00 1	L0158.00
2 \$30.69 \$114,685.50	3737.00
3 \$32.57 \$85,973.88	2640.00
4 \$30.28 \$80,990.40	2675.00
	19210.00
705M02.03 SINGLE GUARDRAIL (TYPE 2) LONG POST m 1 \$36.00 \$7,956.00	221.00
STATE \$36.00 \$7,956.00	221.00
705M04.02 GUARDRAIL TERMINAL (TYPE 12) EACH 1 \$489.57 \$11,260.00	23.00
STATE \$489.57 \$11,260.00	23.00
705M04.03 GUARDRAIL TERMINAL (TYPE 13) EACH 1 \$400.00 \$400.00	1.00
2 \$315.00 \$1,260.00	4.00
3 \$329.49 \$2,306.43	7.00
4 \$312.65 \$5,315.00 STATE \$320.05 \$9,281.43	17.00
STATE \$320.05 \$9,281.43 705M04.04 GUARDRAIL TERMINAL (TYPE 21) EACH 1 \$1,368.18 \$15,050.00	29.00 11.00
705M04.04 GOARDRAIL LERMINAL (11PE 21) EACH 1 \$1,300.16 \$15,000.00 2 \$1,707.69 \$22,200.00	13.00
3 \$1,785.00 \$3,570.00	2.00
4 \$1,410.00 \$2,820.00	2.00
STATE \$1,558.57 \$43,640.00	28.00
705M04.05 GUARDRAIL TERMINAL (TYPE-IN-LINE) EACH 1 \$357.78 \$19,320.00	54.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
	-		_			
			2	\$307.00	\$5,833.00	19.00
			3	\$378.00	\$2,268.00	6.00
			4	\$350.00	\$350.00	1.00
			STATE	\$347.14	\$27,771.00	80.00
705M04.07	TAN ENERGY ABSG TERM (NCHRP 350,TL3	EACH	1	\$1,745.38	\$181,520.00	104.00
			2	\$440.04	\$24,642.00	56.00
			3	\$1,854.04	\$50,059.02	27.00
			4	\$1,653.00	\$49,590.00	30.00
			STATE	\$1,409.27	\$305,811.02	217.00
705M07.90	REDIRECTIVE CRASH CUSHION (REACT 35	EACH	3	•	•	8.00
			STATE			8.00
705M08.65	ENERGY ABSORBING TERMINAL (PORTABLE	EACH	2	\$9,700.00	\$58,200.00	6.00
			3	\$6,205.67	\$291,666.49	47.00
			4	\$7,584.62	\$98,600.00	13.00
			STATE	\$6,794.95	\$448,466.49	66.00
705M08.70	IMPACT ATTENUATOR (QUADGUARD)	EACH	3	\$18,068.28	\$144,546.24	8.00
			STATE	\$18,068.28	\$144,546.24	8.00
705M08.71	IMPACT ATTENUATOR (TRACC)	EACH	3	•	•	8.00
			STATE			8.00
705M10.28	CONCRETE BARRIER WALL FOR BRIDGE PI	m	3	\$308.90	\$9,884.80	32.00
E0604			STATE	\$308.90	\$9,884.80	32.00
706M01	GUARDRAIL REMOVED	m	1	\$3.12	\$1,761.00	564.00
			2	\$48.16	\$141,600.00	2940.00
			3	\$4.96	\$18,377.80	3706.00
E05::01 11			STATE	\$22.43	\$161,738.80	7210.00
707M01.11	CHAIN LINK FENCE (1.8m)	m	1	\$22.90	\$29,884.50	1305.00
			2	\$19.00	\$13,395.00	705.00
			3	\$17.92	\$109,580.80	6115.00
			4	\$17.40	\$231,054.60	13279.00
707701 10	THE C CORNER DOCE AGM/CL HENGE 1 0	E 2 CI I	STATE	\$17.94	\$383,914.90	21404.00
707M01.12	END & CORNER POST ASM(CL FENCE 1.8m	EACH	1	\$95.00	\$2,660.00	28.00
			2 3	\$80.00	\$2,400.00	30.00
			4	\$82.37	\$12,684.98	154.00 179.00
			STATE	\$75.00 \$79.72	\$13,425.00 \$31,169.98	391.00
707M01.52	GATE - CL FENCE	EACH	3	\$514.83	\$3,088.98	6.00
707M01.52	GATE - CL FENCE	EACH	STATE	\$514.83	\$3,088.98	6.00
707M06.01	REMOVAL OF FENCE	m	1	\$8.20	\$6,076.20	741.00
7071100.01	REMOVAL OF FENCE	111	2	\$8.00	\$5,960.00	745.00
			3	\$8.44	\$51,213.92	6068.00
			STATE	\$8.37	\$63,250.12	7554.00
707M07.01	CHAIN-LINK FENCE (BRIDGES)	m2	2	\$96.75	\$62,790.75	649.00
7071107.01	CIMILIV BINK I BIVOL (BRIDGES)	ш	STATE	\$96.75	\$62,790.75	649.00
707M10.11	HIGH IMPACT WIRE ROPE RETAINING SYS	m	2	\$1,000.00	\$270,000.00	270.00
		•••	STATE	\$1,000.00	\$270,000.00	270.00
708M02.01	MARKERS (CONCRETE R.O.W. POSTS)	EACH	1	\$66.77	\$32,250.00	483.00
			2	\$112.57	\$40,975.00	364.00
			3	\$74.88	\$7,413.12	99.00
				•	, .	

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
			4	\$63.02	\$21,176.00	336.00
			STATE	\$79.42	\$101,814.12	1282.00
709M01.01	RUBBLE STONE RIP-RAP	m3	4	\$60.00	\$1,140.00	19.00
			STATE	\$60.00	\$1,140.00	19.00
709M01.02	RUBBLE STONE RIP-RAP	TONN	3	\$10.60	\$2,554.60	241.00
			STATE	\$10.60	\$2,554.60	241.00
709M02.01	RUBBLE STONE RIP-RAP (GROUTED)	m3	1	\$53.00	\$37,206.00	702.00
			STATE	\$53.00	\$37,206.00	702.00
709M04	REINFORCED CONCRETE SLOPE PAVEMENT	m3	2	\$382.73	\$27,556.56	72.00
			3	\$307.09	\$39,000.43	127.00
			STATE	\$334.46	\$66,556.99	199.00
709M05.05	MACHINED RIP-RAP (CLASS A-3)	TONN	3	\$20.59	\$9,656.71	469.00
			4	\$26.00	\$18,226.00	701.00
=000= 0 <i>c</i>			STATE	\$23.83	\$27,882.71	1170.00
709M05.06	MACHINED RIP-RAP (CLASS A-1)	TONN	1	\$17.73	\$247,612.36	13968.00
			2	\$12.23	\$111,033.00	9079.00
			3	\$20.98	\$39,583.20	1887.00
			4	\$24.62	\$30,106.00	1223.00
709M05.07	MACHINED RIP-RAP (CLASS A-2)	TONN	STATE	\$16.38	\$428,334.56	26157.00 12421.00
709M05.07	MACHINED RIP-RAP (CLASS A-2)	1 OININ	1 2	\$19.00 \$15.00	\$235,999.00 \$2,100.00	140.00
			3	\$25.45	\$3,639.40	143.00
			4	\$20.88	\$664,403.00	31817.00
			STATE	\$20.35	\$906,141.40	44521.00
709M05.08	MACHINED RIP-RAP (CLASS B)	TONN	1	\$20.00	\$40,060.00	2003.00
7001100:00	MACHINED KII KAL (CLADO D)	10111	2	\$10.84	\$125,064.00	11538.00
			3	\$22.18	\$85,984.15	3877.00
			4	\$26.00	\$77,740.00	2990.00
			STATE	\$16.11	\$328,848.15	20408.00
709M05.09	MACHINED RIP-RAP (CLASS C)	TONN	2	\$12.16	\$58,044.00	4773.00
			3	\$21.20	\$28,577.60	1348.00
			4	\$26.00	\$17,888.00	688.00
			STATE	\$15.35	\$104,509.60	6809.00
709M05.10	MACHINED RIP-RAP	m3	2	\$200.00	\$22,600.00	113.00
			STATE	\$200.00	\$22,600.00	113.00
710M01.99	TEMPORARY UNDERDRAIN	m	3	\$48.15	\$168,525.00	3500.00
			STATE	\$48.15	\$168,525.00	3500.00
710M02	AGGREGATE UNDERDRAINS (WITH PIPE)	m	1	\$7.50	\$214,225.06	28555.00
			2	\$5.35	\$97,799.20	18285.00
			3	\$7.09	\$172,073.52	24282.00
			4	\$8.36	\$104,490.00	12500.00
710004	ETIMED GLOMII IMDEDDDATM /MIMIL DIDE		STATE	\$7.04	\$588,587.78	83622.00
710M04	FILTER CLOTH UNDERDRAIN (WITH PIPE)	m	1	\$7.38	\$52,257.78	7081.00
			2	\$8.53	\$52,263.50	6127.00
			4 STATE	\$6.90 \$7.75	\$17,836.50 \$122,357.78	2585.00 15793.00
710M05	LATERAL UNDERDRAIN	m	SIAIE 1	\$9.18	\$15,501.55	1688.00
, TOMO 2	TATEKAL UNDEKDKATN	m	2	\$5.00	\$7,000.00	1400.00
			۷	۷۵.00	Ϋ1,000.00	1100.00

Item		Unit of		Average	Total	Total
Number	Description	Measure	Region	Unit Price	Cost	Quantity
			3	\$24.71	\$23,153.27	937.00
			4	\$5.61	\$14,230.30	2535.00
			STATE	\$9.13	\$59,885.12	6560.00
710M06.10	LATERAL UNDERDRAIN ENDWALL (1:1)	EACH	1	\$150.00	\$150.00	1.00
, 20110 0 1 2 0		211011	STATE	\$150.00	\$150.00	1.00
710M06.11	LATERAL UNDERDRAIN ENDWALL (2:1)	EACH	1	\$165.63	\$6,625.00	40.00
			2	\$150.00	\$1,800.00	12.00
			3	\$175.04	\$2,625.60	15.00
			STATE	\$164.93	\$11,050.60	67.00
710M06.12	LATERAL UNDERDRAIN ENDWALL (3:1)	EACH	1	\$176.82	\$5,835.00	33.00
			2	\$150.00	\$2,400.00	16.00
			3	\$180.19	\$1,982.09	11.00
			4	\$175.00	\$1,750.00	10.00
			STATE	\$170.96	\$11,967.09	70.00
710M06.13	LATERAL UNDERDRAIN ENDWALL (4:1)	EACH	1	\$186.71	\$6,535.00	35.00
			2	\$150.00	\$3,000.00	20.00
			3	\$185.34	\$741.36	4.00
			4	\$185.00	\$4,625.00	25.00
			STATE	\$177.40	\$14,901.36	84.00
710M06.14	LATERAL UNDERDRAIN ENDWALL (5:1)	EACH	1	\$190.00	\$950.00	5.00
			STATE	\$190.00	\$950.00	5.00
710M06.15	LATERAL UNDERDRAIN ENDWALL (6:1)	EACH	1	\$196.31	\$32,195.00	164.00
			2	\$175.00	\$24,500.00	140.00
			3	\$190.49	\$7,810.09	41.00
			4	\$196.36	\$43,200.00	220.00
			STATE	\$190.63	\$107,705.09	565.00
710M09.01	150mmPERFORATED PIPE W/VERTIC DRN S	m	1	\$48.24	\$36,803.60	763.00
			2	\$54.57	\$22,263.52	408.00
			3	\$34.12	\$13,990.20	410.00
			4	\$142.43	\$44,152.16	310.00
E102600 00	150 DIDE INDEDDRICH		STATE	\$61.98	\$117,209.48	1891.00
710M09.02	150mm PIPE UNDERDRAIN	m	1	\$48.30	\$1,787.00	37.00
			2	\$40.77	\$2,446.44	60.00
			3 4	\$18.82	\$4,233.54	225.00
			4 STATE	\$34.86 \$27.90	\$2,580.00 \$11,046.98	74.00 396.00
710M09.05	150mm ROUND PERF C.M. PIPE DRAINS(1	m	4	\$31.00	\$1,040.98	33.00
/IUMU9.03	130mm ROUND PERF C.M. PIPE DRAINS(1	m	STATE	\$31.00	\$1,023.00	33.00
711M01	CONCRETE MEDIAN BARRIER	m	3	\$118.41	\$5,920.50	50.00
/ 1 1110 1	CONCRETE MEDIAN BARRIER	ш	4	\$80.15	\$11,621.75	145.00
			STATE	\$89.96	\$17,542.25	195.00
711M01.02	CONCRETE HALF MEDIAN BARRIER	m	2	\$230.00	\$68,540.00	298.00
, , 0 _ , 0 _			3	\$95.24	\$40,762.72	428.00
			STATE	\$150.55	\$109,302.72	726.00
711M01.04	CONCRETE BARRIER WALL	m	3	\$118.41	\$7,578.24	64.00
			STATE	\$118.41	\$7,578.24	64.00
711M02.04	REINFORCED CNC MEDIAN B.R	m	3	\$118.41	\$2,368.20	20.00
			STATE	\$118.41	\$2,368.20	20.00
				•		

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
			- 5			2
711M02.05	REINFORCED CNC MEDIAN B.R	m	3	\$170.44	\$35,281.08	207.00
			STATE	\$170.44	\$35,281.08	207.00
711M04.05	CONCRETE GLARE SCREEN (MEDIAN BARR	m	3	\$57.66	\$77,322.06	1341.00
=440= 04			STATE	\$57.66	\$77,322.06	1341.00
711M05.01	RMVL & DISPOSAL CONCRETE MEDIAN BAR	m	3	\$16.99	\$29,120.86	1714.00
E1126E E0	CINCLE CLODE WEDLIN DADDIED WALL		STATE	\$16.99	\$29,120.86	1714.00
711M05.70	SINGLE SLOPE MEDIAN BARRIER WALL	m	3	\$178.39	\$292,202.82	1638.00
711760	CCL CLD MED MAD WALL (DD DD DDCE)		STATE	\$178.39	\$292,202.82	1638.00
711M05.71	SGL SLP MED MAR WALL(BR PR PROT)	m	3	\$308.90	\$23,476.40	76.00
711M05.90	EVDANCION TOINE EOD CONCDETE MEDIAN	E A CII	STATE 3	\$308.90	\$23,476.40	76.00 12.00
/11M03.90	EXPANSION JOINT FOR CONCRETE MEDIAN	EACH	STATE	\$154.45 \$154.45	\$1,853.40 \$1,853.40	12.00
712M01	TRAFFIC CONTROL	LS	SIAIE 1	\$26,420.00	\$264,200.00	10.00
/ 1 Z M O 1	TRAFFIC CONTROL	цо	2	\$66,313.81	\$265,255.22	4.00
			3	\$49,515.94	\$346,611.58	7.00
			4	\$33,250.00	\$133,000.00	4.00
			STATE	\$40,362.67	\$1,009,066.80	25.00
712M02.02	INTERCONNECTED PORTABLE BARRIER RAI	m	1	\$63.54	\$98,360.00	1548.00
			2	\$57.57	\$362,980.00	6305.00
			3	\$47.57	\$723,214.52	15203.00
			4	\$32.63	\$79,514.00	2437.00
			STATE	\$49.58	\$1,264,068.52	25493.00
712M02.45	INTERCONNCTD PRT BARR RAIL(TO REMAI	m	3	\$67.55	\$16,684.85	247.00
			STATE	\$67.55	\$16,684.85	247.00
712M04.01	FLEXIBLE DRUMS (CHANNELIZING)	EACH	1	\$28.05	\$51,077.50	1821.00
			2	\$10.85	\$36,415.64	3357.00
			3	\$34.82	\$52,123.67	1497.00
			4	\$24.69	\$22,176.00	898.00
			STATE	\$21.36	\$161,792.81	7573.00
712M05.01	WARNING LIGHTS (TYPE A)	EACH	1	\$55.60	\$9,786.10	176.00
			2	\$34.10	\$29,833.80	875.00
			3	\$66.22	\$4,569.50	69.00
			4	\$39.39	\$3,860.00	98.00
=400= 00			STATE	\$39.45	\$48,049.40	1218.00
712M05.03	WARNING LIGHTS (TYPE C)	EACH	1	\$51.31	\$8,620.00	168.00
			2	\$81.77	\$20,033.00	245.00
			3	\$96.93	\$43,522.98	449.00
			-	\$41.83	\$20,080.00	480.00
71 2M06	CTONG (CONCEDIOTION)	m ?	STATE	\$68.75	\$92,255.98	1342.00
712M06	SIGNS (CONSTRUCTION)	m2	1 2	\$66.76 \$104.14	\$36,249.30 \$43,948.56	543.00 422.00
			3	\$104.14	\$18,176.70	171.60
			4	\$85.06	\$20,216.65	237.68
			STATE	\$86.29	\$118,591.21	1374.28
712M06.01	VERTICAL PANELS	m2	1	\$204.69	\$7,860.00	38.40
. 121100.01	,		2	\$166.01	\$20,751.28	125.00
			3	\$159.50	\$38,139.04	239.12
			4	\$110.91	\$13,231.34	119.30
			=	7 == 0 . > =	4-2,202.01	======

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
Namber	Descripcion	Measure	Region	OHIC FIICE	COSC	Qualitity
			STATE	\$153.27	\$79,981.66	521.82
712M06.10	NEW SIGNS (CONSTRUCTION)	m2	1	\$108.00	\$10,584.00	98.00
			3	\$95.77	\$20,302.74	212.00
			STATE	\$99.63	\$30,886.74	310.00
712M06.16	SIGNS (CNSTR)(REDUCED SPEED WARNING	EACH	1	\$218.00	\$872.00	4.00
			3	\$741.35	\$5,930.80	8.00
			STATE	\$566.90	\$6,802.80	12.00
712M07.03	TEMPORARY BARRICADES (TYPE III)	m	1	\$75.19	\$39,926.45	531.00
			2	\$48.03	\$20,219.08	421.00
			3	\$46.96	\$9,579.48	204.00
			4	\$43.16	\$14,071.70	326.00
			STATE	\$56.54	\$83,796.71	1482.00
712M08.03	ARROW BOARD (TYPE C)	EACH	1	\$2,225.38	\$28,930.00	13.00
			2	\$2,525.00	\$30,300.00	12.00
			3	\$5,750.00	\$23,000.00	4.00
			4	\$2,257.14	\$15,800.00	7.00
			STATE	\$2,723.06	\$98,030.00	36.00
712M08.05	SERVICE PATROL	HOUR	3	\$41.19	\$123,570.00	3000.00
			STATE	\$41.19	\$123,570.00	3000.00
712M08.06	UNIFORMED POLICE OFFICER	HOUR	1	\$35.00	\$17,500.00	500.00
			3	\$53.54	\$321,240.00	6000.00
			STATE	\$52.11	\$338,740.00	6500.00
712M09.01	REMOVABLE PAVEMENT MARKING LINE	m	1	\$5.35	\$19,112.00	3570.00
			2	\$4.05	\$81,000.00	20000.00
			3	\$10.29	\$11,440.00	1112.00
			4	\$5.25	\$7,339.50	1398.00
			STATE	\$4.56	\$118,891.50	26080.00
712M09.02	REMOVABLE PAVEMENT MKG(200mm BARRIE	m	3	\$9.20	\$9,595.60	1043.00
			STATE	\$9.20	\$9,595.60	1043.00
712M09.04	REMOVABLE PAVEMENT MARKING (STOP LI	m	3	\$30.50	\$244.00	8.00
			4	\$30.00	\$240.00	8.00
			STATE	\$30.25	\$484.00	16.00
712M09.20	TEMPORARY PLASTIC PVMT MKG(NOISE ST	m	2	\$70.00	\$2,520.00	36.00
		_	STATE	\$70.00	\$2,520.00	36.00
713M01.01	CL A CNC (FOUNDATION FOR SIGN SUPPO	m3	1	\$500.00	\$500.00	1.00
			2	\$440.00	\$440.00	1.00
			3	\$774.71	\$3,098.84	4.00
F1 201 00	anne	,	STATE	\$673.14	\$4,038.84	6.00
713M01.02	STEEL B. REINFORCEM(F FOR SIGN SUPP	kg	1	\$2.50	\$485.00	194.00
			2	\$2.30	\$209.30	91.00
			3	\$4.27	\$2,297.26	538.00
712M02 04	DELINEATOD (MILE MADRED) COTTEL DO	E A CII	STATE	\$3.63	\$2,991.56	823.00
713M02.04	DELINEATOR (MILE MARKER) & STEEL PO	EACH	3	\$148.27	\$593.08	4.00
712M02 14	EIEVIDIE DELINEATOD (MILTUE)	E A CIT	STATE	\$148.27	\$593.08 \$1.697.50	4.00
713M02.14	FLEXIBLE DELINEATOR (WHITE)	EACH	1 2	\$22.50	\$1,687.50	75.00
			3	\$22.16 \$19.46	\$421.00	19.00 14.00
			3 STATE	\$19.46	\$272.44 \$2,380.94	108.00
			SIMIE	\$44.US	γΔ,30U.3 1	100.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
Number	Debeliperon	Meabare	Region	01110 111100	CODE	Qualities
713M02.15	FLEXIBLE DELINEATOR (YELLOW)	EACH	1	\$22.50	\$1,237.50	55.00
			3	\$19.46	\$252.98	13.00
			STATE	\$21.92	\$1,490.48	68.00
713M05	STEEL HOLLOW SQ PST (BKWY) SIGN SUP	kg	3	\$3.84	\$545.28	142.00
	-	J	STATE	\$3.84	\$545.28	142.00
713M06	STEEL I-BMs & WF-BMs(BKWY) SIGN SUP	kg	1	\$3.00	\$1,920.00	640.00
			2	\$3.80	\$984.20	259.00
			3	\$3.34	\$13,610.50	4075.00
			STATE	\$3.32	\$16,514.70	4974.00
713M09.01	STEEL OVERHEAD SIGN STRUCTURE	EACH	3	\$36,336.54	\$36,336.54	1.00
			STATE	\$36,336.54	\$36,336.54	1.00
713M09.02	STEEL OVERHEAD SIGN STRUCTURE	EACH	3	\$33,618.25	\$33,618.25	1.00
			STATE	\$33,618.25	\$33,618.25	1.00
713M09.03	STEEL OVERHEAD SIGN STRUCTURE	EACH	3	\$25,741.39	\$25,741.39	1.00
			STATE	\$25,741.39	\$25,741.39	1.00
713M09.04	STEEL OVERHEAD SIGN STRUCTURE	EACH	3	\$33,051.94	\$33,051.94	1.00
			STATE	\$33,051.94	\$33,051.94	1.00
713M09.05	STEEL OVERHEAD SIGN STRUCTURE	EACH	3	\$34,699.39	\$34,699.39	1.00
			STATE	\$34,699.39	\$34,699.39	1.00
713M09.06	STEEL OVERHEAD SIGN STRUCTURE	EACH	3	\$30,323.35	\$30,323.35	1.00
			STATE	\$30,323.35	\$30,323.35	1.00
713M09.07	STEEL OVERHEAD SIGN STRUCTURE	EACH	3	\$23,960.08	\$23,960.08	1.00
E4.00.0			STATE	\$23,960.08	\$23,960.08	1.00
713M09.08	STEEL OVERHEAD SIGN STRUCTURE	EACH	3	\$24,711.73	\$24,711.73	1.00
E1 21400 00	CHIEF OURDIERD CLON CHRUSHING	E3 C11	STATE	\$24,711.73	\$24,711.73	1.00
713M09.09	STEEL OVERHEAD SIGN STRUCTURE	EACH	3	\$26,668.08	\$26,668.08	1.00
71 2141 0 01	OMBELL ONDER GLON OMBUGMUDE	E 2 CI I	STATE	\$26,668.08	\$26,668.08	1.00
713M10.01	STEEL CNTLV SIGN STRUCTURE	EACH	1 2	\$21,000.00	\$21,000.00	1.00 1.00
			Z STATE	\$26,500.00 \$23,750.00	\$26,500.00 \$47,500.00	2.00
713M10.02	STEEL CNTLV SIGN STRUCTURE	EACH	2	\$26,500.00	\$26,500.00	1.00
/13M10.02	SIEEL CHILV SIGN SIRUCIURE	LACI	STATE	\$26,500.00	\$26,500.00	1.00
713M11.01	"U" SECTION STEEL POSTS	ka	1	\$4.18	\$12,207.35	2918.00
7131111.01	O SECTION STEED FOSTS	ид	2	\$3.26	\$6,756.96	2070.00
			3	\$5.83	\$6,781.68	1163.00
			4	\$3.30	\$983.40	298.00
			STATE	\$4.14	\$26,729.39	6449.00
713M11.02	PERFORATED/KNOCKOUT SQUARE TUBE POS	kq	1	\$6.59	\$11,829.70	1796.00
7 201122 7 0 2	TENTOTATED, INVOITED TO DECIME TO DE TOD	9	2	\$5.92	\$9,949.85	1681.00
			3	\$8.81	\$8,841.24	1004.00
			4	\$5.90	\$1,569.40	266.00
			STATE	\$6.78	\$32,190.19	4747.00
713M13.02	FLAT SHEET ALUMINUM SIGNS(2.032mm T	m2	1	\$152.37	\$24,531.00	161.00
	·		2	\$116.71	\$11,321.00	97.00
			3	\$114.48	\$11,448.08	100.00
			4	\$122.00	\$2,806.00	23.00
			STATE	\$131.51	\$50,106.08	381.00
713M13.03	FLAT SHEET ALUMINUM SIGNS(2.540mm T	m2	1	\$140.49	\$11,520.00	82.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
Number	Description	Measure	Region	OHIC FIICE	COSC	Qualitity
			2	\$126.30	\$6,694.00	53.00
			3	\$138.84	\$6,386.57	46.00
			4	\$138.00	\$1,104.00	8.00
			STATE	\$136.00	\$25,704.57	189.00
713M14	EXTRUDED ALUMINUM PANEL SIGNS	m2	1	\$135.00	\$6,345.00	47.00
			2	\$251.90	\$19,900.00	79.00
			3	\$143.51	\$81,226.66	566.00
			STATE	\$155.31	\$107,471.66	692.00
713M15	REMOVAL OF SIGNS, POSTS AND FOOTING	LS	1	\$337.00	\$1,685.00	5.00
			2	\$666.67	\$2,000.00	3.00
			3	\$5,266.78	\$15,800.35	3.00
			STATE	\$1,771.40	\$19,485.35	11.00
713M15.07	SUSPENDED FLAT SHT ALM SGN (2.0MM T	EACH	1	\$225.00	\$1,575.00	7.00
			3	\$126.11	\$1,008.88	8.00
54 04 5 0 0			STATE	\$172.26	\$2,583.88	15.00
713M15.09	STEEL CABLE OVERHEAD SIGN SUPPORT	EACH	3	\$7,207.59	\$7,207.59	1.00
710M1F 11	GTON GUDDODE NOW ON DDIDGEG	T C	STATE	\$7,207.59	\$7,207.59	1.00
713M15.11	SIGN SUPPORT ASM ON BRIDGES	LS	2	\$8,000.00	\$8,000.00	1.00
			3	\$5,766.07	\$5,766.07	1.00
713M15.35	METAL BARRICADE (TYPE III)	E A CII	STATE 3	\$6,883.04	\$13,766.07	2.00
/13M13.33	METAL BARRICADE (TYPE TIT)	EACH	STATE	\$600.00 \$600.00	\$600.00 \$600.00	1.00 1.00
713M16.01	CHANGEABLE MESSAGE SIGN UNIT	EACH	2	\$10,000.00	\$20,000.00	2.00
713M10.01	CHANGEABLE MESSAGE SIGN UNII	EACH	3	\$7,722.42	\$30,889.68	4.00
			4	\$12,500.00	\$25,000.00	2.00
			STATE	\$9,486.21	\$75,889.68	8.00
713M16.03	CHANGEABLE MESSAGE SIGN	EACH	2	\$9,000.00	\$18,000.00	2.00
7131110:03	CIMINOLITED FILIPPITOL STOW	111011	3	\$17,550.00	\$70,200.00	4.00
			STATE	\$14,700.00	\$88,200.00	6.00
713M16.05	RAILROAD CROSS-BUCK SIGN & SUPPORT	EACH	2	\$1,000.00	\$1,000.00	1.00
			STATE	\$1,000.00	\$1,000.00	1.00
713M16.06	DEAD END SIGN AND SUPPORT	EACH	1	\$150.00	\$150.00	1.00
			4	\$142.50	\$570.00	4.00
			STATE	\$144.00	\$720.00	5.00
713M16.07	END OF ROADWAY SIGN AND SUPPORT	EACH	1	\$144.17	\$1,730.00	12.00
			4	\$123.33	\$740.00	6.00
			STATE	\$137.22	\$2,470.00	18.00
713M16.09	RAILROAD ADVANCE WARNING SIGN AND S	EACH	2	\$250.00	\$250.00	1.00
			3	\$337.00	\$674.00	2.00
			STATE	\$308.00	\$924.00	3.00
713M16.20	SIGNS	EACH	1	\$507.50	\$9,135.00	18.00
			2	\$200.00	\$600.00	3.00
			3	\$222.15	\$2,665.76	12.00
			4	\$161.67	\$970.00	6.00
E1 2x1 C 01	GT GWG	E3 G11	STATE	\$342.84	\$13,370.76	39.00
713M16.21	SIGNS	EACH	3	\$284.09	\$3,124.98	11.00
			4	\$140.00	\$560.00	4.00
			STATE	\$245.67	\$3,684.98	15.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
713M16.22	SIGNS	EACH	3 4	\$157.50 \$196.67	\$315.00 \$590.00	2.00
713M16.23	SIGNS	EACH	STATE 3	\$181.00 \$175.00	\$905.00 \$905.00 \$1,225.00	5.00 7.00
, 101110 1 10		211011	4 STATE	\$180.00 \$176.50	\$540.00 \$1,765.00	3.00 10.00
713M16.24	SIGNS	EACH	3	\$315.00 \$160.00	\$315.00 \$160.00	1.00
713M16.25	SIGNS	EACH	STATE 4	\$237.50 \$100.00	\$475.00 \$100.00	2.00 1.00
713M16.26	SIGNS	EACH	STATE 4	\$100.00 \$350.00	\$100.00 \$700.00	1.00
713M16.27	SIGNS	EACH	STATE 4 STATE	\$350.00 \$350.00 \$350.00	\$700.00 \$350.00 \$350.00	2.00 1.00 1.00
713M16.28	SIGNS	EACH	4 STATE	\$200.00 \$200.00 \$200.00	\$200.00 \$200.00	1.00
713M17.02	INST AUX SUPPORT FOR EXIT NUMBER PA	EACH	3 STATE	\$401.57 \$401.57	\$1,606.28 \$1,606.28	4.00
713M17.30	MOD EXISTING OVERHEAD SIGN STRUCTUR	LS	3 STATE	\$5,663.11 \$5,663.11	\$5,663.11 \$5,663.11	1.00 1.00
713M17.31	MOD EXISTING OVERHEAD SIGN STRUCTUR	LS	3 STATE	\$17,504.14 \$17,504.14	\$17,504.14 \$17,504.14	1.00
714M01.01	STRUCTURAL LIGHTING	LS	2 3 STATE	\$5,887.50 \$2,607.19 \$4,794.06	\$11,775.00 \$2,607.19 \$14,382.19	2.00 1.00 3.00
714M01.02	STRUCTURAL LIGHTING	LS	2 3	\$3,375.00 \$7,612.02	\$3,375.00 \$7,612.02	1.00 1.00
714M01.03	STRUCTURAL LIGHTING	LS	STATE 3 STATE	\$5,493.51 \$5,991.21 \$5,991.21	\$10,987.02 \$5,991.21 \$5,991.21	2.00 1.00 1.00
714M01.04	STRUCTURAL LIGHTING	LS	3 STATE	\$6,442.73 \$6,442.73	\$6,442.73 \$6,442.73	1.00
714M01.05	STRUCTURAL LIGHTING	LS	3 STATE	\$2,607.19 \$2,607.19	\$2,607.19 \$2,607.19	1.00 1.00
714M01.06	STRUCTURAL LIGHTING	LS	3 STATE	\$2,386.07 \$2,386.07	\$2,386.07 \$2,386.07	1.00
714M03	JACKED OR BORED CONDUIT	m	3 STATE	\$88.55 \$88.55	\$15,939.00 \$15,939.00	180.00 180.00
714M03.01	DIRECT BRL CONDUIT(50mmPVC, SCHEDUL	m	2 3 STATE	\$18.00 \$17.31 \$17.31	\$216.00 \$70,451.70 \$70,667.70	12.00 4070.00 4082.00
714M04.03	CONDUIT	m	3 STATE	\$11.79 \$11.79	\$12,037.59 \$12,037.59	1021.00 1021.00
714M04.05	CONDUIT	m	3 STATE	\$11.79 \$11.79	\$707.40 \$707.40	60.00 60.00
714M05.04	PULL BOXES (TYPE C)	EACH	3 STATE	\$453.05 \$453.05	\$19,934.20 \$19,934.20	44.00 44.00

THAMDS.OS	Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
Table Cable (1/C # 8 awg)	714M05.05	PULL BOXES	EACH	_			
TAMOS.05							
Table Cable (1/C # 6 AWG)	714M06.04	CABLE (1/C # 8 AWG)	m	_			
Table	E1 4370 C 0 F						
Table Cable (1/C # 4 awg)	/14MU6.U5	CABLE (I/C # 6 AWG)	m				
Table Cable (1/C # 4 awg)				-			
T14M06.08 CABLE	71 AMO 6 O 6	CARLE (1/C # 4 AMC)					
T14M06.08	/14MU6.U6	CABLE (I/C # 4 AWG)	III				
Time				_			
T14M08.03	714M06 08	CADIE	m				
TIAMOR.03	714M00.08	CADLE	Ш	_			
T14M08.09	714M08 03	TTCUT CTANDADDC /10 Fm M U 1 Qm A	EV CA				
Tight Tandards Each 3	714M08.03	HIGHT STANDARDS (10.5 M.H., 1.6 M A	EACH				
T14M08.10	714M08 09	I.TCUT STANDARDS	FACH				
T14M08.10	7141100:00	HIGHT STANDARDS	EACH	_			
STATE \$2,999.39 \$44,990.85 15.00	714M08 10	LIGHT STANDARDS	EACH				
T14M08.11	, 11100:10		211011				
STATE S2,667,84 \$37,349,76 14.00	714M08.11	LIGHT STANDARDS	EACH				
T14M08.12	, = 11100 ; = =		211011	_			
STATE \$13,583.21 \$67,916.05 5.00	714M08.12	LIGHT STANDARDS	EACH				
T14M08.13							
STATE \$14,273.99 \$129,365,91 9,00	714M08.13	LIGHT STANDARDS	EACH				
T14M08.14				STATE			
T14M08.15	714M08.14	LIGHT STANDARDS	EACH	3	\$15,858.75		
T14M08.15				STATE			
T14M08.20	714M08.15	LIGHT STANDARDS	EACH	3		\$7,126.29	9.00
714M08.30 REMOVE & RELOCATE LIGHT STANDARD EACH 3 \$3,935.34 \$11,806.02 3.00 STATE \$332.58 \$997.74 3.00 STATE \$669.28 \$4,684.96 7.00 STATE \$669.28 \$4,684.96 7.00 STATE \$669.28 \$4,684.96 7.00 STATE \$255.35 \$2,298.15 9.00 STATE \$255.35 \$2,298.15 9.00 STATE \$255.35 \$2,298.15 9.00 STATE \$255.35 \$2,298.15 9.00 STATE \$256.00 \$1,888.00 8.00 STATE \$356.06 \$4,272.68 12.00 STATE \$356.06 \$4,272.68 12.00 STATE \$599.26 \$8,389.64 14.00				STATE	\$791.81	\$7,126.29	9.00
T14M08.30 REMOVE & RELOCATE LIGHT STANDARD EACH 3 \$3,935.34 \$11,806.02 3.00	714M08.20	FOUNDATION (ONLY) FOR LIGHT STANDAR	EACH	3	\$8,132.22	\$24,396.66	3.00
STATE \$3,935.34 \$11,806.02 3.00				STATE	\$8,132.22	\$24,396.66	3.00
714M08.31 REMOVAL FOUNDATION(ONLY) FOR LIGHT EACH 3 \$332.58 \$997.74 3.00 714M08.32 REMOVAL OF LIGHT STANDARD & FOUNDAT EACH 3 \$669.28 \$4,684.96 7.00 714M08.50 REMOVE WOOD POLE & ROADWAY LUMINARE EACH 3 \$255.35 \$2,298.15 9.00 714M09.01 LUMINAIRES (150 WATT) EACH 2 \$236.00 \$1,888.00 8.00 714M09.03 LUMINAIRES (250 WATT) EACH 3 \$599.26 \$8,389.64 14.00 714M09.04 LUMINAIRES (400 WATT - HIGH MAST) EACH 3 \$6602.35 \$15,058.75 25.00 714M09.05 LUMINAIRES (400 WATT - HIGH MAST) EACH 3 \$682.66 \$53,247.48 78.00	714M08.30	REMOVE & RELOCATE LIGHT STANDARD	EACH	3	\$3,935.34	\$11,806.02	3.00
STATE \$332.58 \$997.74 3.00				STATE		\$11,806.02	3.00
714M08.32 REMOVAL OF LIGHT STANDARD & FOUNDAT EACH 3 \$669.28 \$4,684.96 7.00 714M08.50 REMOVE WOOD POLE & ROADWAY LUMINARE EACH 3 \$255.35 \$2,298.15 9.00 714M09.01 LUMINAIRES (150 WATT) EACH 2 \$236.00 \$1,888.00 8.00 714M09.03 LUMINAIRES (250 WATT) EACH 3 \$599.26 \$8,389.64 14.00 714M09.04 LUMINAIRES (400 WATT) EACH 3 \$602.35 \$15,058.75 25.00 714M09.05 LUMINAIRES (400 WATT - HIGH MAST) EACH 3 \$682.66 \$53,247.48 78.00	714M08.31	REMOVAL FOUNDATION(ONLY) FOR LIGHT	EACH				
T14M09.03 LUMINAIRES (250 WATT) EACH 3 \$599.26 \$8,389.64 14.00 T14M09.04 LUMINAIRES (400 WATT - HIGH MAST) EACH 3 \$662.35 \$15,058.75 25.00 T14M09.05 LUMINAIRES (400 WATT - HIGH MAST) EACH 3 \$6682.66 \$53,247.48 78.00					·	1	
714M08.50 REMOVE WOOD POLE & ROADWAY LUMINARE EACH 3 \$255.35 \$2,298.15 9.00 714M09.01 LUMINAIRES (150 WATT) EACH 2 \$236.00 \$1,888.00 8.00 714M09.03 LUMINAIRES (250 WATT) EACH 3 \$599.26 \$8,389.64 14.00 714M09.04 LUMINAIRES (400 WATT) EACH 3 \$502.35 \$15,058.75 25.00 714M09.05 LUMINAIRES (400 WATT - HIGH MAST) EACH 3 \$682.66 \$53,247.48 78.00	714M08.32	REMOVAL OF LIGHT STANDARD & FOUNDAT	EACH				
THE STATE \$255.35 \$2,298.15 9.00 LUMINAIRES (150 WATT) EACH 2 \$236.00 \$1,888.00 8.00 STATE \$356.06 \$4,272.68 12.00 TI4M09.03 LUMINAIRES (250 WATT) EACH 3 \$599.26 \$8,389.64 14.00 STATE \$599.26 \$8,389.64 14.00 TI4M09.04 LUMINAIRES (400 WATT) EACH 3 \$602.35 \$15,058.75 25.00 TI4M09.05 LUMINAIRES (400 WATT - HIGH MAST) EACH 3 \$682.66 \$53,247.48 78.00							
714M09.01 LUMINAIRES (150 WATT) EACH 2 \$236.00 \$1,888.00 8.00 3 \$596.17 \$2,384.68 4.00 STATE \$356.06 \$4,272.68 12.00 714M09.03 LUMINAIRES (250 WATT) EACH 3 \$599.26 \$8,389.64 14.00 STATE \$599.26 \$8,389.64 14.00 STATE \$599.26 \$8,389.64 14.00 STATE \$599.26 \$8,389.64 14.00 STATE \$502.35 \$15,058.75 25.00 STATE \$602.35 \$15,058.75 25.00 STATE \$602.35 \$15,058.75 25.00 STATE \$682.66 \$53,247.48 78.00 STATE \$682.66 \$53,247.48 78.00	714M08.50	REMOVE WOOD POLE & ROADWAY LUMINARE	EACH	_			
3 \$596.17 \$2,384.68 4.00 STATE \$356.06 \$4,272.68 12.00 714M09.03 LUMINAIRES (250 WATT) EACH 3 \$599.26 \$8,389.64 14.00 714M09.04 LUMINAIRES (400 WATT) EACH 3 \$602.35 \$15,058.75 25.00 714M09.05 LUMINAIRES (400 WATT - HIGH MAST) EACH 3 \$682.66 \$53,247.48 78.00 STATE \$682.66 \$53,247.48 78.00							
STATE \$356.06 \$4,272.68 12.00	714M09.01	LUMINAIRES (150 WATT)	EACH				
714M09.03 LUMINAIRES (250 WATT) EACH 3 \$599.26 \$8,389.64 14.00 STATE \$602.35 \$15,058.75 25.00 STATE \$602.35 \$15,058.75 25.00 STATE \$602.35 \$15,058.75 25.00 STATE \$682.66 \$53,247.48 78.00 STATE \$682.66 \$53,247.48 78.00							
STATE \$599.26 \$8,389.64 14.00 714M09.04 LUMINAIRES (400 WATT) EACH 3 \$602.35 \$15,058.75 25.00 714M09.05 LUMINAIRES (400 WATT - HIGH MAST) EACH 3 \$682.66 \$53,247.48 78.00 STATE \$682.66 \$53,247.48 78.00	E1 43500 00	TIME TO THE COURT OF THE TIME	E3 C11				
714M09.04 LUMINAIRES (400 WATT) EACH 3 \$602.35 \$15,058.75 25.00 STATE \$602.35 \$15,058.75 25.00 STATE \$602.35 \$15,058.75 25.00 STATE \$682.66 \$53,247.48 78.00 STATE \$682.66 \$53,247.48 78.00	/14M09.03	LUMINAIRES (250 WATT)	EACH				
STATE \$602.35 \$15,058.75 25.00 714M09.05 LUMINAIRES (400 WATT - HIGH MAST) EACH 3 \$682.66 \$53,247.48 78.00 STATE \$682.66 \$53,247.48 78.00	714M00 04	TIMINATORS (ACC MARION)	TO A CIT				
714M09.05 LUMINAIRES (400 WATT - HIGH MAST) EACH 3 \$682.66 \$53,247.48 78.00 STATE \$682.66 \$53,247.48 78.00	/14MU9.U4	LUMINAIKES (400 WATT)	EACH				
STATE \$682.66 \$53,247.48 78.00	71/M00 05	TIIMTNATDES /AOO WARR UTSU MASEN	FACU				
	/ 14MO3.03	TOWINATUES (400 WAIT - DIGN MASI)	LACH				
	714M09.06	LUMINAIRES (1000 WATT - HIGH MAST)	EACH				

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
			C T T T T T	4514 50	425 500 00	F0 00
714M09.07	LUMINAIRES (150 WATT - UNDERPASS)	EACH	STATE 3	\$714.58 \$396.42	\$35,729.00 \$4,757.04	50.00 12.00
/14M09.0/	LOMINAIRES (130 WATT - UNDERPASS)	EACH	STATE	\$396.42	\$4,757.04	12.00
714M10.01	OVERHEAD CONDUCTORS	m	3	\$3.10	\$3,658.00	1180.00
			STATE	\$3.10	\$3,658.00	1180.00
714M12.01	CONTROL CENTER (NO. 1)	LS	2	\$4,900.00	\$4,900.00	1.00
			3	\$6,265.45	\$6,265.45	1.00
			STATE	\$5,582.73	\$11,165.45	2.00
714M12.02	CONTROL CENTER (NO. 2)	LS	3	\$8,427.73	\$8,427.73	1.00
E1 4241 0 00	GOVERNO GENERAL (NO. 2)	T 0	STATE	\$8,427.73	\$8,427.73	1.00
714M12.03	CONTROL CENTER (NO. 3)	LS	3	\$8,427.73	\$8,427.73	1.00
714M12.04	CONTROL CENTER (NO. 4)	LS	STATE 3	\$8,427.73 \$8,427.73	\$8,427.73 \$8,427.73	1.00 1.00
/14M12.04	CONTROL CENTER (NO. 4)	ПЭ	STATE	\$8,427.73	\$8,427.73	1.00
714M12.05	CONTROL CENTER (NO. 5)	LS	3	\$6,265.45	\$6,265.45	1.00
, 11112.03	control character (no. 3)	25	STATE	\$6,265.45	\$6,265.45	1.00
714M12.06	CONTROL CENTER (NO. 6)	LS	3	\$6,265.45	\$6,265.45	1.00
			STATE	\$6,265.45	\$6,265.45	1.00
714M13	CL A CNC(ROADWAY & STRUCTURE LIGHTI	m3	3	\$997.74	\$139,683.60	140.00
			STATE	\$997.74	\$139,683.60	140.00
714M25	ELECTRICAL CONNECTION	EACH	2	\$400.00	\$400.00	1.00
E1 43:05 01			STATE	\$400.00	\$400.00	1.00
714M25.01	ELECTRICAL CONNECTION(DESCRIPTION)	EACH	3	\$102.97	\$617.82	6.00
714M40	LOCATING UTILITIES	LS	STATE 3	\$102.97 \$3,427.72	\$617.82 \$3,427.72	6.00 1.00
/14M4U	LOCATING UTILITIES	ПЭ	STATE	\$3,427.72	\$3,427.72	1.00
716M01.05	TEMPORARY RAISED PAVEMENT MARKER	EACH	1	\$10.00	\$940.00	94.00
, 101101100		211011	2	\$4.00	\$2,000.00	500.00
			STATE	\$4.95	\$2,940.00	594.00
716M01.06	TEMPORARY RAISED PAVEMENT MARKER, WH	EACH	3	\$20.59	\$20,590.00	1000.00
			STATE	\$20.59	\$20,590.00	1000.00
716M01.07	TEMPORARY RAISED PAVEMENT MARKER, YE	EACH	3	\$20.59	\$20,590.00	1000.00
			STATE	\$20.59	\$20,590.00	1000.00
716M01.10	SNOWPLOWABLE REFLECTIVE MARKER	EACH	2	\$30.00	\$24,150.00	805.00
			3 STATE	\$51.48 \$44.07	\$78,609.96 \$102,759.96	1527.00
716M01.30	RMVL OF SNOWPLOWABLE REFLECTIVE MAR	EACH	SIAIE 3	\$20.59	\$28,290.66	2332.00 1374.00
/IOMO1.30	KMVL OF SNOWPLOWABLE KEFLECTIVE MAK	EACH	STATE	\$20.59	\$28,290.66	1374.00
716M02.01	PLASTIC PAVEMENT MARKING (100mm LIN	km	1	\$1,068.37	\$71,901.00	67.30
, 101101101	1210110 11112111 11111111 (10011111 2111	72	2	\$989.41	\$107,945.00	109.10
			3	\$1,583.88	\$76,906.64	48.56
			4	\$1,655.34	\$58,930.00	35.60
			STATE	\$1,211.57	\$315,682.64	260.56
716M02.02	PLASTIC PAVEMENT MKG(200mm BARRIER	m	2	\$3.06	\$5,871.00	1921.00
			3	\$10.13	\$114,469.00	11300.00
716M02 02	DIACRIC DAMENIR MARKING /CDOCC 1771		STATE	\$9.10	\$120,340.00	13221.00
716M02.03	PLASTIC PAVEMENT MARKING (CROSS-WAL	m	1 2	\$12.49 \$17.00	\$5,569.50 \$4,505.00	446.00 265.00
			۷	ŞΤ/.UU	ş±,505.00	205.00

Item Number	Description	Unit of	Dogion	Average Unit Price	Total	Total Quantity
number	Description	Measure	Region	onic Price	Cost	Qualitity
			3	\$26.91	\$5,893.18	219.00
			4	\$33.00	\$3,960.00	120.00
			STATE	\$18.98	\$19,927.68	1050.00
716M02.04	PLASTIC PAVEMENT MARKING (CHNZ STRI	m2	1	\$12.57	\$3,519.00	280.00
, 101102101			2	\$12.34	\$72,465.50	5873.00
			3	\$33.85	\$74,846.30	2211.00
			4	\$36.12	\$2,095.00	58.00
			STATE	\$18.16	\$152,925.80	8422.00
716M02.05	PLASTIC PAVEMENT MARKING (STOP LINE	m	1	\$30.72	\$12,102.00	394.00
			2	\$16.71	\$8,152.50	488.00
			3	\$57.85	\$28,463.68	492.00
			4	\$49.69	\$5,864.00	118.00
			STATE	\$36.58	\$54,582.18	1492.00
716M02.06	PLASTIC PAVEMENT MKG (TURN LANE ARR	EACH	1	\$118.26	\$12,772.00	108.00
			2	\$61.07	\$9,221.10	151.00
			3	\$205.14	\$19,283.48	94.00
			4	\$161.21	\$4,675.00	29.00
			STATE	\$120.29	\$45,951.58	382.00
716M02.07	PLASTIC PAVEMENT MKG(600mm BARRIER	m	2	\$19.00	\$399.00	21.00
			3	\$44.00	\$2,816.00	64.00
			STATE	\$37.82	\$3,215.00	85.00
716M02.08	PLASTIC PAVEMENT MKG (200mm DOTTED	m	1	\$5.25	\$525.00	100.00
			2	\$7.00	\$196.00	28.00
			3	\$7.95	\$4,850.46	610.00
			STATE	\$7.55	\$5,571.46	738.00
716M02.09	PLASTIC PVMT MKG (LONGITUDINAL X-WA	m	3	\$82.91	\$15,256.00	184.00
			STATE	\$82.91	\$15,256.00	184.00
716M02.10	PLASTIC PAVEMENT MARKING (150mm LIN	km	2	\$1,382.28	\$3,027.20	2.19
			STATE	\$1,382.28	\$3,027.20	2.19
716M02.11	PLASTIC PAVEMENT MKG (150mm DOTTED	m	2	\$4.82	\$1,495.00	310.00
			STATE	\$4.82	\$1,495.00	310.00
716M03.01	PLASTIC WORD PVMT MARKING (ONLY)	EACH	1	\$87.50	\$2,100.00	24.00
			2	\$150.00	\$300.00	2.00
			3	\$290.68	\$2,325.40	8.00
			STATE	\$138.98	\$4,725.40	34.00
716M03.02	PLASTIC WORD PVMT MARKING (RXR)	EACH	2	\$262.50	\$1,050.00	4.00
			3	\$500.00	\$2,000.00	4.00
			STATE	\$381.25	\$3,050.00	8.00
716M03.09	PLASTIC WORD PVMT MARKING	EACH	4	\$20.00	\$200.00	10.00
			STATE	\$20.00	\$200.00	10.00
716M04.01	PLASTIC PVMT MKG (STRAIGHT-TURN ARR	EACH	1	\$87.73	\$965.00	11.00
			2	\$100.00	\$300.00	3.00
			3	\$250.00	\$1,500.00	6.00
716704 00	DI AGELG DAMENER MAG /100 DOCTOR		STATE	\$138.25	\$2,765.00	20.00
716M04.03	PLASTIC PAVEMENT MKG (100mm DOTTED	m	1	\$4.20	\$226.80	54.00
			3	\$6.74	\$802.06	119.00
716M04 05	DIAGRIC DAVEMENTE MIZO (GEDATCHE ADDO	TO A CIT	STATE	\$5.95	\$1,028.86	173.00
716M04.05	PLASTIC PAVEMENT MKG (STRAIGHT ARRO	EACH	1	\$45.00	\$630.00	14.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
Ivanibei	Description	ricabare	negron	OHIC TITCE	COBC	Qualities
			3	\$250.00	\$1,000.00	4.00
			STATE	\$90.56	\$1,630.00	18.00
716M04.07	PLASTIC PAVEMENT MKG (EXIT ONLY ARR	EACH	2	\$100.00	\$200.00	2.00
			3	\$308.90	\$5,251.30	17.00
			STATE	\$286.91	\$5,451.30	19.00
716M05.01	PAINTED PAVEMENT MARKING (100mm LIN	km	1	\$314.44	\$27,985.00	89.00
			2	\$210.95	\$36,115.40	171.20
			3	\$854.65	\$68,695.85	80.38
			4	\$567.50	\$48,652.00	85.73
			STATE	\$425.63	\$181,448.25	426.31
716M05.02	PAINTED PAVEMENT MKG(200mm BARRIER	m	1	\$5.75	\$172.50	30.00
			2	\$0.87	\$3,738.00	4274.00
			3	\$3.17	\$9,710.00	3066.00
			4	\$1.44	\$4,463.00	3095.00
			STATE	\$1.73	\$18,083.50	10465.00
716M05.04	PAINTED PVMT MKG (CHNZ STRIPING)	m2	2	\$6.13	\$37,542.00	6127.00
			STATE	\$6.13	\$37,542.00	6127.00
716M05.05	PAINTED PAVEMENT MARKING (STOP LINE	m	1	\$30.95	\$4,766.00	154.00
			2	\$9.00	\$1,989.00	221.00
			3	\$33.98	\$1,766.96	52.00
			4	\$27.02	\$3,810.00	141.00
			STATE	\$21.71	\$12,331.96	568.00
716M05.06	PAINTED PAVEMENT MKG (TURN LANE ARR	EACH	1	\$135.00	\$4,050.00	30.00
			2	\$35.00	\$2,170.00	62.00
			STATE	\$67.61	\$6,220.00	92.00
716M05.20	PAINTED PAVEMENT MARKING (150mm LIN	km	2	\$346.60	\$842.25	2.43
			STATE	\$346.60	\$842.25	2.43
716M08.01	REMOVAL OF PAVEMENT MARKING (LINE)	m	3	\$3.38	\$55.94	16.55
			STATE	\$3.38	\$55.94	16.55
716M08.02	REMOVAL OF PVMT MKG (200mm BARRIER	m	3	\$4.06	\$45,878.00	11300.00
			STATE	\$4.06	\$45,878.00	11300.00
716M10.01	PREFORMED PLASTIC PAVEMENT MKG(100m	km	1	\$8,300.00	\$16,600.00	2.00
			2	\$92,000.00	\$368,000.00	4.00
			STATE	\$64,100.00	\$384,600.00	6.00
716M10.02	PREFORMED PLASTIC PVMT MKG(200mm BA	m	1	\$16.60	\$10,209.00	615.00
			3	\$27.03	\$37,463.58	1386.00
			STATE	\$23.82	\$47,672.58	2001.00
716M10.04	PRFMD PLS PVMT MKG (CHNLZTN STRIPIN	m2	1	\$24.50	\$7,546.00	308.00
			2	\$87.50	\$612.50	7.00
			STATE	\$25.90	\$8,158.50	315.00
716M10.05	PREFORMED PLS PVMT MKG (TURN LANE A	EACH	1	\$324.00	\$324.00	1.00
			2	\$309.00	\$927.00	3.00
E4 4 - 4 0 0 4			STATE	\$312.75	\$1,251.00	4.00
716M10.06	PREFORMED PLSTC PVMT MKG(200mmDOTTE	m	3	\$30.89	\$10,193.70	330.00
E1 (N1 0 0E	DD TO DVTD DI 1977		STATE	\$30.89	\$10,193.70	330.00
716M10.07	PREFORMED PLASTIC PVMT MKG (STOP LI	m	1	\$59.00	\$826.00	14.00
			2	\$103.00	\$3,502.00	34.00
			STATE	\$90.17	\$4,328.00	48.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
716M10.15	PREFORMED PLASTIC PAVEMENT MKG(150m	km	1 2	\$11,675.00 \$12,743.90	\$23,350.00 \$15,675.00	2.00 1.23
716M10.16	PREFORMED PLSTC PVMT MKG(150mmDOTTE	m	3 STATE 1	\$12,796.56 \$12,731.05 \$13.25	\$409,489.92 \$448,514.92 \$2,782.50	32.00 35.23 210.00
, 10H10.10	TREFORMED TESTS TVMT FARG(130mmD0T1E		2 3	\$17.00 \$27.03	\$527.00 \$9,541.59	31.00 353.00
717M01	MOBILIZATION	LS	STATE 1 2	\$21.63 \$119,550.00 \$278,750.00	\$12,851.09 \$1,195,500.00 \$1,115,000.00	594.00 10.00 4.00
			3 4 STATE	\$268,018.97 \$287,850.00 \$213,521.31	\$1,876,132.80 \$1,151,400.00 \$5,338,032.80	7.00 4.00 25.00
718M01.01	NOISE BARRIER	m2	3 STATE	\$292.73 \$292.73	\$631,711.34 \$631,711.34	2158.00 2158.00
720M03.01 730M01.02	RAILROAD CROSSING SIGNAL SYSTEM REMOVAL OF SIGNAL EQUIPMENT	LS EACH	3 STATE 1	\$75,000.00 \$75,000.00 \$1,350.00	\$75,000.00 \$75,000.00 \$2,700.00	1.00 1.00 2.00
7501101.02	REMOVIE OF BIGNIE EQUITMENT		2 3 4	\$3,371.00 \$1,457.50 \$2,000.00	\$10,113.00 \$2,915.00 \$2,000.00	3.00 2.00 1.00
730M01.03	MODIFICATION EXISTING TRAFFIC SIGNA	EACH	STATE 1 2	\$2,216.00 \$5,257.50 \$400.00	\$17,728.00 \$10,515.00 \$400.00	8.00 2.00 1.00
730M01.08	SCHOOL SPEED LIMIT FLASHG SIGNAL IN	EACH	STATE 1 2	\$3,638.33 \$4,750.00 \$7,175.00	\$10,915.00 \$9,500.00 \$7,175.00	3.00 2.00 1.00
730M02.01	SIGNAL HEAD ASSEMBLY (110)	EACH	STATE 2	\$5,558.33 \$205.00	\$16,675.00 \$1,230.00	3.00 6.00
730M02.07	SIGNAL HEAD ASSEMBLY (130)	EACH	STATE 3 STATE	\$205.00 \$826.81 \$826.81	\$1,230.00 \$14,882.58 \$14,882.58	6.00 18.00 18.00
730M02.09	SIGNAL HEAD ASSEMBLY(130 WITH BACKP	EACH	1 3 4	\$613.91 \$495.23 \$544.00	\$14,120.00 \$20,799.74 \$2,176.00	23.00 42.00 4.00
730M02.10	SIGNAL HEAD ASSEMBLY (130 A2)	EACH	STATE 3 STATE	\$537.62 \$741.70 \$741.70	\$37,095.74 \$8,900.40 \$8,900.40	69.00 12.00 12.00
730M02.13	SIGNAL HEAD ASSEMBLY (140 A1)	EACH	1 STATE	\$575.00 \$575.00	\$575.00 \$575.00	1.00 1.00
730M02.16 730M02.17	SIGNAL HEAD ASSEMBLY (150 A2H) SIGNAL HEAD ASM (150 A2H WITH BACKP	EACH EACH	3 STATE 1	\$1,169.69 \$1,169.69 \$970.71	\$3,509.07 \$3,509.07 \$13,590.00	3.00 3.00 14.00
. 3 3 1 3 2 4 7			3 4 STATE	\$987.59 \$897.00 \$961.56	\$4,937.96 \$3,588.00 \$22,115.96	5.00 4.00 23.00
730M02.30	SIGNAL HEAD ASSEMBLY	EACH	1 3	\$840.00 \$579.29	\$6,720.00 \$4,055.00	8.00 7.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
			STATE	\$718.33	\$10,775.00	15.00
730M02.31	SIGNAL HEAD ASSEMBLY	EACH	3	\$765.00	\$765.00	1.00
F20760 20	GIGNIL HELD AGGENELH		STATE	\$765.00	\$765.00	1.00
730M02.32	SIGNAL HEAD ASSEMBLY	EACH	3 STATE	\$610.00 \$610.00	\$610.00 \$610.00	1.00 1.00
730M03.12	AERIAL SPLICE ENCLOSURE	EACH	SIAIE 3	\$341.85	\$683.70	2.00
/30M03.12	AERIAL SPLICE ENCLOSURE	EACH	STATE	\$341.85	\$683.70	2.00
730M03.20	INSTALL PULL BOX (TYPE A)	EACH	1	\$225.00	\$10,800.00	48.00
			3	\$300.00	\$7,500.00	25.00
			STATE	\$250.68	\$18,300.00	73.00
730M03.21	INSTALL PULL BOX (TYPE B)	EACH	3	\$410.00	\$1,230.00	3.00
			STATE	\$410.00	\$1,230.00	3.00
730M03.22	INSTALL PULL BOX (TYPE C)	EACH	3	\$472.61	\$8,034.37	17.00
			STATE	\$472.61	\$8,034.37	17.00
730M03.25	INSTALL PULL BOX	EACH	1	\$440.00	\$880.00	2.00
			2	\$300.00	\$300.00	1.00
			3 4	\$442.86	\$3,100.00	7.00
			=	\$245.00	\$2,205.00	9.00
730M05.01	ELECTRICAL SERVICE CONNECTION	EACH	STATE 1	\$341.32 \$546.00	\$6,485.00 \$2,730.00	19.00 5.00
/30M03.01	ELECTRICAL SERVICE CONNECTION	LACI	2	\$308.00	\$308.00	1.00
			3	\$384.78	\$3,847.83	10.00
			4	\$431.00	\$431.00	1.00
			STATE	\$430.40	\$7,316.83	17.00
730M05.02	SERVICE CABLE (2 CONDUCTOR, # 8 AWG	m	3	\$2.50	\$360.00	144.00
	, , , , ,		STATE	\$2.50	\$360.00	144.00
730M08.01	SIGNAL CABLE - 3 CONDUCTOR	m	1	\$5.50	\$2,254.65	410.00
			3	\$2.83	\$873.48	309.00
			STATE	\$4.35	\$3,128.13	719.00
730M08.02	SIGNAL CABLE - 5 CONDUCTOR	m	1	\$5.49	\$5,454.00	994.00
			2	\$3.08	\$298.76	97.00
			3	\$2.86	\$7,705.50	2691.00
			4	\$3.90	\$1,189.50	305.00
730M08.03	SIGNAL CABLE - 7 CONDUCTOR	m	STATE 1	\$3.58 \$4.81	\$14,647.76 \$1,602.65	4087.00 333.00
7301100.03	SIGNAL CABLE - / CONDUCTOR	m	3	\$3.03	\$3,061.85	1012.00
			4	\$4.50	\$1,381.50	307.00
			STATE	\$3.66	\$6,046.00	1652.00
730M08.04	SIGNAL CABLE - 9 CONDUCTOR	m	1	\$8.30	\$3,154.75	380.00
			3	\$3.46	\$2,227.30	643.00
			4	\$5.20	\$1,352.00	260.00
			STATE	\$5.25	\$6,734.05	1283.00
730M08.05	SIGNAL CABLE - 12 CONDUCTOR	m	1	\$4.75	\$1,976.00	416.00
			STATE	\$4.75	\$1,976.00	416.00
730M08.10	SIGNAL CABLE -	m	3	\$7.10	\$1,412.90	199.00
F20100 11	G=G G		STATE	\$7.10	\$1,412.90	199.00
730M08.11	SIGNAL CABLE -	m	3	\$2.72	\$541.28	199.00
			STATE	\$2.72	\$541.28	199.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
730M08.30	INTERCONNECT CABLE(COPPER-TWISTED P	m	1	\$5.00	\$3,105.00	621.00
/30M00.30	INTERCONNECT CABLE(COPPER-IWISTED P	m	3	\$6.47	\$3,105.00	610.00
			-			
720400 22	TAMED CONNECT OF DIE		STATE	\$5.73	\$7,051.70	1231.00
730M08.32	INTERCONNECT CABLE	m	3 STATE	\$3.20	\$1,056.00	330.00 330.00
720400 01	SPAN WIRE ASSEMBLY			\$3.20	\$1,056.00	218.00
730M09.01	SPAN WIRE ASSEMBLY	m	1 2	\$9.28	\$2,023.60	
			3	\$9.23	\$1,144.52 \$4,872.55	124.00
			4	\$7.97		611.00
				\$9.10	\$1,656.20	182.00
7201400 00	CDAN LIDE ACCEMBLY		STATE	\$8.54	\$9,696.87	1135.00
730M09.02	SPAN WIRE ASSEMBLY	m	1	\$7.92	\$1,124.64	142.00
720700 00	CDAN LIDE ACCEMBLY		STATE	\$7.92	\$1,124.64	142.00
730M09.08	SPAN WIRE ASSEMBLY	m	3	\$13.56	\$3,661.20	270.00
F20x10 01	THE LOCALITY OF THE PARTY OF TH		STATE	\$13.56	\$3,661.20	270.00
730M10.01	TETHER WIRE ASSEMBLY - 6mm DIAMETER	m	1	\$7.43	\$2,681.80	361.00
			3	\$6.80	\$3,019.20	444.00
720110 00	MEGGENGER GARIE Com DIAMERER		STATE	\$7.08	\$5,701.00	805.00
730M10.02	MESSENGER CABLE - 6mm DIAMETER	m	3	\$11.90	\$1,428.00	120.00
E2011 01	CHILL CONDUCT DIGED AGGRAPH	F.3. C11	STATE	\$11.90	\$1,428.00	120.00
730M11.01	STEEL CONDUIT RISER ASSEMBLY	EACH	2	\$266.50	\$533.00	2.00
			3	\$240.00	\$480.00	2.00
F202410 01	G0377777 05		STATE	\$253.25	\$1,013.00	4.00
730M12.01	CONDUIT 25mm DIAMETER (PVC)	m	1	\$10.23	\$2,864.00	280.00
			3	\$15.23	\$15,169.90	996.00
			4	\$6.00	\$2,346.00	391.00
E20110 00	G0377777 50 D73377777 (D33G)		STATE	\$12.23	\$20,379.90	1667.00
730M12.02	CONDUIT 50mm DIAMETER (PVC)	m	1	\$9.42	\$9,386.20	996.00
			3	\$15.28	\$3,224.40	211.00
			4	\$6.45	\$64.50	10.00
			STATE	\$10.42	\$12,675.10	1217.00
730M12.03	CONDUIT 75mm DIAMETER (PVC)	m	3	\$23.36	\$443.80	19.00
F202410 0F	G0177177 OF D71177777 (DGG)		STATE	\$23.36	\$443.80	19.00
730M12.07	CONDUIT 25mm DIAMETER (RGS)	m	1	\$13.10	\$183.40	14.00
F202410 00	G0177177 50 D71117777 (DGG)		STATE	\$13.10	\$183.40	14.00
730M12.08	CONDUIT 50mm DIAMETER (RGS)	m	1	\$25.00	\$4,175.00	167.00
			4	\$15.60	\$436.80	28.00
F20240 12	G0170177		STATE	\$23.65	\$4,611.80	195.00
730M12.13	CONDUIT 50mm DIAMETER (JACK AND BOR	m	3	\$118.41	\$21,905.85	185.00
F20242 01			STATE	\$118.41	\$21,905.85	185.00
730M13.01	VEHICLE LOOP DETECTOR (SHELF MOUNT)	EACH	1	\$140.00	\$2,800.00	20.00
			3	\$182.71	\$6,577.72	36.00
720M12 00	MARIATE DEMEGRAD (MARIA)	ED A CTT	STATE	\$167.46	\$9,377.72	56.00
730M13.02	VEHICLE DETECTOR (VIDEO)	EACH	3	\$7,529.01	\$22,587.03	3.00
720112 02	THUT OLD DEBEGEOD // GVV NOTE - D- C	T 3 C 1 1	STATE	\$7,529.01	\$22,587.03	3.00
730M13.03	VEHICLE DETECTOR (4-CHANNEL, RACK M	EACH	1	\$670.83	\$4,025.00	6.00
			3	\$330.00	\$1,980.00	6.00
			4	\$452.10	\$1,356.30	3.00
			STATE	\$490.75	\$7,361.30	15.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
730M13.07	VEHICLE DETECTOR	EACH	1 STATE	\$3,350.00 \$3,350.00	\$23,450.00 \$23,450.00	7.00 7.00
730M14.01	SHIELDED DETECTOR CABLE	m	1 3	\$3.39 \$2.10	\$6,460.00 \$8,083.24	1908.00 3855.00
730M14.02	SAW SLOT	m	4 STATE 1	\$4.20 \$2.81 \$11.03	\$5,023.20 \$19,566.44 \$34,758.20	1196.00 6959.00 3150.00
			2 3 4	\$9.00 \$12.59 \$16.40	\$1,746.00 \$23,257.70 \$9,577.60	194.00 1847.00 584.00
730M14.03	LOOP WIRE	m	STATE 1	\$12.01 \$1.01	\$69,339.50 \$7,085.35	5775.00 6997.00
			2 3 4	\$1.50 \$1.56 \$2.10	\$937.50 \$8,243.45 \$3,097.50	625.00 5285.00 1475.00
730M15.05	CABINET - TYPE IV	EACH	STATE 3	\$1.35 \$5,127.29	\$19,363.80 \$20,509.16	14382.00 4.00
730M16.02	EIGHT PHASE ACTUATED CONTROLLER	EACH	STATE 3 4	\$5,127.29 \$3,017.40 \$7,710.00	\$20,509.16 \$12,069.60 \$7,710.00	4.00 4.00 1.00
730M16.03	CONTROLLER (FLASHING BEACON)	EACH	STATE 2 STATE	\$3,955.92 \$615.00 \$615.00	\$19,779.60 \$615.00 \$615.00	5.00 1.00 1.00
730M16.10	CONTROLLER (4-PHASE W/TYPE II CABIN	EACH	1 STATE	\$7,525.00 \$7,525.00	\$15,050.00 \$15,050.00	2.00 2.00
730M16.12	CONTROLLER (8-PHASE W/TYPE IV CABIN	EACH	1 3 STATE	\$9,866.67 \$12,243.20 \$11,451.02	\$29,600.00 \$73,459.17 \$103,059.17	3.00 6.00 9.00
730M18.01	MASTER CONTROLLER	EACH	1 STATE	\$4,497.50 \$4,497.50	\$8,995.00 \$8,995.00	2.00 2.00
730M21.01 730M22.02	WOOD POLE(SIGNAL SUPPORT)CL 3, 10.5 GUYING DEVICE (ANGLE ANCHOR)	EACH EACH	2 STATE 2	\$922.50 \$922.50 \$205.00	\$2,767.50 \$2,767.50 \$820.00	3.00 3.00 4.00
730M23.01	STEEL STRAIN POLE (SIGNAL SUPPORT)	EACH	STATE 1 3	\$205.00 \$4,866.67 \$4,900.64	\$820.00 \$58,400.00 \$98,012.80	4.00 12.00 20.00
			4 STATE	\$5,905.00 \$5,000.91	\$23,620.00 \$180,032.80	4.00 36.00
730M23.03 730M23.04	STEEL STRAIN POLE STEEL STRAIN POLE	EACH EACH	3 STATE 3	\$5,477.77 \$5,477.77 \$6,611.42	\$5,477.77 \$5,477.77 \$26,445.68	1.00 1.00 4.00
730M23.30	PEDESTAL POLE	EACH	STATE 1	\$6,611.42 \$1,235.00	\$26,445.68 \$4,940.00	4.00 4.00
			3 4 STATE	\$1,229.69 \$612.00 \$1,136.30	\$8,607.85 \$1,224.00 \$14,771.85	7.00 2.00 13.00
730M23.31	PEDESTAL POLE	EACH	3 STATE	\$1,655.00 \$1,655.00	\$3,310.00 \$3,310.00	2.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
F30703 60			2	40 052 20	40 052 20	1 00
730M23.68	CANTILEVER SIGNAL SUPP (2 @ 9m & 9m	EACH	3 STATE	\$9,073.32	\$9,073.32	1.00 1.00
730M23.72	CANTELLEGED CICNAL CUDD /1 ADM @ 10	E A CII		\$9,073.32 \$6,200.00	\$9,073.32 \$6,200.00	1.00
/3UMZ3./Z	CANTILEVER SIGNAL SUPP (1 ARM @ 10.	EACH	1 3	\$4,038.00	\$4,038.00	1.00
			STATE	\$5,119.00	\$10,238.00	2.00
730M23.79	CANTILEVER SIGNAL SUPP(2 @ 10.6m &1	EACH	1	\$7,515.00	\$7,515.00	1.00
7501125.75	CHATTED VERY DECEMBED DOTT (2 @ 10.0m &1	шисп	STATE	\$7,515.00	\$7,515.00	1.00
730M23.80	CANTILEVER SIGNAL SUPP (1 ARM @ 12m	EACH	3	\$6,972.83	\$13,945.66	2.00
			STATE	\$6,972.83	\$13,945.66	2.00
730M23.88	CANTILEVER SIGNAL SUPP (1 ARM @ 13.	EACH	1	\$6,300.00	\$6,300.00	1.00
			3	\$9,000.00	\$9,000.00	1.00
			STATE	\$7,650.00	\$15,300.00	2.00
730M23.96	CANTILEVER SIGNAL SUPPORT	EACH	3	\$7,600.00	\$7,600.00	1.00
			STATE	\$7,600.00	\$7,600.00	1.00
730M23.97	CANTILEVER SIGNAL SUPPORT	EACH	1	\$6,585.00	\$6,585.00	1.00
			3	\$8,669.85	\$34,679.39	4.00
			STATE	\$8,252.88	\$41,264.39	5.00
730M23.98	CANTILEVER SIGNAL SUPPORT	EACH	1	\$7,120.00	\$7,120.00	1.00
			3	\$8,612.40	\$25,837.20	3.00
			STATE	\$8,239.30	\$32,957.20	4.00
730M23.99	CANTILEVER SIGNAL SUPPORT	EACH	1	\$6,700.00	\$6,700.00	1.00
			3	\$10,100.00	\$10,100.00	1.00
7201406 01		E 2 CI I	STATE	\$8,400.00	\$16,800.00	2.00
730M26.01	PEDESTRIAN SIGNAL DISPLAY	EACH	3	\$635.00	\$10,160.00	16.00
730M26.03	DED CICNAL IID DIIGIIDIITETON C 200CIC	E A CII	STATE	\$635.00	\$10,160.00	16.00
/3UM20.U3	PED SIGNAL HD, PUSHBUTTON & 300mmSIG	EACH	1 3	\$561.82 \$951.26	\$12,360.00 \$16,171.49	22.00 17.00
			4	\$635.10	\$5,080.80	8.00
			STATE	\$715.16	\$33,612.29	47.00
730M35.01	RF DATA SYSTEM	EACH	1	\$3,650.00	\$3,650.00	1.00
7501155.01	M Dilli Gigidi.	211011	STATE	\$3,650.00	\$3,650.00	1.00
730M35.10	ANTENNA (OMNI)	EACH	1	\$2,200.00	\$2,200.00	1.00
	,		STATE	\$2,200.00	\$2,200.00	1.00
730M35.11	ANTENNA (YAGI)	EACH	1	\$540.00	\$540.00	1.00
			STATE	\$540.00	\$540.00	1.00
730M35.21	RF DATA SYSTEM CABLE	m	1	\$44.00	\$1,320.00	30.00
			STATE	\$44.00	\$1,320.00	30.00
730M40	TEMPORARY TRAFFIC SIGNAL SYSTEM	EACH	4	\$14,500.00	\$29,000.00	2.00
			STATE	\$14,500.00	\$29,000.00	2.00
730M50	TEMPORARY TRAFFIC SGNL SYST (RAD CT	EACH	4	•	•	2.00
		_	STATE			2.00
740M10.03	GEOTEXTILE (TYPE III)(EROSION CONTR	m2	1	\$3.03	\$8,135.50	2687.00
			2	\$2.99	\$33,997.00	11375.00
			3	\$1.95	\$58,481.31	30020.00
			4 STATE	\$1.58 \$2.06	\$32,769.50 \$133,383.31	20739.00 64821.00
740M10.04	GEOTEXTILE (TYPE IV) STABILIZATION	m2	STATE 1	\$2.06 \$1.74	\$133,383.31	20208.00
7 401110.04	GROTEVITUR (TILE IA) STUDITIVALION	шь	2	\$2.48	\$6,220.00	2510.00
			4	γ2. 1 0	70,220.00	2310.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
			3	\$1.53	\$30,310.75	19750.00
			4	\$1.33	\$157,230.00	118300.00
			STATE	\$1.42	\$228,863.55	160768.00
755M01.02	0.200m (8") PVC SEWER LINE	m	1	\$206.50	\$201,544.00	976.00
, 331101:02	o. 200 m. (o) ive binin line	***	STATE	\$206.50	\$201,544.00	976.00
755M01.03	SANITARY SEWER MANHOLES (DEPTH 0M-1	EACH	1	\$1,430.00	\$2,860.00	2.00
, 331101:03		211011	STATE	\$1,430.00	\$2,860.00	2.00
755M01.04	SANITARY SEWER MANHOLES (DEPTH 1M-2	EACH	1	\$1,597.50	\$15,975.00	10.00
			STATE	\$1,597.50	\$15,975.00	10.00
755M01.05	SANITARY SEWER MANHOLES (DEPTH 2M-3	EACH	1	\$2,323.00	\$23,230.00	10.00
	·		STATE	\$2,323.00	\$23,230.00	10.00
755M01.06	SANITARY SEWER MANHOLES (DEPTH 3M-4	EACH	1	\$3,145.00	\$6,290.00	2.00
	·		STATE	\$3,145.00	\$6,290.00	2.00
755M01.07	0.100m (4") SANITARY SEWER LATERAL	EACH	1	\$1,447.50	\$8,685.00	6.00
			STATE	\$1,447.50	\$8,685.00	6.00
755M01.08	0.100m (4") SANITARY SEWER LATERAL	EACH	1	\$1,930.00	\$23,160.00	12.00
			STATE	\$1,930.00	\$23,160.00	12.00
755M01.09	CONNECT TO EXISTING SERVICES	EACH	1	\$482.50	\$8,685.00	18.00
			STATE	\$482.50	\$8,685.00	18.00
755M01.10	STONE BEDDING AND BACK FILL	TONN	1	\$11.58	\$28,868.05	2494.00
			STATE	\$11.58	\$28,868.05	2494.00
755M01.11	BLIND MANHOLE	EACH	1	\$1,930.00	\$3,860.00	2.00
			STATE	\$1,930.00	\$3,860.00	2.00
755M01.12	0.150m (6") DUCTILE IRON WATER LINE	m	1	\$126.43	\$6,068.40	48.00
			STATE	\$126.43	\$6,068.40	48.00
755M01.13	0.200m (8") DUCTILE IRON WATER LINE	m	1	\$144.75	\$3,474.00	24.00
			STATE	\$144.75	\$3,474.00	24.00
755M01.14	0.305m (12") DUCTILE IRON WATER LIN	m	1	\$108.08	\$137,039.10	1268.00
			STATE	\$108.08	\$137,039.10	1268.00
755M01.15	0.050m (2") PVC WATERLINE	m	1	\$62.75	\$5,396.50	86.00
			STATE	\$62.75	\$5,396.50	86.00
755M01.16	TEE 0.305m \times 0.200m \times 0.305m (12" \times	EACH	1	\$386.00	\$1,544.00	4.00
			STATE	\$386.00	\$1,544.00	4.00
755M01.17	TEE 0.305m \times 0.150m \times 0.305m (12" \times	EACH	1	\$386.00	\$772.00	2.00
			STATE	\$386.00	\$772.00	2.00
755M01.18	TEE 0.305mx0.050mX0.305m(12"X 2"X 1	EACH	1	\$290.00	\$1,160.00	4.00
			STATE	\$290.00	\$1,160.00	4.00
755M01.19	0.050m (2") GATE VALVE	EACH	1	\$482.50	\$2,895.00	6.00
			STATE	\$482.50	\$2,895.00	6.00
755M01.20	0.150m (6") GATE VALVE	EACH	1	\$965.00	\$1,930.00	2.00
			STATE	\$965.00	\$1,930.00	2.00
755M01.21	0.200m (8") GATE VALVE	EACH	1	\$1,158.00	\$4,632.00	4.00
BEE04 55	0.005 (100) 05		STATE	\$1,158.00	\$4,632.00	4.00
755M01.22	0.305m (12") GATE VALVE	EACH	1	\$1,545.00	\$6,180.00	4.00
755M01 00	0.000 (011) MADDITIC TITLE C. CT.	T2 C**	STATE	\$1,545.00	\$6,180.00	4.00
755M01.23	0.200m (8") TAPPING VALVE & SLEEVE	EACH	1	\$2,895.00	\$11,580.00	4.00
755701 04	0 205 /12#\ mo 0 200 /0#\ PERMARE	ED A CTT	STATE	\$2,895.00	\$11,580.00	4.00
755M01.24	0.305m (12") TO 0.200m (8") REDUCER	EACH	1	\$387.50	\$1,550.00	4.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
755M01.25	0.019m (3/4") SERVICE CONN. (SHORT	EACH	STATE 1 STATE	\$387.50 \$338.00 \$338.00	\$1,550.00 \$8,788.00 \$8,788.00	4.00 26.00 26.00
755M01.26	0.019m (3/4") SERVICE CONN. (LONG S	EACH	1 STATE	\$580.00 \$580.00	\$8,120.00 \$8,120.00	14.00 14.00
755M01.27	RESET EXISTING METERS AND BOXES	EACH	1 STATE	\$482.50 \$482.50	\$21,230.00 \$21,230.00	44.00 44.00
755M01.28	STONE BEDDING AND BACK FILL	TONN	1 STATE	\$11.58 \$11.58	\$19,909.00 \$19,909.00	1720.00 1720.00
755M01.29	0.050m (2") TAP ON 0.305m (12") DIP	EACH	1 STATE	\$772.50 \$772.50	\$4,635.00 \$4,635.00	6.00 6.00
755M01.30	GRINDER PUMP, COMPLETE	EACH	3 STATE	\$14,019.79 \$14,019.79	\$14,019.79 \$14,019.79	1.00 1.00
755M01.31	31.75mm VALVE AND CLEAN-OUT ASSEMBL	EACH	3 STATE	\$308.90 \$308.90	\$308.90 \$308.90	1.00 1.00
755M01.32	FORCE MAIN SERVICE BOX	EACH	3 STATE	\$514.83 \$514.83	\$514.83 \$514.83	1.00 1.00
755M01.33	31.75mm PVC FORCE MAIN	m	3 STATE	\$92.67 \$92.67	\$8,247.63 \$8,247.63	89.00 89.00
755M01.34	SPRAY COAT EX. MANHOLE	EACH	3 STATE	\$3,294.90 \$3,294.90	\$13,179.60 \$13,179.60	4.00
755M01.35 755M01.36	760mm ST'L CASE PIPE w/400mm PVC SE 200mm SEWER LINING	m	3 STATE	\$247.12 \$247.12	\$3,212.56 \$3,212.56	13.00 13.00 98.00
755M01.37	450mm PVC SEWER, INSIDE ROADWAY	m m	3 STATE 3	\$205.93 \$205.93 \$144.15	\$20,181.14 \$20,181.14 \$40,650.30	98.00 98.00 282.00
755M01.37	400mm PVC SEWER, INSIDE ROADWAY	m	STATE 3	\$144.15 \$144.15 \$139.00	\$40,650.30 \$40,650.30 \$61,577.00	282.00 282.00 443.00
755M01.30	380mm PVC SEWER, INSIDE ROADWAY	m	STATE 3	\$139.00 \$139.00 \$133.86	\$61,577.00 \$61,577.00 \$11,913.54	443.00 443.00 89.00
755M01.40	200mm DIP SEWER INSIDE ROADWAY	m	STATE 3	\$133.86 \$133.86	\$11,913.54 \$11,496.60	89.00 310.00
755M01.41	200mm DIP SEWER OUTSIDE ROADWAY	m	STATE 3	\$133.86 \$133.86	\$41,496.60 \$62,378.76	310.00 466.00
755M01.42	200mm PVC SEWER INSIDE ROADWAY	m	STATE 3	\$133.86 \$123.56	\$62,378.76 \$71,911.92	466.00 582.00
755M01.43	200mm PVC SEWER OUTSIDE ROADWAY	m	STATE 3	\$123.56 \$123.56	\$71,911.92 \$11,243.96	582.00 91.00
755M01.44	MANHOLE, 0-1.8m IN DEPTH	EACH	STATE 3	\$123.56 \$1,029.66	\$11,243.96 \$43,245.72	91.00 42.00
755M01.45	MANHOLE STANDARD FRAME AND COVER	EACH	STATE 3	\$1,029.66 \$205.93	\$43,245.72 \$8,649.06	42.00 42.00
755M01.46	ADDITIONAL MANHOLE SIDEWALL	VM	STATE 3	\$205.93 \$267.71	\$8,649.06 \$10,708.40	42.00 40.00
755M01.47	200 x 150mm PLUGGED TEE CONNECTION	EACH	STATE 3	\$267.71 \$823.72	\$10,708.40 \$17,298.12	40.00 21.00 21.00
755M01.48	150mm PVC SEWER SERVICE PIPE	m	STATE 3	\$823.72 \$98.85	\$17,298.12 \$14,926.35	151.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
			STATE	\$98.85	\$14,926.35	151.00
755M01.49	SEWER INSPECTION ASSEMBLY	EACH	3	\$205.93	\$4,324.53	21.00
755M01.50	ADJUST MANHOLE FRAME AND COVER	EACH	STATE 3	\$205.93 \$1,029.66	\$4,324.53 \$8,237.28	21.00 8.00
755M01.50	ADUUSI MANNOLE FRAME AND COVER	EACH	STATE	\$1,029.66	\$8,237.28	8.00
755M01.51	CONNECT TO EX. M.H.	EACH	3	\$514.83	\$1,544.49	3.00
			STATE	\$514.83	\$1,544.49	3.00
755M01.52	MANHOLE DROP ASSEMBLY	EACH	3	\$2,059.31	\$10,296.55	5.00
			STATE	\$2,059.31	\$10,296.55	5.00
755M01.53	ASPHALT DRIVE REPLACEMENT	m2	3	\$13.39	\$2,678.00	200.00
755701 54	207 DM OH DINDED IN EDENGH	O	STATE 3	\$13.39	\$2,678.00	200.00
755M01.54	307-BM 9" BINDER IN TRENCH	m2	STATE	\$31.92 \$31.92	\$143,320.80 \$143,320.80	4490.00 4490.00
755M01.55	411-E 1-1/2" ASPHALT REPLACEMENT	m2	3	\$6.18	\$52,004.70	8415.00
, 331101.33		2	STATE	\$6.18	\$52,004.70	8415.00
755M01.56	CUT AND PLUG MH INVERT	EACH	3	\$205.93	\$411.86	2.00
			STATE	\$205.93	\$411.86	2.00
755M01.57	MANHOLE CAP (DETAIL SHT.18)	LS	3	\$514.83	\$514.83	1.00
			STATE	\$514.83	\$514.83	1.00
755M01.58	1200mm TUNNEL LINER PLATE (BORE)	m	3	\$3,397.86	\$485,893.98	143.00
			STATE	\$3,397.86	\$485,893.98	143.00
755M01.59	760mm STL CASE PIPE w/400mm DIP WM	m	3	\$257.41	\$1,801.87	7.00
755M01.60	760mm STL CASE PIPE w/300mm DIP WM		STATE 3	\$257.41	\$1,801.87	7.00
/35MU1.0U	/OURIN SIL CASE PIPE W/300000 DIP WM	m	STATE	\$247.12 \$247.12	\$9,637.68 \$9,637.68	39.00 39.00
755M01.61	600mm STL CASE PIPE w/300mm DIP WM	m	3	\$226.52	\$1,812.16	8.00
7551101:01	oodinin bil chal fifth wy soonin bil wh		STATE	\$226.52	\$1,812.16	8.00
755M01.62	300mm STL CASE PIPE w/150mm DIP WM	m	3	\$205.93	\$1,647.44	8.00
			STATE	\$205.93	\$1,647.44	8.00
755M01.63	400mm STL CASE PIPE w/200mm DIP WM	m	3	\$1,132.62	\$166,495.14	147.00
			STATE	\$1,132.62	\$166,495.14	147.00
755M01.64	400mm STL CASE PIPE w/200mm DIP WM	m	3	\$205.93	\$19,151.49	93.00
	400		STATE	\$205.93	\$19,151.49	93.00
755M01.65	400mm DIP WATER, INSIDE ROADWAY	m	3	\$185.34	\$1,853.40	10.00
755M01.66	300mm DIP WATER, INSIDE ROADWAY	m	STATE 3	\$185.34 \$154.45	\$1,853.40 \$2,934.55	10.00 19.00
733M01.00	SOURMED DIP WATER, INSIDE ROADWAT	ш	STATE	\$154.45	\$2,934.55	19.00
755M01.67	200mm DIP WATER, INSIDE ROADWAY	m	3	\$123.56	\$47,447.04	384.00
			STATE	\$123.56	\$47,447.04	384.00
755M01.68	200mm DIP WATER, OUTSIDE ROADWAY	m	3	\$123.56	\$24,712.00	200.00
			STATE	\$123.56	\$24,712.00	200.00
755M01.69	150mm DIP WATER, INSIDE ROADWAY	m	3	\$102.97	\$93,393.79	907.00
			STATE	\$102.97	\$93,393.79	907.00
755M01.70	200 x 200mm TAPPING SLEEVE AND VALV	EACH	3	\$1,544.48	\$1,544.48	1.00
755M01 71	300 x 75mm TAPPING SLEEVE AND VALVE	EV CII	STATE	\$1,544.48	\$1,544.48	1.00
755M01.71	SOO X \SIIIII TAPPING SLEEVE AND VALVE	EACH	3 STATE	\$1,235.59 \$1,235.59	\$1,235.59 \$1,235.59	1.00 1.00
755M01.72	150 x 150mm TAPPING SLEEVE AND VALV	EACH	STATE 3	\$1,029.66	\$1,233.39	2.00
, 551101.72	TOO IT TOOMIN THE THO OUDDAN THAN AUTH	211011	J	71,020.00	¥2,032.32	2.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
			STATE	\$1,029.66	\$2,059.32	2.00
755M01.73	200mm VALVE W/BOX	EACH	3	\$1,029.66	\$7,207.62	7.00
755M01.74	150mm VALVE W/BOX	EACH	STATE 3	\$1,029.66 \$1,235.59	\$7,207.62 \$23,476.21	7.00 19.00
7551101.71	130mm VALVE W/ BOX	BACII	STATE	\$1,235.59	\$23,476.21	19.00
755M01.75	75mm VALVE W/BOX	EACH	3	\$1,235.59	\$1,235.59	1.00
BEE1401 BC			STATE	\$1,235.59	\$1,235.59	1.00
755M01.76	FIRE HYDRANT ASSEMBLY	EACH	3 STATE	\$3,088.97 \$3,088.97	\$37,067.64 \$37,067.64	12.00 12.00
755M01.77	FIRE HYDRANT ABANDONMENT	EACH	3	\$1,544.48	\$16,989.28	11.00
, 55110 2 7 7		211011	STATE	\$1,544.48	\$16,989.28	11.00
755M01.78	DUCTILE IRON FITTINGS	kg	3	\$3.09	\$19,587.51	6339.00
			STATE	\$3.09	\$19,587.51	6339.00
755M01.79	CUT AND PLUG EX. WATER MAIN	EACH	3	\$617.79	\$6,177.90	10.00
755M01.80	19MM COPPER WATER SERVICE	m	STATE 3	\$617.79 \$92.67	\$6,177.90 \$14,827.20	10.00 160.00
/55MU1.6U	19MM COPPER WAIER SERVICE	m	STATE	\$92.67	\$14,827.20	160.00
755M01.81	TAPPS AND CONNECTIONS	EACH	3	\$514.83	\$18,533.88	36.00
7001101101		211011	STATE	\$514.83	\$18,533.88	36.00
755M01.82	WATER METER BOX ADJUSTMENT	EACH	3	\$205.93	\$2,883.02	14.00
			STATE	\$205.93	\$2,883.02	14.00
755M01.83	WATER METER ABANDONMENT	EACH	3	\$514.83	\$10,296.60	20.00
			STATE	\$514.83	\$10,296.60	20.00
755M01.84	RELOCATE EX. WATER METER	EACH	3	\$823.72	\$19,769.28	24.00
7557601 05	MARIE MERED DOV	T 2 C 1 1	STATE	\$823.72	\$19,769.28	24.00
755M01.85	WATER METER BOX	EACH	3 STATE	\$411.86 \$411.86	\$9,884.64 \$9,884.64	24.00 24.00
755M01.86	REMOVE METER AND BOX PLUG AT MAIN	EACH	3	\$823.72	\$823.72	1.00
/33M01.00	REMOVE METER AND BOX PLOG AT MAIN	EACH	STATE	\$823.72	\$823.72	1.00
755M01.87	CUT IN 200 X 150mm TEE	EACH	3	\$1,544.48	\$1,544.48	1.00
			STATE	\$1,544.48	\$1,544.48	1.00
755M01.88	EX. WATER VALVE CASTING ADJ	EACH	3	\$308.90	\$617.80	2.00
			STATE	\$308.90	\$617.80	2.00
755M01.89	50mm BLOW-OFF ASSEMBLY	EACH	3	\$514.83	\$2,059.32	4.00
EEE2400 01	0 0 10 000		STATE	\$514.83	\$2,059.32	4.00
755M02.01	8" CLASS 200 PVC WATER LINE	m	2	\$45.70	\$78,009.90	1707.00 1707.00
755M02.02	6" CLASS 200 PVC WATER LINE	m	STATE 2	\$45.70 \$40.75	\$78,009.90 \$417,320.75	10241.00
/33M0Z.0Z	O CHASS 200 PVC WATER LINE	Ш	STATE	\$40.75	\$417,320.75	10241.00
755M02.03	6" PRESS CLASS 350 DIP WATER LINE	m	2	\$61.50	\$29,643.00	482.00
			STATE	\$61.50	\$29,643.00	482.00
755M02.04	4" CLASS 200 PVC WATER LINE	m	2	\$46.30	\$4,444.80	96.00
			STATE	\$46.30	\$4,444.80	96.00
755M02.05	2" CLASS 200 PVC WATER LINE	m	2	\$41.60	\$18,179.20	437.00
755700 06	OH MADDING MEE AND 17AILTE LITEU BOY	E A CIT	STATE	\$41.60	\$18,179.20	437.00
755M02.06	8" TAPPING TEE AND VALVE WITH BOX	EACH	2	\$2,060.00	\$12,360.00	6.00 6.00
755M02.07	6" TAPPING TEE AND VALVE WITH BOX	EACH	STATE 2	\$2,060.00 \$1,655.00	\$12,360.00 \$19,860.00	12.00
	1 111 201		=	7=7000.00	7 = 2 , 3 3 3 . 3 0	

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
755M02.08	4" TAPPING TEE AND VALVE WITH BOX	EACH	STATE 2 STATE	\$1,655.00 \$1,445.00 \$1,445.00	\$19,860.00 \$1,445.00 \$1,445.00	12.00 1.00 1.00
755M02.09	3" TAPPING TEE AND VALVE WITH BOX	EACH	2 STATE	\$1,000.00 \$1,000.00	\$1,000.00 \$1,000.00	1.00
755M02.10	2" TAPPING TEE AND VALVE WITH BOX	EACH	2 STATE	\$880.00 \$880.00	\$880.00 \$880.00	1.00
755M02.11	8" GATE VALVE AND BOX	EACH	2 STATE	\$665.00 \$665.00	\$4,655.00 \$4,655.00	7.00 7.00
755M02.12	6" GATE VALVE AND BOX	EACH	2 STATE	\$495.00 \$495.00	\$26,730.00 \$26,730.00	54.00 54.00
755M02.13	2" GATE VALVE AND BOX	EACH	2 STATE	\$290.00 \$290.00	\$580.00 \$580.00	2.00 2.00
755M02.14	14" STEEL CASING BY BORE & JACK	m	2 STATE	\$550.00 \$550.00	\$25,300.00 \$25,300.00	46.00 46.00
755M02.15	14" STEEL CASING BY OPEN CUT	m	2 STATE	\$230.00 \$230.00	\$11,270.00 \$11,270.00	49.00 49.00
755M02.16	12" STEEL CASING BY BORE & JACK	m	2 STATE	\$440.00 \$440.00	\$92,400.00 \$92,400.00	210.00 210.00
755M02.17	12" STEEL CASING BY OPEN CUT	m	2 STATE	\$210.00 \$210.00	\$92,820.00 \$92,820.00	442.00 442.00
755M02.18 755M02.19	12" PVC CASING BY OPEN CUT 8" STEEL CASING BY BORE & JACK	m m	2 STATE 2	\$145.00 \$145.00 \$400.00	\$6,670.00 \$6,670.00 \$7,600.00	46.00 46.00 19.00
755M02.19	8" STEEL CASING BY OPEN CUT	m	STATE 2	\$400.00 \$400.00 \$170.00	\$7,600.00 \$7,600.00 \$3,400.00	19.00 19.00 20.00
755M02.21	4" STEEL CASING BY BORE & JACK	m	STATE 2	\$170.00 \$170.00 \$260.00	\$3,400.00 \$15,860.00	20.00 20.00 61.00
755M02.22	4" STEEL CASING BY OPEN CUT	m	STATE 2	\$260.00 \$115.00	\$15,860.00 \$5,980.00	61.00 52.00
755M02.23	3/4" SERVICE CONNECTIONS	EACH	STATE 2	\$115.00 \$395.00	\$5,980.00 \$21,725.00	52.00 55.00
755M02.24	3/4" SERVICE RECONN. & RELOC.	EACH	STATE 2	\$395.00 \$300.00	\$21,725.00 \$16,500.00	55.00 55.00
755M02.25	3/4" SEV. LN. MAIN TO METER TO RECO	m	STATE 2	\$300.00 \$26.30	\$16,500.00 \$59,175.00	55.00 2250.00
755M02.26	2" SERVICE TAP WITH SLEEVE	EACH	STATE 2	\$26.30 \$450.00	\$59,175.00 \$1,800.00	2250.00
755M02.27	MECH. JOINT CAST IRON FITTINGS	kg	STATE 2 STATE	\$450.00 \$5.15 \$5.15	\$1,800.00 \$30,395.30 \$30,395.30	4.00 5902.00 5902.00
755M02.28	CLASS B CONCRETE	m3	2 STATE	\$140.00 \$140.00	\$30,393.30 \$32,060.00 \$32,060.00	229.00 229.00
755M02.29	FIRE HYDRANT ASSEMBLY	EACH	2 STATE	\$2,100.00 \$2,100.00	\$14,700.00 \$14,700.00	7.00 7.00
755M02.30	RELOCATE FIRE HYDRANT ASSEMBLY	EACH	2 STATE	\$1,425.00 \$1,425.00	\$11,400.00 \$11,400.00	8.00 8.00
755M02.31	BLOW-OFF ASSEMBLY	EACH	2	\$860.00	\$12,900.00	15.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
755M02.32	AIR RELEASE VALVE ASSEMBLY	EACH	STATE 2 STATE	\$860.00 \$960.00 \$960.00	\$12,900.00 \$12,480.00 \$12,480.00	15.00 13.00 13.00
755M02.33	CRUSHED STONE	TONN	2 STATE	\$12.15 \$12.15	\$61,722.00 \$61,722.00	5080.00 5080.00
755M02.34	CONCRETE DRIVEWAY REPLACEMENT	m2	2 STATE	\$35.50 \$35.50	\$2,982.00 \$2,982.00	84.00 84.00
755M02.35	TEMPORARY PAVEMENT REPLACEMENT	m2	2 STATE	\$12.65 \$12.65	\$21,150.80 \$21,150.80	1672.00 1672.00
755M02.36	PERMANENT PAVEMENT REPLACEMENT	m2	2 STATE	\$41.60 \$41.60	\$17,388.80 \$17,388.80	418.00 418.00
755M06.40	RELOCATE EXISTING 4" BACKFLOW PREVE	LS	3 STATE	\$2,060.00 \$2,060.00	\$4,120.00 \$4,120.00	2.00
755M06.41	300mm DIP CLASS 52 WATER, INSIDE RW	m	3 STATE	\$146.00 \$146.00	\$182,762.80 \$182,762.80	1251.80 1251.80
755M06.42	200mm DIP, CLASS 52 WATER, INSIDE R	m	3 STATE	\$113.00 \$113.00	\$2,712.00 \$2,712.00	24.00 24.00
755M06.43	200mm DIP ,CLASS 52 WATER, OUTSIDE	m	3 STATE	\$96.00 \$96.00	\$11,894.40 \$11,894.40	123.90 123.90
755M06.44	200mm DIP, CLASS 52 WATER, INSIDE R	m	3 STATE	\$113.00 \$113.00	\$3,435.20 \$3,435.20	30.40 30.40
755M06.45	80mm DIP, CLASS 52 WATER, INSIDE RD	m	3 STATE	\$120.00 \$120.00	\$120.00 \$120.00	1.00 1.00
755M06.46	300mm RESILIENT SEAT GATE VALVE, W/B	EACH	3 STATE	\$1,470.00 \$1,470.00	\$4,410.00 \$4,410.00	3.00 3.00
755M06.47	200mm RESILIENT SEAT GATE VALVE, W/B	EACH	3 STATE	\$930.00 \$930.00	\$930.00 \$930.00	1.00 1.00
755M06.48	150mm RESILIENT SEAT GATE VALVE, W/B	EACH	3 STATE	\$736.00 \$736.00	\$2,944.00 \$2,944.00	4.00 4.00
755M06.49	DUCTILE IRON FITTINGS	kg	3 STATE	\$4.38 \$4.38	\$28,908.00 \$28,908.00	6600.00 6600.00
755M06.50	FIRE HYDRANT ASSEMBLY	EACH	3 STATE	\$1,550.00 \$1,550.00	\$4,650.00 \$4,650.00	3.00 3.00
755M06.51	FIRE HYDRANT ABANDONMENT	EACH	3 STATE	\$260.00 \$260.00	\$780.00 \$780.00	3.00
755M06.52	EXISTING FIRE HYDRANT ADJUSTMENT	EACH	3 STATE	\$515.00 \$515.00	\$1,030.00 \$1,030.00	2.00
755M06.53	NEW TAPS AND CONNECTIONS	EACH	3 STATE	\$295.00 \$295.00	\$1,770.00 \$1,770.00	6.00
755M06.54	19mm COPPER SERVICE LINE	m	3 STATE	\$20.60 \$20.60	\$1,648.00 \$1,648.00	80.00 80.00
755M06.55	RELOC. EXIST.MTR TO PROPOSED MTR BO	EACH	3 STATE	\$415.00 \$415.00	\$2,490.00 \$2,490.00	6.00 6.00
755M06.56	WATER METER BOX	EACH	3 STATE	\$310.00 \$310.00	\$1,860.00 \$1,860.00	6.00 6.00
755M06.57	WATER METER CASTING ADJUST.TO GRADE	EACH	3 STATE	\$105.00 \$105.00	\$630.00 \$630.00	6.00 6.00
755M06.58	600mm STEEL CASING PIPE	m	3	\$1,120.00	\$28,000.00	25.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
			_			-
755406 50	200 DTD /GLAGG FO\ GENED DTDE ON		STATE	\$1,120.00	\$28,000.00	25.00
755M06.59	300mm DIP (CLASS 52) SEWER PIPE, OU	m	3	\$415.00	\$1,660.00	4.00
755M06.60	200mm DIP (CLASS 52) SEWER PIPE, IN	m	STATE 3	\$415.00 \$170.00	\$1,660.00 \$9,129.00	4.00 53.70
755M00.00	ZUUMM DIP (CLASS 52) SEWER PIPE, IN	m	STATE	\$170.00	\$9,129.00	53.70
755M06.61	200mm DIP (CLASS 52) SEWER PIPE, OU	m	3	\$170.00	\$15,811.20	129.60
7551100.01	ZOUMM DII (CLADO 32) DEWER IIIE, OO	111	STATE	\$122.00	\$15,811.20	129.60
755M06.62	200mm PVC (SDR-32) SEWER PIPE, IN.R	m	3	\$113.00	\$15,594.00	138.00
			STATE	\$113.00	\$15,594.00	138.00
755M06.63	200mm PVC (SDR-32) SEWER PIPE, OUT	m	3	\$113.00	\$14,215.40	125.80
			STATE	\$113.00	\$14,215.40	125.80
755M06.64	150mm DIP (CLASS 52) SEWER PIPE, OU	m	3	\$180.00	\$540.00	3.00
			STATE	\$180.00	\$540.00	3.00
755M06.65	150mm PVC (SDR-32) SEWER PIPE, OUT	m	3	\$165.00	\$1,485.00	9.00
			STATE	\$165.00	\$1,485.00	9.00
755M06.66	MANHOLES, 0 - 2m IN DEPTH W/BASES	EACH	3	\$1,670.00	\$15,030.00	9.00
			STATE	\$1,670.00	\$15,030.00	9.00
755M06.67	STANDARD CAST IRON MANHOLE FRAME &	EACH	3	\$232.00	\$2,088.00	9.00
755406 60	MANUAL EL DOOD ACCOMPLY	E 2 CI I	STATE	\$232.00	\$2,088.00	9.00
755M06.68	MANHOLE DROP ASSEMBLY	EACH	3	\$770.00	\$1,540.00 \$1,540.00	2.00 2.00
755M06.69	VERT. METER OF ADD. MH SIDEWALL 1.2	VM	STATE 3	\$770.00 \$155.00	\$1,540.00	4.60
755M00.09	VERI. METER OF ADD. MR SIDEWALL 1.2	V IvI	STATE	\$155.00	\$713.00	4.60
755M06.70	CONNECTION TO EXISTING MANHOLE	EACH	3	\$515.00	\$515.00	1.00
7551100.70	COMMETION TO EXISTENCE PREMIORE	шисп	STATE	\$515.00	\$515.00	1.00
755M06.71	200x150mm D.I.P. PLUGGED TEE CONNEC	EACH	3	\$360.00	\$360.00	1.00
			STATE	\$360.00	\$360.00	1.00
755M06.72	200x150mm P.V.C. PLUGGED TEE CONNEC	EACH	3	\$52.00	\$156.00	3.00
			STATE	\$52.00	\$156.00	3.00
755M06.73	ASPHALT DRIVEWAY REPLACEMENT	m2	3	\$26.50	\$3,678.20	138.80
			STATE	\$26.50	\$3,678.20	138.80
755M06.74	CONCRETE CURB REPLACEMENT	m	3	\$220.00	\$660.00	3.00
			STATE	\$220.00	\$660.00	3.00
755M06.75	200mm DIP (CL 52) SEWER PIPE, IN RD	m	3	\$308.00	\$4,620.00	15.00
755M06 76	MILIC O 2 TN DEDELL W/DAGEC 1 2	E A CIT	STATE	\$308.00	\$4,620.00	15.00
755M06.76	MH'S, 0 - 2m IN DEPTH W/BASES, 1.2m	EACH	3 STATE	\$1,430.00	\$1,430.00	1.00 1.00
755M06.77	STANDARD CAST IRON MANHOLE FRAME &	EACH	SIAIE 3	\$1,430.00 \$346.00	\$1,430.00 \$346.00	1.00
7551100.77	STANDARD CAST IRON MANIFOLE FRAME &	EACH	STATE	\$346.00	\$346.00	1.00
755M06.78	VERTICAL METER ADDIT. MH SIDEWALL,	VM	3	\$311.50	\$155.75	0.50
, 5511001, 76	(EN1101E 11E1E1 11EE11 11EE1,	***	STATE	\$311.50	\$155.75	0.50
755M06.79	CONNECTION TO EXISTING MANHOLE	EACH	3	\$1,990.00	\$1,990.00	1.00
			STATE	\$1,990.00	\$1,990.00	1.00
755M06.80	EXIST. MH CASTING ADJUST.(SEE MWS N	EACH	3	\$420.00	\$420.00	1.00
			STATE	\$420.00	\$420.00	1.00
755M06.81	EXIST. MH ADJUSTMENT (SEE MWS NOTE)	EACH	3	\$475.00	\$950.00	2.00
			STATE	\$475.00	\$950.00	2.00
755M06.82	SEWER CLEAN-OUT ASSEMBLY ABANDONMEN	EACH	3	\$160.00	\$160.00	1.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
			STATE	\$160.00	\$160.00	1.00
755M06.83	SEWER CLEAN-OUT CASTING ADJUSTMENT	EACH	3	\$235.00	\$705.00	3.00
			STATE	\$235.00	\$705.00	3.00
755M06.84	600mm DIP WATER, CLASS 52, IN RDWY	m	3	\$299.50	\$57,623.80	192.40
755406 05	200 DID WARED OLAGO FO IN DWDY		STATE	\$299.50	\$57,623.80	192.40
755M06.85	300mm DIP WATER, CLASS 52 IN RWDY	m	3 STATE	\$224.50 \$224.50	\$6,128.85 \$6,128.85	27.30 27.30
755M06.86	150mm DIP WATER, CLASS 52, IN RDWY	m	3	\$161.00	\$12,880.00	80.00
7331100:00	130mm bil Willin, Child 32, IN RbWi	111	STATE	\$161.00	\$12,880.00	80.00
755M06.87	50mm DIP WATER, CLASS 52, IN RDWY	m	3	\$104.00	\$416.00	4.00
	,		STATE	\$104.00	\$416.00	4.00
755M06.88	600mm HORIZ. SEAT GATE VALVE W/STEM	EACH	3	\$13,100.00	\$26,200.00	2.00
			STATE	\$13,100.00	\$26,200.00	2.00
755M06.89	900 x 600mm TAPPING SLEEVE AND VALV	EACH	3	\$33,600.00	\$33,600.00	1.00
=======================================			STATE	\$33,600.00	\$33,600.00	1.00
755M06.90	300mm RESILIENT SEAT GATE VALVE W/B	EACH	3	\$1,840.00	\$3,680.00	2.00
755M06.91	300 x 300mm TAPPING SLEEVE NAD VALV	EACH	STATE 3	\$1,840.00 \$4,580.00	\$3,680.00	2.00 2.00
/33M00.91	300 X 3000000 TAPPING SLEEVE NAD VALV	LACI	STATE	\$4,580.00	\$9,160.00 \$9,160.00	2.00
755M06.92	150mm RESILIENT SEAT GATE VALVE W/B	EACH	3	\$910.00	\$2,730.00	3.00
7331100.72	130mm REGIETHVI DEHI GITTE VILEVE M/B	211011	STATE	\$910.00	\$2,730.00	3.00
755M06.93	CUT-IN 150mm RESILIENT SEAT GATE VA	EACH	3	\$1,590.00	\$1,590.00	1.00
			STATE	\$1,590.00	\$1,590.00	1.00
755M06.94	200 $ imes$ 150mm TAPPING SLEEVE AND VALV	EACH	3	\$2,410.00	\$2,410.00	1.00
			STATE	\$2,410.00	\$2,410.00	1.00
755M06.95	DUCTILE IRON FITTINGS	kg	3	\$4.75	\$8,312.50	1750.00
FF-1106 06			STATE	\$4.75	\$8,312.50	1750.00
755M06.96	PROPOSED FIRE HYDRANT ASSEMBLY	EACH	3	\$2,270.00	\$4,540.00	2.00
755M06.97	NEW TAPS AND CONNECTIONS	EACH	STATE 3	\$2,270.00 \$355.00	\$4,540.00 \$6,035.00	2.00 17.00
733M00.97	NEW TAPS AND CONNECTIONS	EACH	STATE	\$355.00	\$6,035.00	17.00
755M06.98	25mm COPPER SERVICE AND TIE TO METE	LS	3	\$1,040.00	\$1,040.00	1.00
			STATE	\$1,040.00	\$1,040.00	1.00
755M06.99	RELOCATE EXIST METER TO PROP. METER	EACH	3	\$420.00	\$6,720.00	16.00
			STATE	\$420.00	\$6,720.00	16.00
755M07.01	WATER VALVE CASTING ADJUST. TO PROP	EACH	3	\$300.00	\$1,800.00	6.00
			STATE	\$300.00	\$1,800.00	6.00
755M07.02	ABANDON EXISTING WATER METER AND BO	EACH	3	\$125.00	\$1,000.00	8.00
7FFM07 02	CUITE AND DILIC EVICETNIC COO MARRID M	TIA CIT	STATE	\$125.00	\$1,000.00	8.00
755M07.03	CUT AND PLUG EXISTING 200mm WATER M	EACH	3 STATE	\$885.00 \$885.00	\$885.00 \$885.00	1.00 1.00
755M07.04	CUT AND PLUG EXISTING 150mm WATER M	EACH	3	\$885.00	\$1,770.00	2.00
7331107.01	COT TEND I DOO ENIDIING I JOHN WITHIN IT	шисп	STATE	\$885.00	\$1,770.00	2.00
755M07.05	EXISTING WATER METER CASTING ADJUST	EACH	3	\$430.00	\$2,580.00	6.00
			STATE	\$430.00	\$2,580.00	6.00
801M01	SEEDING (WITH MULCH)	UNIT	1	\$18.81	\$53,168.20	2827.00
			2	\$18.33	\$53,757.25	2932.00
			3	\$16.85	\$13,228.14	785.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
	-		_			
			4	\$18.02	\$113,775.40	6314.00
			STATE	\$18.19	\$233,928.99	12858.00
801M01.02	CROWN VETCH MIXTURE (WITH MULCH)	UNIT	1	\$19.39	\$19,390.00	1000.00
			3	\$18.99	\$1,310.53	69.00
			STATE	\$19.36	\$20,700.53	1069.00
801M01.07	TEMPORARY SEEDING (WITH MULCH)	UNIT	1	\$14.59	\$26,895.40	1843.00
			2	\$14.52	\$10,670.00	735.00
			3	\$32.74	\$1,669.70	51.00
			4	\$15.17	\$5,505.00	363.00
			STATE	\$14.95	\$44,740.10	2992.00
801M02	SEEDING (WITHOUT MULCH)	UNIT	1	\$12.29	\$12,012.00	977.00
			2	\$7.19	\$7,260.00	1010.00
			3	\$13.39	\$482.04	36.00
			4	\$9.00	\$8,775.00	975.00
			STATE	\$9.52	\$28,529.04	2998.00
801M02.01	CROWN VETCH MIXTURE (WITHOUT MULCH)	UNIT	1	\$16.81	\$60,446.30	3595.00
			2	\$11.26	\$19,002.00	1688.00
			3	\$12.73	\$4,901.16	385.00
			STATE	\$14.88	\$84,349.46	5668.00
801M02.08	TEMPORARY SEEDING (WITHOUT MULCH)	UNIT	1	\$28.00	\$1,764.00	63.00
			3	\$12.36	\$123.60	10.00
			STATE	\$25.86	\$1,887.60	73.00
801M03	WATER (SEEDING & SODDING)	m3	1	\$4.08	\$25,430.20	6229.00
			2	\$0.32	\$1,197.15	3709.00
			3	\$1.27	\$2,865.86	2257.00
			4	\$1.08	\$4,283.00	3979.00
			STATE	\$2.09	\$33,776.21	16174.00
801M07	SEED (SUPPLEMENTAL APPLICATION)	kg	1	\$2.63	\$894.00	340.00
			2	\$2.00	\$68.00	34.00
			3	\$1.22	\$142.74	117.00
			4	\$1.92	\$1,276.00	664.00
			STATE	\$2.06	\$2,380.74	1155.00
801M07.01	CROWN VETCH SEED (SUPPLEMENTAL APPL	kg	1	\$12.13	\$4,901.00	404.00
			3	\$13.20	\$105.60	8.00
			STATE	\$12.15	\$5,006.60	412.00
801M08	FERTILIZER (SUPPLEMENTAL APPLICATIO	TONN	1	\$192.50	\$1,540.00	8.00
			2	\$150.00	\$150.00	1.00
			3	\$135.31	\$405.94	3.00
			4	\$230.00	\$2,300.00	10.00
			STATE	\$199.82	\$4,395.94	22.00
802M01.01	QUERCUS PALUSTRIS(37.5mm - 50mm CAL	EACH	4	\$70.00	\$3,570.00	51.00
			STATE	\$70.00	\$3,570.00	51.00
802M01.02	LIRIODENDRON TULIPI(37.5mm-50mm CAL	EACH	2	\$60.00	\$60.00	1.00
			4	\$70.00	\$3,570.00	51.00
			STATE	\$69.81	\$3,630.00	52.00
802M01.03	CERCIS CARADERSIS(37.5mm-50mm CAL.	EACH	2	\$60.00	\$60.00	1.00
			4	\$70.00	\$3,570.00	51.00
			STATE	\$69.81	\$3,630.00	52.00

Item Number	Description	Unit of Measure	Region	Average Unit Price	Total Cost	Total Quantity
802M01.04	ACER RUBRUM(37.5mm - 50mm CAL. B&B)	EACH	1	\$66.00	\$10,824.00	164.00
002M01.04	ACER RUBRUM(37.5111111 - 50111111 CAL. B&B)	LACI	2	\$60.00	\$10,824.00	2.00
			4	\$70.00	\$3,570.00	51.00
			STATE	\$66.88	\$14,514.00	217.00
802M01.05	BETULA NEGRA(37.5mm" - 50mm CAL. B&	EACH	4	\$66.14	\$14,815.00	224.00
0021101.03	DETOERT REGISTRATION SOMME CITE. Du	211011	STATE	\$66.14	\$14,815.00	224.00
802M01.07	LIQUIDAMBER STYRACIFLUA(37.5-50mm C	EACH	4	\$65.00	\$11,245.00	173.00
	~		STATE	\$65.00	\$11,245.00	173.00
802M01.08	PLATANUS OCCIDENTALIS(37.5mm-50mm C	EACH	2	\$60.00	\$60.00	1.00
			4	\$65.00	\$11,245.00	173.00
			STATE	\$64.97	\$11,305.00	174.00
802M01.09	QUERCUS PHELLOS(37.5mm-50mm CAL B&B	EACH	4	\$65.00	\$11,245.00	173.00
			STATE	\$65.00	\$11,245.00	173.00
802M01.10	TREES	EACH	1	\$56.96	\$14,639.00	257.00
			3	\$51.48	\$3,500.64	68.00
			4	\$65.00	\$11,245.00	173.00
00001 11			STATE	\$59.01	\$29,384.64	498.00
802M01.11	TREES	EACH	1	\$57.09	\$14,614.00	256.00
			3	\$51.48	\$3,552.12	69.00
0.000401 1.0	mp.n.n.a	T 2 CI I	STATE	\$55.90	\$18,166.12	325.00
802M01.12	TREES	EACH	1 3	\$57.34 \$51.48	\$14,564.00 \$3,500.64	254.00
			3 STATE	\$51.48 \$56.10	\$3,500.64	68.00 322.00
802M01.13	TREES	EACH	1	\$57.34	\$14,564.00	254.00
002M01.13	IKEES	EACH	3	\$57.34	\$3,552.12	69.00
			STATE	\$56.09	\$18,116.12	323.00
802M01.14	TREES	EACH	1	\$41.74	\$3,715.00	89.00
0021101.11	11000	211011	3	\$51.48	\$3,552.12	69.00
			STATE	\$45.99	\$7,267.12	158.00
802M01.15	TREES	EACH	3	\$51.48	\$3,346.20	65.00
			STATE	\$51.48	\$3,346.20	65.00
802M01.16	TREES	EACH	3	\$51.48	\$3,294.72	64.00
			STATE	\$51.48	\$3,294.72	64.00
802M01.17	TREES	EACH	3	\$51.48	\$3,346.20	65.00
			STATE	\$51.48	\$3,346.20	65.00
802M02.01	SEEDLINGS	EACH	3	\$4.00	\$152.00	38.00
			STATE	\$4.00	\$152.00	38.00
802M02.02	SEEDLINGS	EACH	3	\$4.00	\$152.00	38.00
0.000.0			STATE	\$4.00	\$152.00	38.00
802M02.03	SEEDLINGS	EACH	3	\$4.00	\$152.00	38.00
0001400 04	GEEDI TNOG	E A CIT	STATE	\$4.00	\$152.00	38.00
802M02.04	SEEDLINGS	EACH	3	\$4.00 \$4.00	\$152.00	38.00 38.00
802M02.05	SEEDLINGS	EACH	STATE 3	\$4.00	\$152.00 \$152.00	38.00
002M02.03	ORENTINGO	EACH	STATE	\$4.00	\$152.00	38.00
803M01	SODDING (NEW SOD)	m2	1	\$2.33	\$288,837.97	123893.00
5051101	2022110 (11211 202)		2	\$2.18	\$148,377.10	68199.00
			3	\$2.18	\$219,471.85	100616.00
				•		

Item		Unit of		Average	Total	Total
Number	Description	Measure	Region	Unit Price	Cost	Quantity
			4	\$2.04	\$126,456.85	62033.00
			STATE	\$2.21	\$783,143.77	354741.00
805M10.03	REINFORCED SOIL SLOPE SYSTEM	m2	1	\$180.00	\$315,720.00	1754.00
			STATE	\$180.00	\$315,720.00	1754.00
805M12.01	EROSION CONTROL BLANKET (TYPE I)	m2	1	\$1.01	\$83,548.00	82648.00
			STATE	\$1.01	\$83,548.00	82648.00
805M12.02	EROSION CONTROL BLANKET (TYPE II)	m2	1	\$1.11	\$93,018.90	83518.00
			2	\$1.10	\$12,116.50	11015.00
			3	\$1.06	\$31,972.78	30226.00
			4	\$1.09	\$177,376.94	162432.00
			STATE	\$1.10	\$314,485.12	287191.00
805M12.03	EROSION CONTROL BLANKET (TYPE III)	m2	1	\$1.55	\$288,532.50	186150.00
			2	\$1.15	\$92,000.00	80000.00
			3	\$1.50	\$14,250.00	9500.00
			STATE	\$1.43	\$394,782.50	275650.00
805M12.04	EROSION CONTROL BLANKET (TYPE IV)	m2	4	\$1.50	\$960.00	640.00
			STATE	\$1.50	\$960.00	640.00
805M13.04	FLEXIBLE CHANNEL LINER (CLASS IV)	m2	2	\$6.00	\$15,414.00	2569.00
			STATE	\$6.00	\$15,414.00	2569.00
908M21.01	BEARINGS	EACH	3	\$3,791.12	\$45,493.44	12.00
			4	\$3,500.00	\$84,000.00	24.00
			STATE	\$3,597.04	\$129,493.44	36.00
908M21.02	BEARINGS	EACH	3	\$659.88	\$1,319.76	2.00
			STATE	\$659.88	\$1,319.76	2.00
908M21.03	BEARINGS	EACH	3	\$4,679.60	\$23,398.00	5.00
			STATE	\$4,679.60	\$23,398.00	5.00
908M21.04	BEARINGS	EACH	3	\$2,415.59	\$60,389.75	25.00
			STATE	\$2,415.59	\$60,389.75	25.00
908M21.05	BEARINGS	EACH	3	\$4,376.05	\$161,913.85	37.00
			STATE	\$4,376.05	\$161,913.85	37.00
908M21.07	BEARINGS	EACH	3	\$2,542.07	\$22,878.63	9.00
			STATE	\$2,542.07	\$22,878.63	9.00
908M21.08	BEARINGS	EACH	3	\$4,818.73	\$81,918.41	17.00
			STATE	\$4,818.73	\$81,918.41	17.00
908M21.09	BEARINGS	EACH	3	\$4,818.73	\$24,093.65	5.00
			STATE	\$4,818.73	\$24,093.65	5.00
908M21.10	BEARINGS	EACH	3	\$4,818.73	\$24,093.65	5.00
		_	STATE	\$4,818.73	\$24,093.65	5.00
920M02.08	BRICK PAVING	m2	3	\$156.00	\$13,260.00	85.00
			STATE	\$156.00	\$13,260.00	85.00